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Armenian Theory Of Special Relativity

( One Dimensional Free Movement)
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Haik Nazaryan

This book was dedjcated to the 20th anniversary
of the liberation of the Armenian legendary city of Shushi

Abstract

By using the principle of relativity (first postulate), together with new defined nature of the universal speed (our
second postulate) and homogeneity of time-space (our third postulate), we derive the most general transformation
equation of relativity in one dimensional space. According to our new second postulate, the universal (not limited)
speed C in Armenian Theory of Special Relativity is not the actual speed of light but it is the speed of time which
is the same in all inertial systems. Our third postulate - the homogeneity of time-space is necessary to furnish
linear transformation equations. We also state that there is no need to postulate the isotropy of space. Our book
is the accumulation of all efforts from physicists to fix the Lorentz transformation equations and build correct and
more general transformation equations of relativity which obey the rules of logic and fundamental group laws,
without internal philosophical and physical inconsistencies.
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Gpbl nnip fupuin gubympini G nibbp dequnpbine hls np JGGhG,
wuww Uh dbqunpbp Jbq, wy dhnungmulp hupnugbp dwpbdwmplwipl:
Ulilp G funubGuwlGepd LGp dhuwyG:

«Uhwswth Gnjtiph Qwpwpbpuwl Swpdiwl Stunipnil - Uquun Swpdnud» ghppp hwlnhuwnd b dtp hhdGupwn
Quyyuywb Stunpjnil» wptuwwumnipyuwl shwyl dty tipwpwdhlp: Uju tGpwpwdhlp wnwldGugltiny hhdGuywa
wpfuwwnnipjnilhg L Yyipwhidpwgnptnyg npybu wnwGahG hGpGnipnyy G ghpp, dklp GyhptighGp wjl dtp wnwuwybjulywd
Cnihh wquuwgpiwG 20 wijwyha:

Uju qppmud, nputiu Gnp hinuihnfuwlw6 dnntignud, dklp Ghiplujwuglnd tlp dhwswith hghjuljul nmwpwonpjulb
b9 hwpwpbpwwb pupddiwl dlwhnfunipjwG hwjwuwpndGbph wpnmwodwl <wjjuywl nwpptipuyp: Lwyjuluwl
hwpwptpwlwlnpjuwl hwwnnty mbunipjwl junnigiwl hwdwn dklp ntyuwyunpyt) tlp thwjG witGwplinhwlngn
npwiwpwiwful dnmwonnmpjudp L dwptdwmhjulwl hwujugnnnpyniGitpny, wnwlg vwhiwGwthwliw:

Uju gqppnid dkilp thnpdtby Glp hwdwhudpt) b ninnnpibp popnp w6 ghnGuyuGibph pwlptpp b juguwagneyb
wpnyniGpGhpp, npnlp dnwn hwpjnip mwph, mwppbp SwlwwwphGipny, thnpdb G6 pnpwitht] dhq upununpuo Yuno
ghunuluG wyfuwphwhwjugpp:[1], (2], [31,[41,[6]

Uh yuplnp hwGqudwlp Lo’ {wjjulwl Stunipjul wpwhtnny pwupdytint hwiwp wlhpwdbyu k np dtGp 1hndhG
pnpwthtilip dtip ghnwygnipyniln futinnn quuuwwhyp b niGhGwlp pupnjuyuiwihl hbnlyw) bpip hwnynipjmGGatpp:
Utilip wwpuwynp GGp (hGk Uph, wwpwmunp Glp 1hat UqGhy b Jipgwuybu wlhpwdbtyw £ np dblp (hatlp Uayhno:

Uju gppmud ukilp wylpwl hwlquiwlnpbb Glp pwpwnpb) <wjjulyul hwpwptpuluwlnpjul hwnmly wbunipjul
(inp qunuthwpGlipp b dwlpwdiwul wpnwot) pninp pwlGwdélbpn, np wyl wyth Jwn quuwghpp L pwl ph ghnwwG
wpfuwwnnipjniG: Utlp gwGlugt) bip wnuytjugny)Gu nynipuglb] pwlGuwdlbph wpmwondp, nputiugh pGpingnnp hp
niyunpmipjnilp wytith puwn pltinh hhdGwlw6 qunuthwpbtph L Gnp dnnbgnuiGhph Ypu:

Ujuntin nup Yhwlnhwybtp qupiwlwhpw) Gnp qunuthwplbiph L hwnjuwtu wjGuhuh sGwpfuwphply pwGwalbph,
np Uptuwphp ntin sh wmbtiub: GpwGh” dtp wspbphG np nnip wnwehGh tp pdpntuGhint wyu YaGwpwp jnyup:
Oquuqnpotp dtip nne tplwwynipynilp, npuytugh wwwnybpuglhp pt h°6s Gnp qunuthwpltph L glintighly pwGwdlbph
nnip Jhwlnhwtp, tpp dtlp hpwwwpwbGp dbtp « Gruwsw Qnjbph <uglwiwl <wpuwpbpulwlnppul Caphwlng
Stunmpnil » wluwmmp)niGp:

Utip hnpnnpG £ pGptingnnGphG, npwbugh nmp sypyGep Guiunpn hghynulbnh ufuwip b sthnpdbp hwwdhy
Junnigh] wphtunmwlwl pwlwdlbp tpwywth mwpuwonpjul hwiwp, oqunugnpotiny thwswth mwpwontpyub hwdwp
dtp wpnwowod pwlwalbinp: Spudiwpwlnpjub optipp wynutiu sh wpfuwmnid: Nwpquytiv wipnnenipjudp
Jnipugntip wyu qhppp L ugquubip dkip hwonpn hpwwwpwynuiGphG: bul wGhwdptp pGptipgnnGtph hwdwp
(hubpuo 2)-nud, hwdbGuy6 nhwu, dhGp npudwnnpty Gip pujuiwl pwwn L wpdtpwynp pwlwdlbp dtp hwenpn'
«Qujuiul {wpwptpwlwinipjul UtipwGhwyh Stunipjnil» qpphg:

Juwjjuyul dbwthnfunipjul hwjwuwpmdGph vt Gnp Ghpdindywd gnpowyhgliph hwdwp «S L «Q»
nwnw)wlitph pGupnipyniip wwunwhwlwlinpjwl wprygnilp sk, wyp wyl yulGuwdnwoqwo pwy t: Apnghtunb
{wjjuwiwl wbumpjub vk S qnpowyhgp plnipwgpnid b dwdwlwly-nwpwdmpjub GipphG nignnpnywonipyniln (spin),
huy g gnpowlhgp nw GnyyGwtu dwdwlwyh b mwpwompjwl tpypwswthnipynilp pnpwqgnpnn WkY wyp honpymGa k
(metric):

JdbpnGjw) S L g gqnpowlhgltipny pGnipugpynn nmwpwonipjnilp dklp wijuind tlp <wujjuiul Swpwonipjni(:

Yuipnn E Gub hwpg wnwewGwy pb hGyn®t tGp dklp dtp Gnp unwgwd hwpwpbpuuwlnpjul ntunpjul
dluwthnfunipjuG hwjwuwpnidGhpp Ynymd - «wjuyul uuithnjunipjwl Lwjwuwpniilbpy: Nwunwufuwbp Jwwn
wupq b Uju ghnnwub wyfuwwnmpiniGp gpyty £ {wjbiptG, juumwpyt E <wj ghnGuywih Ynnihg 1968 pyulwbhg
uljuwd, npp wwppbip pGniheniiGhnny wbby £ dnn 40 mwph L ghin JupmGuyymd t: Uju hbnmwgnunmpyniGp gnun
Luyyuyub Jwnph wpquuhpl t L npp pindGuynpyty £ UpnpnhGhph Uppuqui {wgptiGhpmd’ {wjwunwind:
Ltnlwpuwp GGp 1phy pwpnyuul hpwyniGp niGhGp wju Gnp wpnmwdoywd dLhwhnfunipjuwl hwjwuwpmdGhpnp Yngbnt*
hwpwptpuwywinpjwl mbtumpjul Lwujjuiul uuihnfunipjul Lujwuwpnilbp, hul wbunpniGp’ Lwjjulywl
Lwpwpbpuwywinipjul SkunipjniG:

Utggt’ UpnphGbph {wypbGhp {wjwuwnmwlp
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1 - Uhwgswih Qnjtiph Lwpuptpuui Cwpdiwl Liwpuwgpnuin

Qwuwlyuwl dtpwlhywihg hwjnbh £ np shwgwih Gnjtiph hwpwpbpwlwl pwpdiwb G-wihitjwl ninhn L hwjwngupa
dLwthnfunipjul hwywuwpnuiGhpp nGkG htnlywy wmbupp.

Minhn dLwthnfunipyniGGtip Juwjuwnund dlwhnfumpnGGtp

t=t . t=1t 1-u
X =x-wt X=X -Vt =x +wt

(1-U)-nd mpJwo Guhtjul dLwthnfunipjuwl hwjwuwpniiGtphg htimbmd £ np dwdwlwlyp niGh pugupdwly
plnyyp L yuwhugwo sk ng hGipghw) hwiwlwpqbtph hpwp Gumdwdp niGiguo hwpwpbpuluwl wpugnipyniGhg b ny by
nwpwowlul wnwigpwpytinhg: Ujuhlpl dwdwlwyp b mwpwontpynilp hpwnphg wiwiun pnyph Shghuywb
tiplnyypltip GG:

Puyg LoptiGgh hwpwpbpwwlnpjul mbunipjniip pwlntg dwdwlwyh pnyph dwuhl dbp niGigud wju

Jupopugwd wquumybpugnibtpp L wyugnighg, np dwdwlwlp L mwpwonipjnilp ny pt hpwphg wiljwfu, muppbp
pGnyyph $hahulwb tplnypltp GG, w) ngpubp Jwunuuyuo GG hpwp htin L hwlnhuwlmd GG Ay hghulub
tintnyph wmwpptip Ynndtpp: <tnlwpwp dwdwGuyp snilGh pugupdwly pnyp L dwiwGwuwnwpwonipjub
dLwthnfuntpjul hwjwuwpnuiGlph v dwdwbwyp Yuhujuo whtwp k 1hGh Gul mwpwowlw wewlgpwpyhg, hGsubu
Gwl wyl yuhijwo whtwp t 1hGh tpynt hGipghw hwiwwpqbiph hwpwpbpuyw wpuwgnipynilGhg:

Uju qppmd dtilp YthnpdtiGp dh pwlh puy wnwe wlglky Lnptiligh hwpwptpuywlnpjul ntunipynilhg L
Jupuwotlp hwpwpbpwuwimpjul hwnnyy nbunpjul <wjjuiui dlhwthnumpyjul hwjwuwpndGpp'
wikfwdqphn hwjwuwpnuiGtinp, thwgwth Shghuyul mwpwontpjub hwdwp, nhjujwunpytiny thw)t
npwiwpwlnpjub opklpGtnny:

Jwjjuiwl hwpwpbpuywinpjul hwnnty mbunipjul dLwthnunipjwl wikGuwdqphn hwjwuwpniGhpp
wnpunwobine hwdwp dklp oquytiynt tlip hwpwpbpwlwb pwupddwl vkp htnmbyw) tptip hhuGunpnypltphg.

1. LPlnipjul bplhnyplhpn L phqhlugh opblplhpn pnnp hGbpghuy hwdwlpupgbpmd imup hudwpdbp GG,
wyuplipl wyn GplnyplGhnpp L opblpGhpp Ghwpwgnydmd &G dhllng 6 wpbduwmpliulul pnilighubbpng:

2. Lnynp hlbpghwy hwdwlwpgbpnid, wiywnd Gnjbph hwdwp, dwdwbwlnp pwupdymd k -
upllny G mpbqbpwlwl hwvmnwmm 0 wpwqmpwdp, npp L dGlp jwlwlblp C uwnny:

3. Pmnp plbpghuy hwdwlwpgbpmy dwdwGwp L vnopudmpymGp hudwobn BG (hwmnily imbumpiniG):

Jwjjuywl hwpwpbpuyuinpjul mtunipjub (1 - 2)-nd npdwo hhiGunpnypGtipp Juwwn skG mwppbpynid
wywlnuywl Loptlgyjwl hwpwpbpuwwlnipjul mtunipjul hhiGunpnypltphg: {wjjuiul {wpwpbpulwlnpjub
Stunipjwl wnweohG hhiGwnpnypp hwiwpjw hwdpGyGnud & LoptiGgh hwpwptpwlwlnpjwl ntumpjwl wnwohl
hhiGwnnpniyph htin, pwjg dbp tpypnpn hhiGunpniypp popnpnyhG Gnp dGYGwpwlnipniG £ mwihu pb hGy $hghuyub
hiwuwn niGh mhbqtipwwl € wpwagnipyniln:

b mwpptipnipyniG Lnptlgh hwpwptpuwnipjuwl wmtunipjwl, npp nyuh mwpwodw tplngpn b nyyuh pupdiwG
wpwqnipjnilp pwpdpwgpty b Yninph wunmhdwGh(2],[4], dklp hwymwpwpnd Glp, np wyn whbqbpuiul hwunmwnnG
wnpwqnpyniln ny dh Juy yniGh nuyup mwpudiwl wpugnipjub htnm, wyp wyl qupquubiu dwdwlGuyh pupddwG
wnpwqmpyniGG & Shtqippnid L npp niGh GniyG wpdtpp pnnp hGipghw) hwdwlwpgbpnud: bul djniu dwpdhGGpp Yupnn
b6 pwpdyt] wyn mhiqipwlwl wpuwgnipynilGhg hGyybu nulnun GnyGybu L wpwg, juujwoe dudwiwljunupuontpjub
tpypuwywthwliul yunnigyuwophg: Rwgh npubhg dhlp wyn mhthqpuyul hwunwnnmb wpugnipjnilp Ynynd blp Gubl
Onpp L ULd wpfuwphGtipp hpup htn juwnn tqpuighG wpugnipyniG: buy dudwGuwlwnwpuowjhlG dhpwquwjph
hwdwutinnipjwl qunuthwpp dt6p plnniGh Glp npubu tppnpn hhdGunpnyyp hwpwpbpuwinpjwl hwnny
wnbtuntpjul Junnigiwl hwdwp, nph wlhpuwdb)mnipniGp Yytipuwlw hwpwptpuyuinipjub pGnhwlnp nbtunpjul
unbtinotwl dwiwlwly:

CGnqomd 1-1 - Ukp (1 - R)-ny wpyjwo hpdGunpnipGph dbe shw mwpwonpjwl hwdwnignnppywonipjul
whhpudbpunmpyn G dwuhl npll wlnpmd[1],[3]: Ublp welwfuby blp wyl, npnyhlanl hGhpghuy hwdwlupgbpn,
wiblwplnhwlnn pbuypmy, Juwpng 66 mGGEGuy Gepphl qbpuwwwmybih mgnoipiniG L npp Jwpng E punn Juplonp ghp
Gumuply hwpwpbmaulpu G pwpddwl dlauhnfunipyuwlG hujuunwpmdGeph dhe: Uy thunnnh wnluympyniGp jwywgniyGu
gnigununid b bnwswh mmupmuonipjul Ub:
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Pwgh (1- £)-ny npdwo tptip hhdGunpnyypltiphg, hwinG wuwpgnipjwl, dtGp pGnnilnud GGp Gul np pnnp
hGtpghwy hwiwywngbtipp wtwp L pujupuptl uyqplulyub Jhdwlh htnbyw) yuydwGh:

Gpp t=t =t"=.=0
Uww poynp hGbpghwy hwdwlwnpgbph ulqpiwybmbnp hwdplGynnd BG hpup hbm mwpwonipypul 0 fhnnd:

1-Q

Ujdd oquybtny (1 - £)-nd mpywd tiptp hhiGunpniyypGtiphg b (1 - G-)-nd mpdwo uyqpGuyub Jhdwlyh yuydwbhg
wpunwdtilp <wujjuyul hwpwpbpwuwlinpjul hwnny mbunipjul wikGuplnhwlngp dlwhnfunipjwl
hwjwuwpmuGtpp:

Qpw hwidwp LapwnphGp np mGhGp tpym Juiwjwliwi K' L K hGipghw) hwiwywpgqbp, nputn K’ hGipghuwy
hwdwyuwpgp K hGpghwy hwdwyuwnpgh ngpuuG X wnwlgph mnnipjudp pupdynid £ V- hwunmwnntG wpugnipjudp,
huy K hGtpghw) hwiwyupgp K' hGtpghw hwiwjwpgh Giundwidp pupdymd £ V' hwunwwnnt G wpugnipjudp:
Nputn, wikGuplnhwlnip nhypnud, hwdwdw)G (pGnqontd 1-1)-h, mwpwonipynGp hwiwmnnnpnyuo sk L himlawpwp
V' hwjwnupdé hwpwptpujwl wpugnipjul pugupdwl dEonipynilp Juwpnn & hwjwuwn 5jhGh] V mnpn

hwpwptpwlwl wpwgnipjul pugupdwly vtonipjubp: Ujuhlp6 witkGwplnhwing nhypnid dhpw £ htnlyw) winnuip.

V] # M 1-%

Wyuwhuny tpym juiwjului K' L K hibpghw) hwdwjupgbph wnwGgpwpytiph thol mnpn b hwjwnupd
dLwthnfunipyul hwjuwuwpnuiGhpp, wikGupnhwlngp ghiypmd YnGhGwl htnlgw) juojuonmpniGp.

Minhn dLbwthnfunipyniGGlp Jwlyunupéd dbwthnfunipyniGGbp
t' = t'(t,x,v) W t=tt,x,v) 1-6
X' = X'(t,X,V) X = X(t',x,V)

CGnqomd 1-2 - Eph dllip oqujlilp (1 — R)-h bppnpy hhdGuwnpnyphg, hwidwduyd nph hupwpbpulwlnpwi
hunnnly mbunipjul ke pninp hGhpghuy hwdwluwpgbpmy dwdwbwgn L nwpuwonpyniGp hudwubn &G, www hGwpunng
L wuquignigly, np (1 - 6)-ny ipyuwd hwpwpbpulw i pwupddwl wdbGuplphwlng mghy L hwliwngupd dhunpnfumpul
hwijwuwpmdGhpp, pun dwdwlwyh b nwpwompyul, nlbG Qowhl qwfujwompyma [2],[4],[6]-

‘Lwhupwl dhwywth gnjtiph dudwlwuwunwpwowihl dlwthnfunipjwl hwjwuwpndGiph wpnwodw( wiglhn
GpYujywgbtlp hGipghwy hwiwywnpgbiph npuyuwiwl mbuwyGhpp: Gpysuthwih dwdwGwunwpuonipjul vk
qnjnipjniG niGLG hGipghwy hwdwywpgbph tpynt fjumdp’ weihy hGipghwy hwdwwpgbp L
duwfuihy hGipghwy hwiwlwnpgbin: Uothy juwd dwfuhy hGhpghw hwiwwupgbpp dwdwGwjuunwpuowyul hwppnipjwl
dbko wwnwntiny tipplip hpwp htn s66G hwipGyGh: <tnlwpwp gpulp npwwutiu mwppbp hGipghw hwiwywnpgbp La:
Jdtpnhhpjwy werhYy b dwfuhy hGpghw hwiwlwpqbph nn9 wpwlaGwhwwnmpniGGtpp jugugniyGu b hwjnm Yqub
tinwywth Phghyuul mwpwonipjul Jud punwswth dudwlwjunwpuwonpjul tkg: Uhw tplswth

dudwlwjunwpuwontpjul dte hGipghwy hwdwwngtiph wpwGgpltinh nnnyuoénipjul pninp hGupwynp
wnuwppbipwlGlipp L npuyuywl mwpptipnipyniGGupn:

1. Uwwquitm werhly L wlgnupuwdbm dwiuihly hGbpghwy hwdwlwnpgbpn nipguwqoywo G minnpl

t

Unjmgunibin

{t—-—-t
X— -X

Uphly

Juwfughy

Uligjujuiitin
Qowghp 1 t

(Q-dwqhp 1)-h dtg, we Ynnih wigyupuitn dwuthly hGipghw) hwiwlywpgp wyunbing 180°-ny, w6 GhwdplyGh
dwfu Ynnuh wywquitn weihy hGtpghw) hwiwywpgh htim: {Gwmbwpwp gpulp npuyuwbu Gnyl GG:
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2. Uwuwquidbn dwfuihl L wlgpupudtm wephly iGbpghwy hudwlupgbpp mpywqdyuwd &G umnpl

Ujuguatitiun

{t—-—-t
X— +X

Quiuihly

Uihly

{t—-+t
X— -X

Ulig jupunitin
Qowghp 2 t
(Q-dwqhp 2)-h we Ynnih whgyuwpwitn weihy hGhpghw) hwiwlwpgp wuwntinyg 180°-ny, wyG fhwipGyGh dwpu
ynnuh wywqudtun dwuihy hGtpghw) hwiwwpgh htim: {tnlwpwnp ngpwlp npwlwytiu GniyG GG:

Ujuyhuny, dwiwlwlwnwpwonipjul dtg, vklp YniGhlwlp npuyjuwtu hpwphg mwpptip L hpuphg wiywhe Gplynt
hGtpghw) hwiwywpgbp' wywquitn wehy hGtpghw) hwiwjuwpg L wywquitn dwjuihy hGipghw) hwiwlwpg, L

npnlp YpGwwn dhGp JuGjubtlp' weihy L dwjuihy hGipghw) hwdwlywpgbp, hGswtu G2ywo GG unnpl.
Jwtuihy hGpghuy hwdiwyung

Uoihy hGtpghwy hwdwlwpg

Unjuguoition

Uit

Ugihy L Quufughly

0

{t—-+t
X —— =X

hGswtiu tpumd E (@owqhp 3)-hg, we Ynndh dwluihy hGhpghwy hwiwwpgp hwinhuwlimd b dwlu Ynndh

QGowghp 3

worhYy hGhpghwy hwiwwpgh mwpwowuw b hwjbkijwyhG wlnpunupnuip:

Lljwwnh niGhGwny dhwywth mwpwonipjul it npuljuwwtiu hpwnphg wwnppbp tpyne hGepghw) hwdwlwpgbph
qnjnipjul thwuwmp, wihpwdtiywn £ np dblp vwhdwblp npujuwi b puguuwlub dLwhnfunipyniGGbpp:

Uwhdwlnd 1-1
€  Qnulwl dhunhnfumpimGGhp

Ul dLhunpnfunipyniGGbpp, npnlp weophly hGhpghwy hwdwlpuwpgn pnnlmd GG wephly hlGepghuy hwdwliupg wd dwifuihly 1-9
Jhbbpghuy hwdwlwpgn pnnlnud b6 dwfuphly hGbpghwy hwdwlwnpg, d6lp QuwlyuwlGsElp pmulwl dlauthnfunipiniGG6p:

€  Pwguwuwlwl dluhnfunipini GGap

Uyl dhunpnfunipymGGbpp, npnlp wophly hGhpghuwy hwdwilpwpgn nupdinnf 66 dwfughly hGEpghuy hwdwlwnpg Jwd dwpuyhly 1E
Jhbbpghuy hwdwlupgn nupdGmd B4 wephly hlGEpghuwy hwdwlupg, dGlp Juljwlblp puguuwlul dlauinfunipimGG6p:

CGnqomd 1-3 - Upuwpunp Qnjbph hwpwpbpuliul pupddwl dhunpnfunipyuG hujwuwpnidGph wmnwodwl
plpwgpnid, dalp dfipun oquuugnpolynt blp wywqudtn worhl hGbpghwy hwdwlupgbn, bplh sh wund wy pul: buly
hlwnn dhwyl, vbp munwguo dhunpnfumppul hujuunupnidGhph dbe, dhlp joqunugnpolilp huybjughl wlnpnunupdnidn

(1.8):
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1.1 - Uhwswih Gnjtph dwudwlwuunwpwowhG Quuhnfunipjuwl <wjuwuwpnidGbpp

Lwlh np dklp plnniGnd Gap np dwdwlwyp L mwpwonipjniln hpwphg wiywfu phghjwub tplnypltp 366, wyp
nnulp pwunuuywod GG hpwp htnn b hwlnhuwlnd &6 npybtu WEY pGnyph mwpptp Ynnitpp, wyw hwdwéw)
(nGnqomy 1-2)-h, Shwswih 9njtiph (1 - 6)-nd wmpJwo hwpwpbpuwwl pupdiwl wikGupinhwing ninhn L hwunupd
dLwthnfunipjw G hwjwuwpnudGhpp whwmp b 1hGk6 qowhG b htimbwpwp npulp YmbGhGwl himlyw mbupp.

Minhn dLwthnfunipyniGGtip Juwuwnund dlwthnfumpynGGtp
t' = (Wt + B2(V)X L t= BVt + Bo(v)x’
X' = ya(V)X+y2 (Wt X = ya(V)X +ya(V)t

(1.1- 1)-ny mpywo dLwthnfudwl hwywuwpnuiGph db9 pninp wlfuwgq L juwgny qnpowlyhgGtipp yupujwo ska ny
dudwGwlhg b ng b mwpwonmpyniGhg: Uy gnpowlhglbpp ufuqwd &6 dhwyl hwiwywunwuiwd V jud vV
hwpwptpuwl wpwqmpyniGltphg L htlg dtp GuumwlG £ npnptp wyn wihwjym qnpowlhgGtpp, hGswbu Gl npnptyp
ninhn L hwwnupéd hwpwpbpwwl wpugmpniGGtph dhol tinuo Juup: Rwgh npwhg Gptlp Gwl, np (1.1- 1)-ny
upywd dluhnfumpjul hwjwuwpnuiGhph gy Ba(v), B1(v'), y1(v) L y1(V) qnpowlhglbpp swhnnuijwlnipyn G
smlhb, B2(v) L B5(V') gqnpowlhgltpp mGhl wpugnipjul hwwnupd sunhnquiulnipyniG, pul y2(v) L y5(V)
qnpowlyhgltpp niGtG wpwgnipjul swihnnujwbnipjniG:

Canqond 1-4 - Rhwlwd F blpwnply np, hwdwdw)l pwupddwl hupupbpulwinpaul bhdGuwnpngph,
(1.1- 1)-ny mpyo dpuwswh Qnpbph hwpupbmuliwl pwpdvwl mghy dhunpnfunipjul hujuwuwpnidGaph pnjnp
qnpowfhg-pnilighubbpn L huljwnupd dlaninfunipyul hwjunnupndGaph popnp hwdwyunmuofuwl gnpowlihg
Dmbhghwbbpn whnp b pGEG Gnyl pmlhghwbbpn - dhuwyl dh phypnid gpulp qufugwo whmp E jhGhG Vo g
hwpwpbpulwl wpwgnipiniGhg, pul dne pglypmd gpulp wfujwd winp FipGeG V' hwlpungupd hupupbpaulwl
wpugnipinilhg: Pwjg wyu plwlpul bGpwngpnipiniln, npp pfumd b hblg pniG hwpupbpulpuGnippuG hdGunpngphg,
Uhlp hwlqudwlnpbl Juwugnighlp (1.3) pudbnd:

(1.1- 1)-nd mpjwd gowyhl hwjwuwpnuiGiph hwiwywpgtiph npnphsGpp Guuykip dv) L d'(v)
wmwnwlywiitpny, npnlp Juiujwd b6 hwiwywnwuuwliwpuwp V L Vomighy L hwjunupé hwpupbpuuG
wnpwqmpnilGphg L npnlGg wpmwhwjnmpyniGGtpn YhGkG.

d(v) = B1(v)y1(v) - B2(V)ya(v) # O

d'(v) = Ba(v)ri(v) = Bo(V)ya(v) # 0

(1.1- 1)-ny mpywo ninpn dlunhnfunipjwl hwjwuwpnudGiph hwdwuwpgp motinyg puwn (t,X) wnwlgpwpytnh,
dtilip yunmwlwlp htnlywy dluthnfunipjwl hwjwuwpnuiGhpp.

— yl_(\/)t’ _ ﬂZ(V) X/

dv) ' dw)
_ Bav) o ya(v)
X dw T dw)

(1.1- 3)-p hwdtdwwtiny (1.1- 1)-ny npdwd hwjuwnunpd dLuwhnfumpjul hwjwuwpniGhph htn, dp Jupnn
tilp fjumquynp qnpowyhgltipp wpmwhwjnt] wifuwq qnpowyhgltpny htnlywy Yhpy.

g\ }’1(V) gl ﬂl(v)
pai(v) = T ) v1(v) = V)

iy __ﬁ2(v) Iyl __’}/Z(V)
ﬁZ(V) - d(V) 7/2(V ) - d(v)

1.11
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Liwlwybu (1.1- 1)-nd mpjwé hwjunupd duunhnfunipjul hwjuuwpndGhph hwiwupgp motny puwn (t',x)
wnwlgpwpytph, vkilp JumwGwlp htnlyw) dLbwthnfumpjul hwjwuwpniiGhpp.
v ) Bhv)
d' ) dv)
oo B )
d ) dv)

(1.1- 5)-p hwitdwwbny (1.1- 1)-ny mpjwod ninhn dLwthnfunipjul hwjwuwpnuiGhph htn, dklp Yunpnn Glap
wlfuwq qnpowyhgltinp wpmwhwjnt)] pwquynp gnpowyhgltpny htnlywy Yhpy.

_ i) _ BY)
ﬁl(v) - d,(V,) 71(V) = d,(V,)
N 1.1-6
__B) __r5(v)
ﬁZ(V) = d,(V,) y2(V) = d,(V,)

bpwp htnn hwdtdwwtiny (1.1-4)-ny L (1.1- 6)-n npJwo gnpowhgltph wpunwhwjjnnpyniGGtpp dthp
JuunwGwlp htnlbyw) wnGsnpyniGGhpp, npnlp ninnuijhnptb pfund GG qowjhG dLwthnfunpyul hwwnynipyniGGtphg.

& dv) & d'(V) mpmppsGEph hwdwp dblGp Junwbwlp htinlywy plulwG wnlsnip/nilnp
dwd'(v)=1 1.1-7

® p1 L y1 qupowlhglbph dhol. inbnh mGh htanljwy wnlsnipniln
BBV = ya(V)ra(V) 1.1-8

buy (1.1-4)-nd Jud (1.1- 6)-ny mpjwo hwjwuwpndGtph hwdwwpgtph tpypnpny hwjwuwpmdGipp
pwdwbny hpwp ypw dtlp Jumwbwlp dh wpnwhwjmnipyniG, npp b dblp YGpwlwyblip <1 wnwnwlwinyg, hGyybu
gnijg £ mpywo unnple.
! !
Ba(v) _ ﬂ/z(V,) - ¢, 1.1-9
ra(v)  ya(V)

(1.1-9)-hg httmlmd E np <1 gqnpowlhgn dh nhypnid whwp t ywhudwo (hGh V ninhn hwpwpbpuwywl
wnuqmpjniGhg huly Wjnu giygpnid wyl juugud wyhwp khGh V' hwjunupd hwpupbipujul wpuqmipyniGhg, hGswtu
gnijg £ mpywo unnpl..

ﬁz(V) _ ﬂ/Z(V,) _ / _
R u ) =2,(vV) 1.1-10

61 hwiwdw)G (1.1- 9)-nd mpywd wnlGympjub, <1(v) L <1(V") qnpowyhg-pniGyghwGtpp hpwp hwjwuwnp ba.
{1(V) = <1(V,) 1.1-11
(1.1-11)-nd mpJwd $nilyghnGwy hwjuwuwpnidp niGh (nodwG tpynt hGuwpwynpnipyniG.

w)  Unwohl hGwpuwjnp nionidp
Mi=M Wb & amyq dmiyghw k 1.1-12

(1.1-12)-ny mpywo wwydwlh nhypnid pudwpuwpymd b (1. 1- 11)-nd wupduo $nilyghnGuy hwjwuwpnudp, pujg
w)l hwjuwunud £ wikGuplnghwnip dbwthnfunipjul hwjuwuwpmdGp qubbne (1 - 9)-ng mpgwd dbp ywhwGohG:
tunlwpwn (1.1- 11)-nd mpdwo $niGyghnGuy hwjwuwpdw wyu wpwohl hGupuwynp nionwip dkhp dtpdnud Gap:

p)  Gpypnpy hGwpuninp pnrondp
V| = 1.1-13

10 - 88
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UjuhlpG witGwpGnhwlng dLuwhnfumpjwl hwjwuwpnuiGtp guntne (1 - 9)-ny npdwo dtp yuwhwlon
pwywpuwpynid b <tnbwpwp (1.1- 11)-ng mpdwo dniGyghnbGuw) hwjwuwnpnidp niGh htnlyw) dhwy hGwpuwynp
(nionidp.

21(V) = (V') =&, = hwuwnuwnn G 1.1-14

Npuntn <1 hwunwwnmb dtonipyniGp niGh Gyl wpdbpp pninp hGipghw hwdwywpgbpnud: Uyuyhuny (11 - 9)-ny
nnjwo wnlympynilp, hwiwdw)l (1.1- 14)-h, dtlp Jupnn tlp qpb) himlywy Yhpy.

Bav) _ Pov)

y2(v)  ya(v)

=<, = hwwnunnml 1.1-15

Luwbhnp (1.1- 15)-nd wmpjwd wnlsmpjul dte ¥, qnpowlhhgltipp niGtl wpwgnipjwl swihnquywlnpml b
nuuwlywl dnnwnpliwb nhypnd, hwiwdw)l (1 - U)-ny mpjwd nmwpwonipjul Fwhibjwl dbwthnfunipyniGGtph
nnubp mGt6 puguuwlwl G)wd, huy f2 gqnpowlhglbpp niGhG wpwgnipjul hwjunupd swuhnquywnip)niG,
htnbwpwn <1 hwunwunil dkonipynilp dtGp Yupnn tlp wpnmwhwjnt] mhtqbpuwl € wpwqmpjniing htnmlyug
Ybipw.

{1 = —gc—]'2 = hwumunnml 1.1-16

Npuntn g-6 dwdwGwiuwunwpwonipjul tpypuswthwlwb junnigquopp pnipugnnn vh Gnp hwumwwnnt G
utkionipjnil t L npp, hwdwdw)G (1.1- 15)-nd wmpywo wnlsnipjwbp, niGh GnyylG wpdtipp pnnp hGipghw) hwdwljwpgtpnid
L uyqpnilpnptb Yupnn k 1hGh) L gpuu6 b puguuwlub dtonipymG:

(1.1-16)-n mpjwo <1 qnpowygh wpdtipp mtnunpbnyg (1. 1- 15)-ny mpjwo wnGynipjub ko, vklp S2
qnpowyhg-pniGyghwbtpp Yupnn Gp wpnwhwjnby y, gqnpowyphg-pniGyghwitipny htnljuwy Yhpy.

Pa(v) = - C—lzyz(V)
1.1-17

Pov) = 05 75(V)

UjGnthtnle B, qnpowyhgGtiph wpmwhwymmpyniGatpp (1. 1- 17)-hg mbnunptiny (1. 1- 2)-h sty dhlp
nnn2hyGiph hwdwn funwGulp htmbyw] wpnwhwjnnipyntGGhpp.

dW) = 71(VP1W) + g5 V] # 0
1.1-18
d(v) = 72V)BLV) + 05 [75(v))7 # 0

Liwlwwbtu P2 qnpowlhgltiph wpnmwhwjmnipyniGGtpn (1. 1- 17)-hg mbnunpbny (1.1- 1)-h dbe, dhlp dhwswth
Q-njtiph hwpwpbpuyuwb pwupddwb ninhn L hwjwnwpé dlwthnfunipyniGGph hwdwnp JunwlGulp hmbgug
hwjwuwnpniGhpp.

Minhn dLwhnfumpniGGhp Juwjuwnund dlwhnfumpnGGtp
v = Bt-g5yax t= BV g 7h(v )X 1.1-19
L
X' = y1(V)X+ y2 (Wt X =y (V)X +y5(v)t

CGnqomd 1-5 - (1.1- 18)-ny wnpijuwo dhunpnfumpuld d(v) L d' (V') npnppstipp, hwdwduygd (1. 1- 7)-A,
vhwdwdwbwl whnp b hG6G uwd gl L qwd B pugquowlul d6ompimGGap: ‘Al jud pugquuaulul npnpfy
mbbgny dhwhnfunipyn GGbpp dhwswh unupwompyul ko, hwdwdwyl (1 - Q)-ny L (1 - &) -ny inpuwo wwhdwinidGhph,
Uklp guulp GnyGwbu Jwljulbip hudwyuomwofuwGupun ol dLhunhnfumpni GG5py wd qpuguinwlpu i
dlhunhnfumpymGGtpy: Uyu Gpgm, npuluwbu hpuuphg uuuppbp, dhunhnfunipiniG6Gpd Ly niG6G qnynipjul ipugdniGp,
npm/hlinl gpulghg wdbl Jaip Gwmugpnd [ dh npnpwh phqhljwlul Gplngp:

Qpuwlul duwhnfumpniGGhp Puguwuwlul dbuthnfunipyniGGtp
d(v) >0 W dv) <0 1.1-20
dv)>0 dv)<0

11-88
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1.2 - btpghw) Qwiwupgtiph UygqpGuytntph Cwpddwb <tunnwgnunidp

‘Lbwu GtGp, np wnwlg pGnhwlpnipjwl nhd dtinusbng, shwywth mwpwonipjul by K hGtpghw) hwiwlwpgh
(quwndwdp K' hibpghw) hwiwwpgh upddwl V. wpugmpjnilp (ninhn wpugmpyniGp) dkGp Jupnn Gp pGupty
wjlutu np wyl dhpwm ninnyuo hGh X wnwlgph npuiwl ninnnipjuwdp L hbnbwpwp wjl YihGh npuyul dtonmpniG:

1.2-1

Ujdd oquytyny (1.1- 19)-ny mpwo dhwswth Gnjtiph hwpwpbpuwb pupddwl ninhn L hwjunupé
dLwhnfunipjwl hwjwuwpnuiGhphg, gngwptiptiGp $hghuwyub snnbgnid L hwpgtlp K' L K hGbpghw
hwiwlwnqbiph uyqpGwytimbtph hpwp GQuuniwdp nitgwo Jwpdiwl wpwonipniGitpp, npnlp whwp £ hwipGyGel
htilig GnjG hGapghw hwdwywpqbtiph hwiwwwwnwuppwl hwpwptpwwl wpwgnipyniGGhph htwn:

1. K plepghwy hwdwlwpgh Ghundwdp K' plGEpghwy hwdwlwpgh ulgplulinh pupddwl
hbumwgmnnidp

K’ hGtpghw) hwiwyuwpgh O ulgqpGuybtwmh pwupdiwl pnpmpjub nghwpnid, wyn uygpGuytnp nwpuwdwlwl
wnwlgpwpytipp K' L K hGtpghw hwiwupgbpnid hwiwuywwmwufuwGwpwp YniGiGul hbnlyw] wpdbplhpp.

{XO 1.2-2
X =wt

(1.2-2)-nd mpywd O' uygplwlytnp nwpwdwwl wnwigpwpytph wpdtplpp wnunptnyg (1.1- 19)-ny
wnpywd mwpwowlul wnwigpwpyh ninhn dlwthnfunipjul hwjwuwpdw ke, Whip Junwbwlp y,(v)
qnpowlhg-pniGlyghwjh wpmwhwjmnipjniGp.
ra(v) = —y1(V)v 1.2-3

Ujdd by (1.2-2)-ny mipdwo O ulygplulytinh mwpwowwl wnwlgpwpytph wpdbpGtpp wknunpbinyg
(1.1-19)-ny npJwo dwiwGuyh L mwpwonipjul wnwlgpwpytiph hwijunupd dlwthnfunipjuG hwjwuwpnidGhph Wk
L wyn hwjwuwnpnuiGtpp pwdwGbny hpwp Yypw, dklp Junwlwlp V ninhn hwpwptpwwl wpugnipjwl
wnpunwhwjunnipjniln.

x _ Y2(v) 1.2-4

o puv)

2. K' plEpghwy hwdwlwpgh Gumdwdp K plGepghuy hwdwlupgh uhgplulbnh pupddwl
hbEnmwqgnnnidp

K hGtpghw hwdwywpgh O uyqplGultnh pupdiwb pGunpnipjul nhupnid, wjn uqplulbnp mwpwowywb
wnwgpwpytipp K L K' hGipghw; hwiwjupgqlipnid hwiwyuwwnwujuwGuwpwp YnilhGul htnlyw) wpdbpGhpp.

{X:O 1.2:5
x =Vt

(1.2-5)-nd mpJwo O ulqplGuwlytimh mwpwowwl wnwlgpwpytph wpdtpltpp mbtnunpting (1.1- 19)-nY
npJuo nwpwdwul wnwlgpwpyh hwjunupd dbuthnfunipjul hwjuuwpdwb gk, thip junwbubp y5(v')
qnpowlhg-pnillyghwjh wpmwhwjmnipjnilp.
72(V) = =y (V)V' 1.2-6

Uydu t (1.2-5)-nd mpJuo O ulqpGultnh mwpwowyul wewigpwpytiph wpdtpGtpp mtnunptiny
(1.1-19)-ny pJwo dwiwGuyh L mwpwonipjul wnwlgpwpytiph ninhn dbwthnfunipjul hwjwuwpniGhph dte L wyn
hwjwuwpmiGpp pwdwlbng hpwp Ypw, dkGp junwwip V' hwjunupd hwpuptpujwi wpugnipjwl
wnpunwhwjunnipjniln.

X _ y2(v) -
vV = T By 1.2-7
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UjGnihtinl (1.2~ 7)-h dtg wtinunptiny (1.2- 3)-ny npnpqud y,(V) gnpowlgh wpnwhwjnnipynilp, dkGp
Juunwlwlp V' hwjunupé hwpupbpuwl wpugnipynlp wpnwhwjnywd V. mnhn hwpupbpuul wpugnipjudp.

I 71(v) -
R Y 1.2-8

(1.2- 8)-hg utilip YunmwGwlp Gul htmljyuw) wnlmnipyniln.
71(V)V = =1 (V)V' 1.2-9

Liwlwubu (1.2- 4)-h dhe wknunpling (1.2- 6)-m] npnpywd y5(v') qnpowligh wpnwhwjmnipynip, tlp
JuunwGwlp V ninhn hwpupbpujwl wpugmpyniGp wpnwhwjnjwd Vo hwunupé hwpupbpuwl wpugnipjudp.

riv)
V=V 1.2-10
B1(v)

(1.2-10)-hg dtlp Yunmwbwlp Gul htmbju welmnipyniln.
yi(V' )WV = —pi(v)v 1.2-11

(1.2-3)-n] L (1.2-6)-n npnqwid ¥ ,(V)-h L y5(v')-h wpmwhwjmmpymGitpp wtnunptng (1. 1-17)-ng
upqwo f2 qnpowlhglGtph wpmwhwjmnipniGGtph de, dhlp Juunwlwlp htimlywy wnlsmpniGGtpp.

Ba(v) = C—Vzn(v)

) 1.2-12
Bov) = 0% 74()
LiwGwuytu (1.2-3)-ny b (1.2- 6)-ny npnpywd y,(V)-h b y5(v)-h wpnwhwjnnipymGitpp nbtnwnpting
(1.1- 18)-nd wipywo npnphyGph wpnwhwymmpymGatph gk, dhip YunwGwbp htinlyw) wnGsnpymGGtpp.
2
W) = 72| 10 + 8% 72 | # 0
1.2-13

(V) = 720 Fv) + g7 | # 0

UjGmhbtwnb (1.2- 13)-h vk9 Yhpwnbinyg (1.2-9)-h L (1.2- 11)-h wpnwhwjmmpjnGGtpp, dklp npnphsGhph hwiwp
Yuunwlwlp Gwl htnlyw] hwiwswth wnGympniGatpp.

dv) = 7P (1-¢%% ) + 0

1.2-14
!
dW) = 70)B)(1-0¥% ) # 0
buy (1.2-3)-ny L (1.2- 6)-ny npnpqwd ¥,(V)-h b y,(V)-h wpmwhwjmnpymGitpp minunpbny Gub
(1.1-19)-ny nnJwo hwpwpbpuyuwl wpddw mnhn L hwjunupd dbwhnfunipyniGGtph dte dtlp Junwlwlp htnbyuy
hwjwuwpnuiGhpp.
Minhn dLwthnfumpyniGGtn {wjununpd dbwthnfunipymGGtp
!
U= B+ Gra(v) 25X ) t= B0t + gri(v) X 1.2-15
X' = y1(V)(X= W) X = 71 (V)(X = V't)
hGsytu Gul (1.2- 15)-h dt9 Yhpwnbtiny (1.2-9)-h L (1.2- 11)-h wpnwhwjnmpjniGGtpp, dtGp hwpwpbpuywi
wnpddwl ninhn b hwjwnwupd duuwthnfunipymGatph hwdwp Junwlwlp Gub hbnbyw hwuwuwpnudGhpp.
Minhn dLlwthnfunipyniGGlp Lwlyunupéd dbwthnfunipyniGGbp
!
t = ﬁl(V)(t - g%X) . t= ﬂ&(V’)(t’ - gC—‘QX’) 1.2-16
X' = y1(v)(Xx—wt) x =71 (V)X -V't)
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1.3 - Qwpwpbpwlwinipjwb {pdGunpniyph Oqunugnponidp
LJwpuwptpuiwl Cwpdiwl Juuithnfunipjul LwjwuwpniiGtph Ut9

Glpwnptlp npjwd b6 tpym wywquitin wethy K L K’ plkpghw hwdwjwpgtp, npnip ppup Gundwdp
qubynud G0 hwpwpbpuywl pwpddwl vt L pwdwpwnpynid £ Gub (1.2- 1)-ng mpdwo wuydwlp: Uydd (1.2- 15)-nY
nnjwo hwpwpbpuyul wpddwb ninhn L hwijunupd dbwthnfunipjul hwjwuwpnuiGhph 4k Yhpwntlp (1 - £)-ny
npyuwd hwpwpbpuwl pwpddwl wnwehlG hhiGunpnypp' hwpwpbpulwlnipjwb uyqpnilpn:

1. K plbepghwy hwdwlwpghg, Judwjpwlwl v wubpl, hupyblp K plGhpghuy hudwlupgh
Ghunmfwdp hwGqunp hdwlhmd qubyng L o EplpupnipimiG mGhgnnh dngh EplpupnipyniGn:

Utiq hwdwp httmmwppppmipynil GipYujwglnng wnwlGgpwpytiph mwpptpnipyniGlbpp YniGhGub htnlyw) wpdtpGhpn.
th-t:=0
X2 — X1 = | 1 3‘1
Xy =X, =lo

(1.2-15)-ny npJwo mwpwonipjwl mnhn dbhwthnfunipjul hwjwuwpiwl Jhe mbtnunptny (t1,X1) b (t2,X2)
wnwgpwpytpp, dhlp mwpuowluli X; U X; wnwlgpwpytph hwiwnp Junwiwip htnlyw) wpnwhwjmnipjnGGapp.

Xy = y1(V)(X1 — V1) 1.3-2
X5 = y1(V)(X2 — Vt2)

UjGnithtnl oqunytiny (1.3—- 2)-hg L (1.3- 1)-ng mpywd wrwligpwpytiph mwppbpnipjuwl wpdtplnhg, hw)ytlp
K’ hGtpghwy hwiwlywpgnd wGwpd qubynn énnh tpuwpnipyniGp, npp hwjwuwp wtwup b 1hGh lo-h.

Xz =Xp =lo = y1(V)[(x2 = x1) = V(t2 — t1)] = y2(V)l 1.3-3

K hGtpghw) hwiwljuwpgh wmbuwGlyyniGhg wyn dnnh tpupmpjui L K hGipghw) hwiwupgnd hwlqunh
yhdwlmud qubynn GnijG dnnh tpiupmpyul hwpwptpnipynilp dthpwn yhwp £ 1hGh ngpujub dkonipyniG L hwdwdw)G
(1.3- 3)-h, wyt yhGh.

L-_1 .9 1.3-4
o~ 7w '

2. K' plbpghwy hwdwlwpghg, jwdwpwlwd U wwhpl, hupdblp K pGhpghwy hwdwlwpgh
Ghunmifwdp hwGquinp Yhdwlhnd qunliyng L GnyGubu o GphwpmpniG mGhgnnh dngh Eplwpnipnitp:

Utiq hwdwp httmwppppmipynil GipYujwglnng wnwlgpwpytiph mwpptpnipyniGlbpp YniGhGub htnlyw) wpdbpGhpn.
th—t) =0
Xy =Xy =1’ 1.3-5
X2 — X1 = |o

(1.2- 15)-n wpJwd wmwpwonipjwl hwjwnupé duwhnfumpjwl hwjwuwpdw6 §he whnunpbiny (t,X;) b (th,X5)
wnwlgpwpytpp, vtlp mwpwowul X; b X2 wnwlgpwpytinh hwdwp Junwbwlp htnlyw wpmwhwjmnipyniGGbpn.
X — ! V/ X/ _V/t/
1=71(V)(X; 1) 136
X2 = 71(V)(Xz — V')
UjGnithtnl oqunytiny (1.3- 6)-hg L (1.3- 5)-ny mpywo wnwlgpwpytiph mwppbpnipjwl wpdtplhphg, hwyytlp K
hGtpghwy hwiwlywpgnd wGywpd qunlynn dénnh tpupnipyniGp, npp hwjwuwp wtwnp t hGh lo-h.
X2 = X1 = lo = y1(V)[(xz = X1) = V'(tz ~ t1)] = y2(V)I' 1.3-7
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K’ hGtpghw) hwiwywpgh whuwGymbhg wyn énnh tpupmpju b K hGipghw] hwiwwpgnid hwiqunp
Jhdwynid quGynn GnijG dnnh tpyupnipjuwl hwpwpbpnipyniln dhpum wtwp k 1hGh ngpuub dtonipyniG L hwdwdw)G

(1.3=7)-h, wyG YihGh.

T
lo 71(v)
Qwiwdwyl (1 - £)-ny mpywd wnwehl hhiGunpnyph' hwpwpbpuuimpjub uygpnilph, K L K' hGapghug
hwiwljwpgtpp mbuwyyniGhg nhunwpyyuo b hwiwywunwuuiwGwpwp (1.3-4)-ny L (1. 3- 8)-ny wpywd, 2wndynn L
wlpwnd dhulnyyG dnnh tpiupmpyniGGiph hwpwpbpnipyniGGpp, whwp b hGaG Gny6 $nbGlyghw, dhwjl dh nhypnid

wjl yufujwd whwnp k hGh V. mnhn hwpupbpuul wpugnipymGhg, huy gnie ghypmd® V' hwlunupd
hwpwptpuwl wpwgnipyniGhg, wjuhlpl ytwmp £ mbtnh niGtlGw htnlyw wnGsnipjmGp.

7i(v) = y1(v')

Puwjg pwbh np, wiklwplnhwlnig phwpmd, hwdwdw)l (1 -9)-h, V| # |v|, htnlwpwnp.
ri(v') # ra(v)

CGnqomid 1-6 - Lwdh np uwdwjwlwG hwpwpbpulw G wpugnipudp Jupdyng gubliugwd plm wujwquistin
wgrhly habpghuy hwdwlwpgh mbnwubGlyniGhg pwpdyng dnngh L hwlquinf ke qunlyng Gniyl dnnh bpliupnipiniGGGph
hwpwpbpmipininp sh Juwpng (hak puguwowlul dbonpyml, hbwmbwpwp (1.3-4)-h L (1.3- 8)-A, pliswhu Gl
(1.3~ 9)-h wpymlplphg hnlod b np 'y, qnpowlhg-pniGighwl dfipm wlinp b jhGh gpulwd dGonpynil;

71(V) >0
yl(V,) >0

3. K' plbpghuy hwdwlwpgnid, mwpwompul dpllngld X Jupnid wmbnh F nGaGnid dp juy hwpnGh
L wuppbpupwp plGyng uumwhwn, nph wquppbpmipyul mbogmipymGp to o Swpyblp wyn wuwumwhwph
wwppbpmppul mbnpmipymilpn K plGbpghuy hwdwlupgh mbuwllniGhg:

Utiq hwdwp httmwppppnipyniG Gipuwjwglnn wnwlgpwpytinh nmwpptipnpyniGatpp YniGtlGwl hbmbyw) wpdbpltpp.
th—ty=to>0
Xy—X; =0
-t =t

(1.2- 15)-n wpdwd dwiwlwlh hwjwnupé dlwhnunipjul hwjwuwpdw §69 wmbnunpbny (th,X;) b (th,X5)
wnwlgpwpytpp, dtlp dwdwlwyh t; L t2 wnwlgpwpytph hwdiwp JunwGwlp htnlyw wpnwhwjjmnipynGGtpn.
!
= BVt + 9ra(V) 7%
!
tz = BV )ta + 9r2(V) 7%

UjGnmhbtnml oquaytiny (1.3- 13)-hg L (1. 3- 12)-ny mpjwo wnwlgpwpytph mwpptpnipjul wpdtipGtphg, hwyytGp
wyn (wy hwjymbGh ywwnwhwph wupptpnipjwl mbnnnipyniGp K hGipghw) hwdwjunpgh mbuwGyyniGhg.

tz—ti = t= fL(V)(ta — 1) + 974 (V) Z 0o = X1) = Bi(V)to

K hGtpghw hwiwywpgh wbuwGyymbhg wyn jwy hwjmbh ywnwhwph wwppbpnipjuwl wbnnmpjui b K’
hGtpghw hwdwwpgnud hwiquunh yhdwynd qubynn Gnij6 wwwmwhwph wupptipnipjul munnnipjwb
hwpwpbpnipymGp, hwdwdw)G (1.3- 14)-h, YhGh.

£ = Fv)
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4. K pbbpghwy hwdwlwpgmd, mwpuwdmpul dpllngld X Juypnid mbgh FmGhGnd Guifunpg juy
hwymGh L wuppbmupwn §plGyng quumwhwpp, nph quppbpoppul mlogmipiin to b Swpyblp win
wwumwhwph wwppbpmpywl mbagnipiniin K pGepghwy hwdwlwpgh mbuwllniGhg:

Utiq hwdwp httmwppppmipynil GipYujwglnng wnwlgpwpytiph mwpptpnipyniGlbpp YniGhGub htnlyw) wpdbpGhpn.
to-ti1=t>0
X2—X1=0 1.3-16
th—t) =t

(1.2-15)-ny npJwo dwdiwGuyh ninhn dbwthnfunipjul hwjwuwpiwl dhe mbtnunptiny (t1,X1) b (t2,X2)
wnwgpwpytpp, dhlp dwiwluyh t; L t, wpwigpwpytph hwiwp junwlwlp htnbjw wpnwhwjmnpmGGatpp.

t) = BVt + 971(V)C—V2X1

, g 1.3-17
t; = B1(Mt2 + 9?’1(V)gxz

UjGnithtinl oquytiny (1.3—-17)-hg L (1.3- 16)-nd wpdwd wnwlgpwpytnh nwpptipnipjul wpdbpltphg, hwpytlp
wyn (wy hwynlh ywwwhwph wyuppbipnipjul mlnqmpyniGp K’ hGipghw; hwdwupgbph wbuwGyniGhg.

th—t) =t = f1(V)(t2 - t1) = fr(V)to 1.3-18

K’ hGtpghw hwiwupgh wmhuwlyjniGhg wyn puy hwynGh yunwhwph wquppipmpjul mlnnnipjut b K
hGtpghw hwiwlwnpgnid hwlquunp yhdwynid qubynn Gnij6 yuumwhwph wquppbipnipjuwl munnnipjwl
hwpwptipnipynilp, hwdwdw)G (1.3- 18)-h, YihGh.

;[_o = p1(v) 1.3-19

‘LnyyGutiu hwdwdw)l (1 - 2)-ny mpjwd wnwehlG hhiGwnpmyph' hwpwpbpuywimpjwb uyqpeoilph, K L K’
hGtpghwy hwiwywpgbph mbtuwbyyniGhg phunwpuo b hwiwwywnwubpwGwpwnp (1.3- 15)-ng L (1.3- 19)-ny npguo,
UhllnyyG hwymbh ywunwhwph ywppbpnipyniGGiph hwpwptpmp niGGtpp, ybwup b 1hGEG Gnyl $nlGlyghwl, shwyl dh
nhiwypnd wjl Yuiujwd whwp k 1hGh V. mnhn hwpupbpuul wpugnipymGhg, huy Onie nghypmd’ V' hwiunupd
hwpwptpulwl wpwqmpyniGhg, wjuhlpl ywhwnmp £ mbtnh niltiw htnlyw wnGsnipjmp.

BL(V') = Ba(v") 1.3-20

Puwjg pwlh np wikGwplnhwlnip ghypnid, hwiwdw)G (1 - 94)-h, V| # |v|, htwnlwpwp.
Bi(v) # Pa(v) 1.3-21

CGnqond 1-7 - B1 qupowlhhg-pmbhghwh Grwlh dwupl wpwydd dbGp nspls huuwl sqfunklp: U hwpgh
Yepolwlwl wuwmwufuwln SGEGp junmwGulp hbuwquynid: “kpw hwdwn JG60p Juwnpng blp hwunwmby dhwgl
h&unmljuyn.

Bi(v) 20 13.22
Bi(v') 20 '

UjGmhbtwnl (1.1- 8)-ny mpjwo wnGympjwub vt Yhpwntiny (1.3-9)-h L (1.3- 20)-h wpryniGpGtpp, dkip
JuuwGulp htimlyw wnGsnpynilp, npp hwdwdw)G (1. 3— 11)-h dhpwm whwp t hGh npujul dtonipniG.

[ B1(v)B1V) = y1(v)y1(v) > O] 1.3-23

Canqomd 1-8 - (1.3- 23)-ny wipyjwo wnlismpinGp, hwdkGuwG gplivu, dhq hnpmd Fop bps K L K pGepghuy

hwdwluwpgbph mbuwGlynmGhg hlnnwgnunid b dpllng G phghlwlwl bphngpp, www P11 qupowlhg-pniGhghuh
Gywlin bplm hGEpghuwy hwdwlpwpgbpmd Iy whnp b jpGh GnyGp' Quwd gpaulwl L jwd B paguowlpuG:
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Ujdd oquytiin] hwljunupéd wpwgnipjul (1.2- 8)-ny mpjwo pwlwdélpg L (1.3 - 23)-nd mpjwd wnlsnipjnilhg,
uklp Jupnn Glp gniyyg mwy np V' hwjwnupd wpuwgnipjwl hwjunupé wpugqmpjnilp qu GnyG vV nimhn
wpwqnpjniGa b, wiwh wyl pwbhg dtlp qnpo nilklp npujwi pt pugwuwlwl dbwthnfunipyniGGtiph htin:

(1.2-10)-h Wt Yhpwntiny (1.3-9)-h L (1.3- 20)-h wprynilGpltipp, dtGp ninhn hwpwptpwwl wpwgnipjwub
hwiwp Junwlwlp htnlyw] wnlymnipjniln.

__yl(vl) / R
V= —ﬁl(v’)v 1.3-25

(1.3-25)-hg dtlp Yunmwbwlp Gul htmbjuw) welmnipyniln.
y1(VIV = =B1(V)v 1.3-26

(1.2-6)-h L (1.2~ 12)-h dtg Yhpwntiny (1.3~ 9)-h wpyymbpp, dkGp Yhuwinqytilp np B2 L ¥, juwquynp L
wfuwq qnpowlhglbtpp whtwnp b (hGkG GnyG pnilyghwd, dhwjG dh nhypmd wyG jufuguo whwmp t hGh V ninhn
hwpwpbpuwl wpugnipymGhg, huy Gnu ghiygpmd® V' hwunupd hwpupbpuuG wpugnipjniGhg, wjuplpl wbnh
niGh htinbyuyp.

72(V) = =y1(V)V' = y2o(V')

L Y ) 1.3-27
Brv) = ar1(v) Y = Batv)
UjGnithtnl (1.2- 13)-nd wpdwo npnphsGhph dk9 Yhpwnbing (1.3-9)-h L (1.3- 20)-h wpryniGpGtpp vklp
JuunwGwlp htnlbyw) wnGynipniGGbpp.
2
dw) = 12w B2v) + g2 Y | # 0
1.3-28

d(v) = 72| () +971<V/>Y;—/22] 0

(1.3-28)-hg htimlntd k np npnphg-pniGyghwlbnh hwiwp GnyyGutiu mtnh niGh hmbywip $nGyghnbug

wnlynipjnilp.
d'(v) =dv") 1.3-29

tunlwpwn (1.1-7)-n mpJwd wnlGsmpymbn Ygpyh htnlywy Yepy.

buy (1.2- 14)-ny wpqwo npnphgGhph gt GnijGybtu Yhpwnbking (1.3-9)-h L (1. 3- 20)-h wpryniGpltpp, hGswbu
Gwl (1.3-29)-p, vtilp dLwthnfunipjul npn2hyGhph hwiwp JunwGulp Gub hbnbyw welGympnGGtpp.

dv) = 7P (1-g% ) + 0

: 1.3-31
AN ! / _ AW
dv) = 72(v)Bav)(1-gY% ) + 0
(1.1- 4)-ny wpJwd hwjwuwpnuiGtiph hwiwlwpgbph wowohG hwjwuwpnuiGhph Wk Yhpwntinyg (1.3-9)-h L
(1.3-20)-h wpymGpGtipp, hGswbu Gul (1.3-28)-ny L (1.3- 31)-ny wpdwd hwjwuwpniGtph hwiwwpgbtpp
wnwohl hwjwuwnpnuiGtpp, dhlp Yunwlwlp htinbyjw wnGympymGGpp.
/ ) 1 1
vy = L — - = ,
W pwrewmYG  pw(1-¢YY)
1.3-32
SR Y ) B
RO B+ oL | raw(1-0¥%)
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buy (1.1- 6)-n mpJwo hwjwuwpnuiGtiph hwiwywpgbph wowehlG hwjwuwpnuiGhph Wk GniyGuybku Yhpwnting

(1.3-9)-h, (1.3-20)-h L (1.3- 29)-h wpryniGpGtpp, hGswbtu Gl (1.3-28)-ny L (1.3- 31)-nd mpyud

hwjwuwpnuiGiph hwdwlwpgtiph Gpypnpn hwjwuwpnuiGbipp, dklp umwGwlp htnmbyw) wnlynipniGGbpp.

e !
Ba(v) = yl(\{) = L 2 1 '
W gy rene) Yy pav(1-0¥%)
<
y1(v) = B(v) _ B(v) _ 1

<hotiny (1.3-23)-p, dtlp (1.3-32)-hg Yud (1.3- 33)-hg Jupnn tlp unwbw htnbyw hwiwswth wnlsmpyniGp.

dv') yl(V’)[[h(v/) +gy1(v’)‘é—§] 71(V/)(1—g‘(’:v—2/>

PV = fivpav) = — B0 Av)

1

Ba(v) + 9V1(V)\é—§ B Bi(v') + 9V1(V')\é—f

W/

c2

>0

Luwh np, hwdwdwyb (1.3-11)-h, y,(vV) L y,(v) qnpowlhglGlipp dhyw npuljwl SkonipyniG GG, hEmbwpwp
(1.3-32)-h L (1.3- 33)-h wnwehl hwjwuwnpmuiltphg httmmlmd £ np B1(v') L Ba(v) gnpowyhglGbph Gpulp Yuiugwo
thwyG d(v) L d(v') npnphsGtph GpuiGhg: <hptiny Gwl (1.1- 20)-p, dkGp wuwwquitin werhy hGtpghwy

hwdwyuwnpgbiph hwdiwp ngpuyu6 L puguuwlul dbwhnfunipyniGGbpp upnn Gap vwhdwlt] Gwl hbnbyw Yhpy.

Qpuwlul duwhnfumpniGGhp

Puguwuwlul dbuthnjunipyniGGtp

ﬁl(V) >0 L ﬂl(V) <0
,Bl(V/) >0 ﬂl(V,) <0

Oquiytiny (1.3-11)-hg L (1.3- 35)-ny wmpywd ngpujwl b pugwuwul dlwhnfumpyniGGtph nhypmyd f1
$nilyghw-qnpowygh Gpwbhtphg, hGswbtu Gul oquytiny (1.2- 8)-ny wmpjwd hwjunupd hwpwptkpuywl wpwgnipjub

pwlwdlhg, dtlp Jupnn tGp YnnuiGnpnpyty Guwl wyn wpuwgqnipjul GQwGh hwpgnd Llu hnbgwy Yhpy.

Qpuwlul duwhnfumpniGGhp

Puguwuwlul dbuthnjunipyniGGtp

o y1(v) I _ 71(v)
V= w0 L (V)

CGnqomd 1-9 - (1.3- 36)-fig htunknid F np gpuulwl dluhnfumpimG6Eph phupnif hulwnupd wpwenipiniGp
nuplmd b hwlpughp wmugnipiniG, hul puguuwlpul dLhananfunipjul nhupnid, bph wnuhuh dhunhnfunipiniGGbpn
hbwpuwnp 660 wwuwquidtan werhly hGbpghuy hunfwlwpglph dhol, wupw hwlugupd wpwqnipyniln §niGhEGuw nighn

wpwqmipjwl ngpmipnilp: “Apw hadwp V' hwpupbpulul wpuqnipiniGn dalp dhpn qubjuGblp hulpunqupd
wugnipinil L sblp oquuugnpoh hwlpughn wpwqnipnt @ wmumwhwpnnipinilp, bph sp waynmd 0b6l wyy pul: Ujughuny

Ullp dfpn huwlGuplblp puguuwlpul dhunpnfunipiniGGaph qnmpjul apunilpnp:

Upnh bhghyuwynid dkbp dhpwn oqumugnpontd tilip npujul dLwthnfumpyniGGtpp L npulghg unwgquo
wnryntGpGtpp, pugunnipjwip npnp nhiwypbph tpp wihpwdtpmnipynl L qqugymd fhpunt|] puguuwlub

dLwthnfumpyniGGtnpp, hGswbu ophGwl mwpwowlwb hwjtijwyhlG wlinpunupdiwl ntiwypnid:

Ujdd yuwnwnblp Gnp GoulwynuiGhp: Lwh np, hwiwdw) (1.2- 3)-h, (1.2-12)-h b (1.3-27)-h, pninp y,(V),
7o(V), Ba(v) L Bo(v') qnpowyhgGtinp Ywuywd b6 shw)G y,(v) b y,(v') qnpowyhgGtinhg, hGswbu Gl hwiwdw,)q
(1.3-9)-h L (1.3-20)-h ¥} L B} PmGyghwGpp GnyG y, b f1 pmllghwlbpl b6, www hwbnb wwpgnpju L
qtinwghmnwlwl hwdniyph, dtlp htnmlyw) gnpowyhg-pnilGlghwltiph dt9 pwg Ypnnltlp unmnphG gnighsGupp.

B )= B( )
yi( ) =7v( )
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UjGmhbtunl, (1.3-9)-ny L (1.3- 20)-n] unwgwd vtp wpnyymbplitpp hpwnking (1.2- 15)-h vy, hGswbu Gul
oquiytiny (1.3- 37)-ny mpqwo dtp Gnp GpuGuyniGtphg, dtip hwpwptpuyuwl Qwupddwb ninhn L hwjunupd
dLwthnfumpyniGGtph hwdwp junwwlp htnlyw hwjwuwpndbGaph hwdwlwpgp.

Minhn dLbwthnfunipyniGGlp Lwlyunupd dbwthnfunipyniGGtp
I \'A Y} / o
t=pWit+ QY(V)?X . t= BV +gy(v )%x 1.3-38
X' = y(V)(X-wt) X =y(V)X -Vt)

Liwlwybuy, (1.3-9)-ny L (1.3- 20)-ny unwgwd dkp wpnynilpltpp Yhpwnkiny (1.2 - 16)-h vk, hGywhu Gul
GnyyGutiu oquytiny (1.3- 37)-ny wnpJwo vbtp Gnp GQulwynuiGhphg, dkGp hwpwpbpuyw6 pwpddwl mnhn L
hwjunuwnd dbwhnfunipyniGltph hwdwp junwGwlp Gub htnlyw) hwjwuwpmdGtph hwdwupgp.

Minhn dLbwthnfunipyniGGlp Jwlyunupéd dbwthnfunipyniGGbp
- —g\¥L = BVt - gL x 1.3-39
t = po)(t-9%x) . t=p)(t - g-%x)
X' = y(V)(X=vt) X = y(V)(X =Vt

Canqomd 1-10 - Upklp np dblp nlin whinp F npnplilip sunpnquilpuGmpimb smbkgny B Ly qopowlhglbpp,
plswhu Gul whinp F npiplip V' L NV hwpupbpulud wpaqnipiniGGaph dpol bqud wnlsnipiniln:

1.4 - QwunmwwnniG UpwgnipyniGGtph Gnidwpiwl b Qwidwl PwlGuwdlbpn

Glpunpblp mpjwd b6, hpwp Guwmiwdp hwpupbpuwi pupdiwb dhe qubynn, tpip K, K’ L K"
wwwquitin weihy hGtipghw) hwiwywpgbtpp, npntn K’ hGtipghw) hwiwywpgp K hGpghw hwiwwpgh Giuwndwip
wpdymd bV hwunwwmniG wpwgnipjudp, huy K" hGepghw) hwiwyuwpgp K' hGipghw) hwdwjwpgh Giundunip
wpdynd B U hwunmwwnn G wpwgnipjuwdp b K hGapghw hwdwwpgh Guundwdp pwupdynmd B W hwunwwnnt G
wnpwagnipjudp: Pwgh ngpuhg, wowlg pnphwlpmpjwl nhd dtnulsting, dtlp Jupnn GGp plnniGb np pnnp V, U L W
hwpwptpwlwl wpwgnipyniGGtpp pujupupmd G6 Gub (1.2- 1)-n npdwd yuwjdwihG:

Canqond 1-11 - Guwiwjwlwl wpwgmpjwdp wpdyng Jinpd Gulwl dwulGhlh wpwempiniGn (wju pudind K"
hbEpghwy hwdwlwpgh hwununm 6 wpwgmpiniGp) K' L K pGhpghwy hwdwlwpgbph Ghunndwdp, umjnpupwn
Owlwlhymd F hwdwyumnwufuwGupup U LU nwnw@wGlpny: Pwjg delp qbpunuubghlp npulg ginfuwpbl
oquuugnpoty hwdwwyuumuufuwGuwpwp U L W uunbpp, huly Gngl6 umunbph fuwquilyyuo mmunbpn Jepuwquhbing win
wpugnipjniGGaph hwdwyunmuofuw§ hwlpuqupd wpuqmpmiGG5ph Hwlwhdwl hwdunp:

Ujdd nhwnwpytlp K" hGbpghw) hwiwywpgh uyqpGuytinh pwpdnudp: Uy K pGhpghwy hwdwupgh Gunmdwdp
GnyyGubiu updymd £ U hwuonwnm G wpugmpjudp b K hGipghw; hwdwupgh Guundwdp’ W hwunwnmG
wnugmpjudp: UjGnithtnl qpuubghlp K" hGipghw; hwdwupgh uygplwybnhp pupdnidp dwudwlwlh bpym wwppbip
wwhtiph hwiwn: UyqplGuytinh pupddwl dudwGuwljunwpuowihl wnwigpwpytinh mmwpptipnipjniGGbpp, wju Gpynt
wwpplip wwhtph (Quuwwhwpbph) hwiwp, K W K hGipghw; hwiwupgtipnid §mGhGul htnlyw) wpdtpGhpp.

K’ hGtpghw) hwiwywpgnid K hGtpghw) hwdwjupgnid
th—t) =t . th—t1 =t 1.4-1
Xp—X; =X =ut' Xo — X1 = X =Wt

CwpniGultilp dtp hwpymdGhpp, oquytiny (1.4- 1)-nd mpdwo Gpulwlyniblphg L (1.3 - 38)-ny wpuo
hwpwptpuyuwl pupddwl ninhn L hwjwnupé duwthnfunipjuwl hwjwuwpniGtphg:

& Oquujlilip mnhny dhuninfunipjul hujuwuwpnfGbphg
Qntlp (1.3- 38)-ny wipJwo ninhn dbwthnfunipjul hwjwuwpndGipp wyng Gpynt mwppbp wunwhwpliph hwdwp.

t = Btz + QV(V)C—szz th = Bty + gy(v)c—"le

Xy = y(V)(X2 — Vt2) Xj = y(V)(X1 — Vt1)
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Oquytiny (1.4- 2)-ny mipjwo tpynt wuwumwhwplbph wowlgpwpytph ninhn dlwthnfunipjwl hwjwuwnpniiGtphg,
hwpytlip npwlg dhol dwdwlwlh mlnnnpjniln b htinwynpnipynilp htnlywy Yepy.

ty —ty = BV)(t2 — t2) + QV(V)C—VZ(Xz —X1)
Xo = Xp = y(V)[(X2 = X1) = V(t2 — t1)]

1.4-3
UjGnithtnl (1.4- 3)-h b9 mtnunnptiny (1.4- 1)-nd wpgwd tpynt wwwwhwplbph dhel tnud dwdwlwyh
wlnnmpjul L hinwynpnipjul wpdbpGlipp, dhlp Junwlwip.
t = [ V) +0y(v M]t
BV + gr (v Y% o
ut' = y(v)(w- vt
bpwp Yypw pwdwGtiny (1.4- 4)-h tpypnpn b wewehl hwjwuwnpniiGtipp dklp Junwlwlp hwunmwwnni
wpuwgnipjntGGtph hwGiwG pwGwalp.
__rw-v) 1.4-5
B+ gr (V2
€ Oquujlilip hwlwnund dhunpnfunipyul hwjuuwpndlGbphg
Qnptlp (1.3- 38)-ny npJwd hwjuwnupd dLwthnfunpjwl hwjwuwnpniGtpp wyn Gny6 Gpynt wwunmwhwpGbph
hwdwnp.
tr = BV, + gy (V)L x; ts = BVt + gy (V) Lx,
2= BVt + gy ( )022 W 1= POty +gr( )021 1.4-6
X2 = y(V)(Xz — V') x1=y(V)(Xy - V't)

Oquiytiny (1.4- 6)-ny mipJwo wyn tpynt wywwmwhwnpltph wewigpwpytiph hwjwnund dlwhnfumpjwd
hwjwuwpnuiGlinhg, hwpytilp npwlg thol dwiwlwlh mlnnnipynilp L hinwynpnipynilp htimlyw) Yupy.

to—tn = BV~ 1) + 97 (V) Y 06~ )

X2 = X1 = y(V)[0G - X1) =V (t; — t1)]

1.4-7
UjGmhbtwnl (1.4- 7)-h b9 mtnunptiny (1.4- 1)-nd mpjwo tpynt wwwmwhwpGtiph dhol tnwo dwdiwGwlh
mlnnnipjwl b htinwynpnipjwl wpdtpltpp, dtip funwlwlp.
!
t=[ V) + gy (V' M]t’
BOV) +gr(v) L s
wt = y(V)(u—-vHt
bpwn ypw pwdwlting (1.4- 8)-h tipypnpn L wpwohlG hwjwuwpnuiGhpp dhGp JumwGwlp hwumwnnG
wpwqnpnilGGph gnuiwpiwl puGwalp.
! !
—{CDICh i,u 1.4-9
BV + QV(V’)?
Gpt dbklp hwpwptpwiwl wpugnipymGatph hwliwb L gnuiwpdiw gnponnnipyniGGtipp Gpugqptlp htmbgw) Yhpy.
u=wev
© 1.4-10
wW=uodV
Uwuw (1.4-5)-n] L (1.4-9)-ny mpjwo hwunmwwunt( wpwgnipniGGiph hwGiwl b gnidwpdwl pwlGwdlbpp gpinyg
dhwuhG L oquwgnpotiny (1.4- 10)-ny mpjwd Gpuqpnuibtipp, dtlp Juunwlwbp.
pAIUERY)
Uu=wovs=
BV + g (V2
1.4-11
! _\
We ey TV
B+ gr(v) L4
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1.5 - Guwdwjwwl UpwqnipyniGGtiph Gndwpiw b Lwliwl PulGwdlbpn

Ujdu £ kGpunptlp np thnpdGuwlwl dwuGhyp shwswth mwpwonipjul vk wpdynid £ judwjuljwl wpugnipjudp

L wyn thnpédGwlwl SwulGhyh wylpwppwjhl wpuwgmpmGiipp K' L K hGipghw) hwiwwpqtpmyd dtp GniyGuytiu
YGwlwytlp hwiwywunwufuwlwpwnp U L W nwnbtpny L npubg dtonpymGGtpp YnpnpytlG htbnlgwy Yhpy.

dx’

= =u

g)t( 1.5-1
E:W

Qhppuptbgtny (1.3- 38)-n] wmpywd hwlijwnupd dlwhnfunipjuwl hwywuwpnudGbpp pun ' dwdwlwyh L
wyGunbin bty (%’)-h wndbpp (L.5— 1)-hg, dhp GuunwGwep.

&) )Y
1.5-2

B = yHu-v)
(1.5- 2)-h tpypnpny hwyjwuwpnudp pudwGtng wnwehl hwyjwuwpdwl Yypw dtGp Junwlwlp wyn thnpdGuwd
GwuGhyh wylpuppwyhl wpugmpjnlp K plhpghw) hwiwupgh Gundwdp, wpnwhwjnyuws Vo L U

wpwqmpjniGGtpny, npl £ htlGg hwlnhuwlmd L ipynt U L V. wpwgmpiniGGiph gnidwpdwl pwlGwdlp.
R {5 [C D I 153
dt ! '
V) +ar(v) YL

Liwlwwbu nhpdtipntiGghny (1.3 38)-ng wpwd mnhn dlwthnfumpjul hwjwuwpndGhpp pun t dwdwlGuyh L
wyGwtin wbnunpbnyg (%)-h wpdtipp (1.5- 1)-hg, dhilp GunwGwip.

e = )+ g
1.5-4

9 — ywyw-v)

(1.5- 4)-h tipypnpy hwywuwpnuip pwdwGting wnwohlG hwyuwuwpdwl Yypw dklp Yunmwlwlp Gniyl thnpdGulywl
YwuGhyh wybGpuppuyhG wpugmpymbp K' hGpghw hwdwwupgh Gumiwdp, wpnwhwjnjwd V L W

wpwqmpjniGGtpny, npl £ htlGg hwlnhuwlmd L ipynt W b V. wpwgnipjnilGGtph hwGdw6 pwlwaln.
dx’ y(WWw-v)
ax _ = 1.5-5
o’ B+ oy

(1.5-3)-ny L (1.5-5)-ny mpJwo tpynt wpwgmpyniGGph hwGiwb L gnidwpdwl pwGwdlbipp gptny dhwuhl L

oquuugnnpdtiny (1.4 - 10)-ny mipJwo GpugpnuiGtpp, dkGp JunmwGwip.
y(WMW-v)
U=wovs=
BV + o ()
1.5-6

r(VHu-v)

W=u@V= ;
BV + gr(v) L

CGnqomd 1-12 - Uklp wkulinif EGp np (1.5- 6)-ny npywd judwywlwl wpwenipini GGEph huGdwl L
qmidwpdwli pwlwdlbpn dygppn hpuyny hwdplhlnd 56 (1. 4- 11)-ny ipjwo hwumunnt G wpwgnipniGG6ph hwlGdw i
L gmibwpdwl pulGuwdlbph hbm: <Gmlwpwn wpuqempmGGaph hwldwl L qmibwpdw( pulGudlbpn Qufujwo s66 wG
pwilhg pb wyn wmugmipymGGbpn hwumuwannt 0 66 pb ppulp niG60 quwdwjwwl whlpwnppuwihl pingp: UjGwbu np win
pwlwdlbpn afpwm b6 L plGbpghuwy hwdwlunpgbph ppwp Ghunndwdp niGbguo hwpupbpulu wpuqmpm GGGph hwdwn,

L pwpding thnpd Guilpu G dwalhlh Qudw ol wmuognipiniGGeph hwdwp:
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(1.5-6)-h vt9 wnwohl hwyjwuwpnudp motiny punn W wpwqmpjwl b Gpyponpn hwjwuwpmdp moting pun U
wnpwagnipjw(, vklp wylGpwppwjhlG wpwgnipniGitph gnudwpdwl b hwGdwl hwdwnp Junwlwlp Guwl hbnlgyug
pwlwdlbpp.

W uey - WUy
rw)(1-g%)
1.5-7
b= wov - PV
-0t
Ujdd dhwuh gptlp (1.5-2)-h L (1.5- 4)-h dhwjl wnwohl hwjwuwpmdGhpp.
a _ ] V'
o BNV +ar(v )?
1.5-8
a’ _ w
& = By + gr(v)
UjGmhbtunb (1.5- 8)-h wnwohl hwjwuwpdwb vk Yhpwntiny (1.3- 26)-p L tipypnpny hwjuwuwpdiw6 ke
Yhpwntiny (1.2-9)-p, dtiGp JunwGwlp Gul htmbjw pwGudlbpp.
dt _ gy (1 _ ﬂ)
&= pon(1-0%
1.5-9
dat’ _ _gVYw
&~ py(1-g¥W)
bpwp htwn puqiwwuwwnytng (1.5- 8)-ny wpywd hwjwuwpmibtph hwiwwpgh wnwehG L Gpypnpn
hwjwuwpnuiGhpp, dklp YunwGwlp htnlyw) wnGsnipynilp.
[+ o)L [ B+ gy ] - 1 1.5-10
‘Liwlwybu hpwp htn puqdwwyuwnybng (1.5- 9)-nd wmpdwd hwjwuwpmdGph hwdwwpgh wnwehG L Gpypnpn
hwjwuwpnuiGpp, dhlp YunwGwlp Gubk hinbyw wnGynipjniGp.
ﬂ(v)/}(v')(l—g%)@—gvc—‘z”) -1 1.5-11

dbphhptny (1.3- 23)-p, vklp (1.5- 11)-hg yunwGwlp htnlyw) wnGsnipjniGp.

BWBW) = y(Wy(v') = (1_9%)@_9%_?) >0 1.5-12

bpwp htim hwitidwntiny (1.3-34)-ny L (1.5- 12)-n mipjwo wnlsmpniGGhpp dhlp Yunwwlp htnlyug
qintighy wnGynipynilp, npp hpwp L juwnd Gpynt mwpptip hGipghw) hwdwywnpgbtiph Gumndwdp
Juiwjwwl wpwgnipjuwdp wpdynn thnpdGuwlywl dwulGhyh U L W ninhn wpugmpniGGtpp L GniyG hGapghwy
hwdwjwpgtiph ppwp Gundwdp niGhiguwd V L V' ninhn L hwjwnupé hwpupbpuwl wpugqmpmGGbpp:

CGnqomd 1-13 - Eph dulp plnmilLlp np thopd GwlwG dwulhyp K' plGEpghuy hwdwlupgh Ghunndundp
quiliymd b wlpwnd Jhdwynid, wyuplpl U = 0, wwyw plwlwlupwn wylG K hlGbpghwy hwdwlwpgh Ghunnmdwdp
owpdynif FW =V hwmnunnnm 6 wpwgmpjudp L hiinluopwp (1.5 - 12)-ny ipywd puGuwdbp nuninof F (1.3 - 34)-ny
wpywo pulwdlp, hul (1.5- 13)-ny mpgwo pwbudlp nunGmd F GnyGnpionG:
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1.6 - Qwonpnuul YuuihnfumpniGGtph Yhpwnnip

Luwih np, hwiwdw)b (pngomy 1-2)-h, hwpwpbpwwlnpjwl hwwnnty wbunipjul dhe hpwp Giunmdwdp
hwpwpbpuyuwl pupddwl b9 qunlynn hGipghw hwiwlwpgtiph wnwigpwpytph dbwthnfunipjuG hwjwuwnpnidGepp
pun dwdwlwlyh b mwpwonipjul nGhG qowjhG YuhjwonipniG, htmlwpwp npubp wbwp L pujupuptG qowjhG
dLwthnfunipjwG pnnp hhiGuywG optilpGtphG: {wdwdw)l qowjhl dlwhnfunipjul witGwhhiGuywa optlph -
hwpwptpuyuwl pupddwl hwonppuwl qowjhG dLuwthnfumpniGGtpp wnwewglnid GG vh Gnp GlwlGwwumhy qowjhG
dLwthnfumpjniG:

Npuytiugh dhGp wuywgnmgtiGp np (1. 3- 38)-ny wipywd hwpwpbpwlwl pwupdiwl dlwhnfumpjul hwjwuwpndGhpp
sb6 hwjuuntd qowjhG dLwthnfumpniGGtnh wikGwhhiGwlw optiphl, wuww npw hwdwp Juwwptlp tpynt
hwonpnuwwl dlwthnfump)niGGtn L uwhwetilp np unwgyuo wpnyniGuwpup dLwthnfunipyniln GnyyGubu 1hGh
(nijGwwnhy qowjhl dLwthnfunpynil, wyuhGpG npytiugh wjl niGtGw Gniy6 mbupp: Uju dwlwwwphny dtlp
Yyupnnubwlp npnpt) dGwgud wlhwym gnpowlhglph wpnmwhwymmpnibGibpp yud wyn gnpowlhgltph dhol
qnjnipjnil mGtgnn wnbynipymGGtpp:

Anw hwdiwp GGpwnptlp np wpdwo b6 tpip K, K' L K" wyuquitn weihy hGipghw hwdwlwpgbpp, npuntn,
hwdwadwjG (pnqomy 1-11)-h, K' hGtpghw) hwiwlupgp K hGipghw; hwiwupgh Giundwdp jupdymd £V
hwunwwnniG wpwgnipjudp, huy K’ hGhpghw hwdwlupgp K" hepghw; hwdwupgh Giumdudp pupdynd £ U
hwunwunnt@ wpuwgmpjuip L K hGipghw) hwiwuwpgh Gumdwdp pupdynd £ W hwunmwwnniG wpugnipjudp:
bGyytu Gl pninp V, U L W hwpwpbpulwl wpugmpniGGtpp npuu dtompyniGGtn GG:

Ujdd oquytyny (1. 3- 38)-ny mipjwod hwpwptpwuwi pupdiwb dLuwthnfumpjwl hwjwuwnpnuibtiphg, gpbip
ytpnhhpjwy tiptip hGipghw) hwiwwpgbph ninhn b hwjwnwupé duwthnfunipjuwl hwjwuwpnuiGtpp dhijuGg Guundwd
htmlywy Yhpw.

& Dbunpinfunipyul hwjuuwpnidGipn K L K plhpghwy hwdwlupgbph dhol

Minhn dLlwthnfunipyniGGlp Lwlyunupéd dbwthnfunipyniGGtp
t = ﬁ(v)t+gy(v)c—"2x ) t= BOVY +gy(v’)%x’
X' = y(V)(x—vt) X = y(vV)(X —V't)

& Dlunpinfunipjwl hwjuwuwpndGipp K" L K plepghay hwdwlupgbph dhol

Minhn dLbwthnfunipyniGGlp {wjununpd dbwthnfunipymGGtp
- u !
t' = Bt + gy (U)X . U= B +gr(u) g’
X' = y(u)(x - ut) X = y(U)(X' - u't")

& Dbunpinfunipjwl hwjuuwpndGippn K" L K plipghuy hudwlwpgbph dhol

Minhn dLbwthnfunipyniGGlp Jwlyunupéd dlwthnfunipyniGGbp
/!
t' = ﬁ(W)t + gy(W)C—V\éX . t= ﬁ(W,)t” + gY(W,)%X”
X" = y(W)(X—wt) X = y(W)(X" —wt")

Npuntn K, K' L K’ hGipghw hwiwlwpgtph vV, U L W hwjunupéd hwpwpbpuu wpugnipjnGGtph
wpunwhwjmnipniGatpp, hwdwdw)G (1.2-8)-h L (1.3- 37)-h Gnp GQuwGwymdGhph, YhGhG.

1), L T iC) L W)

B) B(u) B(w)

\
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buy (1.3- 32)-ny wpjwd pwlwélbipp Yhpunting K, K' L K" plhpghw) hwiwupgbph mnhn b hwjunupd
hwpwptpwwl wpwgnipyniGGph hwdwn, pGswbu Gub GnyGutiu yephhptnyg (1. 3- 37)-h Gnp GpuGwyniGhpp, dGGp
JuunwGwlp htnlyw) pwlwalbpp.

N A\ o y(w) N Y(w)
P =y P = gy PO = gy

N _ BV) N B Bw)
7 = gy W) = 5w “dw)

1.6-5

yWw) =

Ujdu oquuytiny tiptip hGtpghw) hwiwywpgbph (1.6- 1)-ny, (1.6-2)-ny L (1.6—- 3)-ny mpjwo ninhn L hwjwngupd
dLwthnfumpjwl hwjwuwpnuiGlphg, juunmwptlip dwdwlwyh b mwpwonipjub tpynt hwenpnuwljwb
dLwthnfumpyniGGtph popnp hGwpwynp yig mwpptpuyGtipp: Wyn poinp hwonpnujub dLwthnfunipyniGGtpp
[unnwpbinig htann dhGp YunwGup V, U L W mnhn wpugnipyniGibp b gpuilg hwjunupd V', U L w
wnpwqmpnilibp yupniGuyng qnpowyhgbtiph thol tnuo pnnp wnGsnipymGGtpp:

1. Oquyklp (1.6- 1)-ny wpyiio dwdwlwgh L umupuompjul
iy dhunhnfumpjul hwjuwuwpnidlaphg

Qpw hwdwp (1.6- 3)-ny wpywo hwunund dhwihnfunipjul hwjwuwnpndGphg t-h L X-h
wpumwhwjmnipniGapp mbtnunptiing (1.6- 1)-nd npJwo dwiwGwyh L mwpwonipyuwl ninhny dlwthnfumpjwG
hwjwuwpnuiGlph vk, dklp YumwGwip.

¢ = [ BOBW) - gy ) W Tt + graw)[ B+ yv) % [

X = )y @) (1= g W)X~y )y w W + fow VIt

(1.6- 6)-nJ mpJwo dLhwhnfumpyniGGtiph wpnwhwjnnpmGitpp hwibiwnbng (1.6- 2)-n] mpjuo t'
dudwlwyh b X' mwpuwompjul hwjuwnupd dbwthnfumpjul hwjuwuwpnuiGhph htin U hpup hwjuwuwptgling t'-h L
X"-h qnpowlhgGtpp, dklp Junwluwlp htnlyw) wnlsnipymGGpp.

dwiwlwlh dluthnfunipjnilhg Swpwonipjul dluthnfunipjnilhg

B) = BOBW) - gr(v)y(w) - yW) = yyyw)(1- g% 1.67

YU = y(WH[BWW +y(V)V] YU = YWy W)HW' + B(W')V]

2. Oqujilp (1.6- 1)-ny mpfud dwdwGwlh b umupuompyul hwlugupd dhahnfumpyul hwjuwowpnidGephg

Anw hwdwp (1.6 2)-m] mpywd hwjunupd dlwhnfunipjul hwjwuwpnuiGiphg t'-h L X'-h
wpunwhwjmnipniGapp mbtnuinptinyg (1.6- 1)-n npJwo dwdwlwyh b mwpwonipjul hwjunupd duwhnunipjwl
hwjwuwpnuiGlph vk, dklp YumwGwip.

t= [ BO)BW) - gy @) L e+ g Ly W) + (v v I

1.6-8
x = 7)) (1= g X'~ y(v)lru + BUV I
(1.6- 8)-ny mpJwo dlwhnfunipniGGtph wpmwhwjmnipniGipp hwitdwnbtng (1. 6- 3)-nd wmpjuwo t
duiwlwlh b X mwpuwompjul hwjunupd dbwthnfumpjul hwjuwuwpmdlbph htn b hpup hwjwuwnpkgGng t'-h L
X"-h qnpowlhgGtpp, Wklp Junwlwlp htnlyw) wnlsnipymGGupp.
dwiwlwlh dluthnfunipjnilhg Swpwonipjul dlunhnjunipynilhg
W) = BB - gy (v ru) L ) yw) = 7y (1- g ) 1.6-9
YWHOW' = y(U)[BVIU +y(V)V'] YWHW' = y(V)[y (U)HU" + BU)V']
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3. Oquujtlp (1.6- 2)-ny wpyfiwd dwdwlwlp L uvmupuompyul
mphn dhunhnfumpjul hwjuwuwpnidlbphg

Qpuw hwidwp (1.6- 1)-nd mpjwo mnpn dbwhnfumpjul hwjuwuwpmiGtiphg t'-h L X'-h wpnwhwynmpymGGtpp
wbtnunptny (1.6- 2)-nd mpjwd dwiwGwyh L mwpwonipjul ninhn dlwthnfunpjwl hwjwuwnpnuiGtph dbe, dhip
Yuunwlwp.

t' = [ BBW - oy Je+ gL ywrwu+ puvix

1.6-10
X' = ) ()(1- g% x—y B+ YWV
(1.6- 10)-n] wpdwd dLwthnfunipymGGtph wpmwhwjnnipynGibapp hwitdwwnbny (1.6- 3)-nd wpjud t”
dwiwlwyh b X" wwpwonipjwl ninhn dlwhnfumpjuwl hwjwuwpnidGbph htwm b hpwp hwjwuwpbgGng t-h L X-h
qnpowyhgltpp, vklp JumwGuwlp htnljw] wnlsmpmniGGtpp.
dwiwlwyh dLuthnfunipjnilhg Swpwonipjul dLwthnfunipjnilhg
W) = BVIBW) - gy (V)y(u) & yw) = yyr(1-g%) 1.6-11
L
yWw = y(V)[y(Wu + S(u)v] yWw = y(W[BM)U+y(V)V]

4. Oquuyklp (1.6- 2)-ny mpywo dwdwlwlh L unumuonpyuwl hwlwgupd dLuginfunipyul hwjwunwpnidGephg

Qpuw hwiwp (1.6- 3)-nd mpjwo mnpn dbwhnfumpjul hwjwuwpmiGtphg t"-h b X’-h wpnwhwynmpynGatpp
wbtnunpbny (1.6- 2)-ny mpjwd dwiwGwyh b mwpwonipjul hwijunupd dbwhnfunipjul hwjwuwpmdGhnh vk,
utilip yunwGwip.

¢ = [ BW)Bw) — gy W)y w) L e+ g Ly w e y(u)ulx
1.6-12
X = 7@y w)(1- gL )x -y yww + By

(1.6- 12)-n wpJwd dLwthnjunipjniGGiph wpmwhwjmnpnGibpp hwitdwwnbny (1.6- 1)-ny wpguo t
dwiwlwyh b X' wwpwonipjwl ninhn dlwihnfunipjuwl hwjwuwpnuiGph htin U ppwp hwjwuwptglinyg t-h L X-h
qnpowyhgltpp, dtlp JumwGuwlp htinlyw] wnlympmniGGtpp.

dwiwlwyh dLwthntunipjniGhg Swpwonipjul dLwthnfunipjnilhg

BV) = BUHBW) - gy (U yy(w) LY 7) = ryyw)(1-g UL ) 1.6-13

YV = y(W[BUHW+y(u)Hu'] y(VV = y(U)[y(wW)w + B(w)u']

5. Oquyjklp (1.6- 3)-ny mipywd dwdwlwlh L unumuonpul
mphn dhunhnfumpjul hwjuwuwpnidlbphg

Anuw hwdwp (1.6- 1)-n npJwd hwjuwnupd duwhnfumpjwl hwjwuwnpniGtphg t-h L X-h
wpnwhwjymmpjniGitpp nmbnunpting (1.6 - 3)-n mpjwo dudwlwyh b mwpwonipjul ninhn dlwthnjumpywl
hwjwuwnpmuiGtph vk, dklp Jumwlwip.

' = [ BB - g )y w) L o + gLy (v lrwpw + Bwv I
1.6-14
X' = 7)) (1= g3 ) = yw)[BV W+ 7 (v VI
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(1.6- 14)-n wpdwd dlwhnfunipymGGbph wpmwhwjnnipynGibpp hwitdwwnbny (1.6- 2)-nd wpjwd t”
dudwlwlh b X" wwpwompyul mnhn dlwhnfumpyul hwjwuwpmiGhph htn b hpup hwjuwuwpkgGinyg t'-h b X'-h
qnpowyhgltpp, dtlp JumwGuwlp htnmljw] wnlsmpmniGGtpp.

dwiwlwlyh dLuthnfunipjnilhg Swpwonipjul dluwthnjunipjnilhg
B = BV)BW) - gy(V )y (w) L ) 7() = 7 yyw)(1- g LW ) 1.6-15
y(Wu = y(V)lyww + w)v'] y(Wu = yW)[BV )W+ y(V)V']

6. Oquyjklp (1.6- 3)-ny nipywo dwdwlwlh L vnumuonpywl hwlwgupd dluginfunipyul hwjuwuwpndGephg

Qpuw hwiwp (1.6- 2)-nd mpjwo mnhn dbwhnfumpjul hwjwuwpmiGtphg t'-h b X"-h wpnwhwynmpymGGtpp
wbtnunptny (1.6- 3)-ny mpjwd dwiwGwyh b mwpwonipjul hwijunupd dbwthnfunipjul hwjwuwpmdGhnh vk,
utilip yunwGwip.

t= [ BWBW) - grwyre) W It + g Ly@lravyw + pow uix

1.6-16
x = 7y w)(1- g UL ) — yw)BUW + yuult
(1.6- 16)-nd wipywo dLwthntunipjul wpnmwhwjnnipyniGpp hwitiwnmting (1.6- 1)-nd wupwo t dwdwlwyh L
X nwpwonipjul hwjunupd dlwhnfunipjul hwjwuwpnuiGiph htin b hpup hwjwuwptglGing t'-h L X'-h
qnpowyhgltpp, vtlp JumwGuwlp htimlyw) wnlsmpmiGGtpp.
dwiwlwyh dLuthnfunipjnilhg Swpwonipjul dLwthnfunipjnilhg
BV) = BUBW) - gr(uy(w) L ) y(v) = yuyw)(1- g ) 1.6-17
YOV = y(U)[y(WHW' + f(w)u] YOV = y(WH[BUW' + y(u)u]

Ujuwhuny, tptip hGipghw) hwiwlwpqbiph dhol dtlp juwmwptghlp dwdiwlwlyh b mwpwonipjul pnnp hGwpwynp
hwonpuwl dLwihnfunipymGatpp L unwgwlp 24 hwwn wnlsnpyniGitp: Oquyting wjn hwjwuwpnudGtphg, hwenpn
pwdlnuy, vtlp Yywwmwptlp yuplnp htmlompjnGGtp:

1.7 - bQuplnp {tnlnmpjniGGtp {wonppujulG YuuthnfunipyniGGtph Yhpwnnithg

Ujdu (1.6- 9)-h dwiwlwyh dwhntunipjnilhg uvnwgud tpynt hwjwuwpnudGhph k9 mbnunntiny (1.6- 4)-ny
nnjwo fuwquynp wpwgnipniGatph b (1.6-5)-nd npJwo fuwquiynp wpwgnipyniG wwnpniGwynn gnpowyhglGtph
wnpunwhwjnnpjniGltpp, hGywtu Gwb uunwptny npnp YpdwnnuiGip, dtlp Junwlwlp htnbywy tpynt
wnGsympyniGGtpp.

__dw) g
YW = gty TV @(1-0%)

yww = %y(v)[y(u)u + U]

(1.7-1)-h wnweohlG hwjwuwpniip hwitidwnting (1.6- 11)-h mwpwontpjul dlwthnfumpjniGhg uvnnwugyud
wnwohlG hwjwuwpiwb htn Jud (1. 7- 1)-h tipypnpn hwjwuwpnuip hwdtdwntng (1.6— 11)-h dwdwlwlh
dLwthnfunipyniGhg unwggud tpypnpy hwjuwuwpdw6 htn, dLwhnfunipyuG npn2hyGhph hwdwn dklp fumwGulp
htnlyw] wnbynipymGn.

d(w) = d(v)d(u) 1.7-2
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Ujdd hpwp hwjwuwntglny (1.6- 7)-ny, (1.6-9)-ny, (1.6— 11)-ny, (1.6— 13)-ny, (1.6— 15)-ny L (1.6—17)-ny
upjwd hwjwuwpnuiGtph hwdwlwpgbph Gpypnpny hwjwuwpnudGeph we Ynndh wpmwhwjnnipniGatpp b juunwpbinyg
dhllnyy G wpwagnipjnilp b wyn wpwgnipjnilip ywpniwynn gnpowyhgltinh judpwynpnid, dklp Junwlwlp htnlyw) Ytg
wnlsympyniGGtpp.

1) BV —y(v) _ BW)—y(w)
y(V)V y(WHw'

2y BO)-r) _ pu) - y(w)
y(v' )V y(uHU'

g BW-rv) _ W -y

J (Vv y(Wu 173

gy P-yW) W)~ y(w)
yuHU' y(W)w

5) BW) —y(v) _ Bw) —y(w)
y(v' WV y(W)w

6) BW) —y(W) _ B(u) - y(u)
yWHw' y(uu

bul oquuytiiny (1.6—-4)-ny L (1.6- 5)-ny mpjwo pwGwaltiphg, htipm £ huningyty htmbywy wnlsnipymGGtph
Gyunipjwl Uk9.

( BW)-y(v) _ BV - y(v)
y(v )V y(V)V
BU) —y(U)  Bu) - y(u) .
Y swn T 174
POW) =y (W) _ pw) — y(w)
y(WHw y(W)w

N

UjGnmhbtunb (1.7 - 4)-ny mpjwo wnGympjnGGtpp Yhpwnting (1.7 - 3)-h dbg, dklp Junwlwbp dhw)l vkl
wnlynipynil, npp Yuwugwo st ninhn Juwd hwjuwnwnd wpwgqmpyniGGnhg: Ujyuhlpl wyn wnlGympynilp WGl E GnyyGp
Jquiwjwlwb (V, u, W) ninhn wpwgnipniGGtph L npwlg hwliwnupé (V’, u, W’) wpwaqnipjniGGtph hwdwn:
Ltmbwpup wyn wnGsnipjnilp wytwp k 1hGh hwunmwnnG dkonpjniG, npp L dtlp YGywGuytlp <> wwnwlywlng
htinlyw Yupy.

BV) —y(v) _ BW -y _ pwW) —yw) _ V) -y(V) _ BU)—yW) _ BW)-—yW) _ ¢

O, 70U YW T YU YW W 2 = hunuwnm - 1.7-5

Luwih np, hwiwdw)l (pngomy 1-10)-h, B L ¥ qnpowyhgGlipp swihnpuywlnpynil yniGhG, wyw pGujuiwpwn
(1.7-5)-ny mpJwo wnGympjnilGp niGh wpuwgmpjuwl hwjunupd swhnquyuinipniG L htmbwpwp wyny Gnp <2
hwunmwwunntG dtonpjniGp hwpwpbtptny nmhtqipuui € wpwqnipjub htinn dhbp Yupnn tlp wyh qptp hbnlywy Yhpy.

&2 =5t 1.7-6

Npuntn Sp dudwlwiuwunwpwonipjul tpypuswthwywb unnigquopp pinipuwgpnn dh Gnp hwunmwwnni G
utkionipynil bt L wyG pmnp hGtpghw) hwiwlwpqtipnud niGh dhllngG wpdtipp: (1. 7-5)-nd npdwo wnbynipynilp qptiinyg
thwjG ninhn L dhwyl hwuwnupd wpugnipymGatph hwdwn, dklp funwlulp htnbyw) tpyne wnlynipyniGGbpp.

BWV)—y(v) _ B —y(u) _ BWw)—yWw) sl
Y(V)V y(uu y(w)w ¢

1.7-7

BV - (V) _ BU)-y(W) _ BW)-yw) _ 1
YV y(uHu' y(wHw ¢
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Lnotny (1. 7- 7)-ny mpywd wnwohG hwjwuwpnidGbpp S qnpowlhgltph Gyuwndwdp dblp Junwlwlp htnbyug
qtintighy pwGwdlbpp, npnlp 6hpwm Gl Judwjulwl mnhn wpwgnipyniGGiph hwdwp.

BV) = y(V)(L+sE)
B(u) = y(w)(1+sY) 1.7-8
Bw) = y(w)(1+ S%)

‘LniGytiv nuotny (1. 7- 7)-nd mpdwod tpypnpny hwjuwuwpmdGipp f gnpowyhgGhph Guwumdwdp, (1.7 - 8)-hG
hwdwldw(, dtlp Junwlwlp htnlywy puGwdabtpp juiwjulw hwjununpd wpugnipyniGGiph hwdwp.

V) =y (1+5% )
B = yw)(1+s¢) 179
By = yw)(1+ s )

B qnpowlhgltph wpmwhwjmnipniGatpp (1. 7 - 8)-hg mbnunntiny (1.6- 4)-n mpJwo hwjwnund
wpuwgnipjniGGtph pwGwaélbph dhe, dklp Yunmwlwlp hwijwnupd wpuwgnipjwl Juuwp ninhn wpwgnipjwl htwn.

vV___v__ " U __u__ L W W 1.7-10
1+sg 1+s¢ 1+s%

(1.7-10)-ny mpywo pwlwdlbpp (niotny pun ninhn wpwgnipyniGGtph, dhip yunwGwip.

—__ U u=-—u__ L w=-—W__ 1.7-11

V=—
v u w
1+sC 1+sC 1+sC

UjGnihtnl (1.6- 5)-n mpJwo hwjwuwpnidGbph hwdwupgtph wowehG L tpypnpn hwywuwnpnuiGhph dke
wbnunptiing (1.7-8)-ny L (1.7-9)-nd mpjwo B qnpowyhgltph wpmwhwjmnipmGatpp, hGywbu Gul oquiytiny
(1.3-30)-hg, vtlp Yunwlwlp htnljw| wnlynipjmGatpp.

y(V') = ZE 3(1+s—) y(U') = VE ;(1+3_) y(W)—%(l+S%)
) L ) U ) 1.7-12
_r v _ w'
y(v) = ) (1+ST) y(u) = ) (1+s—) y(w) = W(l+ST>

(1.7-10)-h, (1.7-11)-h L (1.7- 12)-h hwiwwntn Yhpweniihg dkGp JunwGulp htnlyw) wnGsnipyniGGtpn.

y(V V' = d(v) —=y(V)V y(uHu' = d(u) y(Wu ywWHw' = d(W) ==y (W)W
. L L . 1.7-13
y(VV = —WY(V )\ y(wu ( b) —=—y(u)u y(W)w = —WY(W w

bpwp htw puqiwwunybng (1.7-10)-ny L (1.7- 11)-nd wipJud pwlwdlbpp, dlp juiwjuyuwl W L W' mnhy
L hwjuwnupé wpwgnipjul hwdwp Junwlwlp htnlyw wnlGsnipyniGp.

1+sW )(1+s—)=1 1.7-14
Oquiytiny (1.7-10)-hg, GnyyGytiu judwjuiuwi W wpugmpjul hwdwn, dtip funwlwlp htnbjuy
wnlsympyniGGtpp.
e g
w _ w
] 1
1+1sW  1l+3s¢
1+4isW
1+ 35 = 2w 1.7-15
< l+sg M-
2
w' w2 Lisg+ g%
I+sC+9 s =——w2
c (1+sg)

Lwidwwnbn Yhpwebiny (1.7-12)-p L (1. 7- 15)-h tpypnpng hwjwuwpnudp, judwjuyui W wpugnipjul hwdwp
utilip yunwlwlp htnlyw] Yuplnp wnGsmpnilp.

y(w’)(1+%sWT')— d(w)y(w)(1+ 1sW) 1.7-16
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buy (1.3- 34)-h uti9 mbnunptyny (1.7-8)-n L (1.7-9)-n] mpjwo f qnpowlhgltnh wpmwhwjmnpniGGtpp,
Jquiwjwlwl W wpwgnipjuwl hwiwnp dtlp funwlwlp htnlyw) wnlymnipjniln.

w w
YWyrw) = fEpw) = ——C 1€ __ . 1_ g

W, g W2 w' w2 _ g
1+s +g? l+ST+g? 1 g?

C
(1.7-17)-hg htimlm £ Guib, np Juiwjwiuwl W L W mnhn b hwjuwnupd wpugmpjwG hwdwn Shpwm wnbnh nGh
htnlyw] wnbynipymGn.

ww/
oz <1

Gpt wjdd (1.3-28)-ny L (1.3- 31)-ny mpjwo npnphsh wpnmwhwjunipyniGGtph ke mnunntiGp S(v)-h
wpunwhwjnnipjniGp (1.7-8)-hg b B(V')-h wpmwhwjnnipjniGp (1.7 - 9)-hg, hGsutu Gul yaphpptny (1.3-29)-p L
(1.3-37)-p, wyw dkGp d(v) L dv') npnphsGtph hudwp GunwGulp Gub htinbjw) puGualbpp.

dev) = yz(v)(1+s%)(1—g‘(’:"—2,) +0 dyv') = 72(V/)(1+3VT,>(1—9\::V—2,) #0

2 ! 12
d(v) = yz(v)(1+s% +g%) #0 dv') = VZ(V')(lJfSVT +g\é—2> *0

bpwp htnn puqiwwuwwnytny (1. 7- 19)-nd wpywd hwjwuwpnidGhph hwiwwpgtiph Gpypnpn hwjwuwpnudGhpp b
wjGnithtnl oquytiiny (1.3- 30)-hg L (1.7 - 17)-hg, dtlp JunwGwlp htnbjw; hwdwswih wnGsnipjmGp.
] qutiny )-hg L ( )-hg, dklp Yy p Ju swih wnGsnipynilp

v V2 v V2 _ w' )2
(rstrogz)(trst rog) - (1-08)

Ujdu (1.3- 35)-nd mpqud gpuyub b puguuwwl dlwthnfunipyjniGitiph wwydwbh gk mtnunpting judwjulwb
W wpugmpjul hwiwp (W) L B(W') gnpowlhglbph wpmwhwjmnmpymGGtpp (1.7- 8)-hg L (1.7- 9)-hg, hlswtu
Gwl ytphhptyny (1.3- 11)-p, dklp JunwGwlp htnlywy Gop wwjdwGGhpp.

Qpuwlul duwhnfumpniGGhp Puguwuwlub dbuthnjunipyniGGtp

1+s% >0 1+s%W <0

w w
1+ ST >0 1+ ST <0

UjGnithtinl oquuytny (1.7 - 21)-ny mpywo ngpujul - puguwuwul dlwhnfumpyniGGph Gop wwjdwlhg L
(1.7-17)-ny mipjwd wnlynipynilGhg, jupnn Glp bgpuyjuglt] np judwjujuwl wpugnipjul hwdwp gpuyub L
puguwuwlul dlunthnfunipjniGGtph yujydwlp dtlp Jupnn Glp qpby Gub shwuphG hbnbgw Yhpy.

Qpuwlul dlwthnfumpniGGhp

1+s% >0

2
1+s%+g% >0

Puguwuwlul dluhnfunipjniGGtp

1+s%W <0

2
1+s%+g% <0

1.7-17

1.7-18

1.7-19

1.7-20

1.7-21

1.7-22

Oquytiny (1.7 - 19)-ny mpywd hwjwuwpnuiGtph hwiwwpgtiph tpypnpn hwjwuwnpnuiGtiphg, hGywbu Gub
hwiwdw)G (1.1- 20)-h L (1.7 - 22)-h, npwul L puguuwul dbwthnfunipyniGGtph wuwydwGh, dtGp Jupnn GGp npnptg
y(v) L y(V) gqnpowyhglbph wpnwhwjmmpjmGiipp gpuijui b pugwuwywl dlwhnfunipyniGGbph hwdwp htnlgwg

Ybpw.

Qpwlul duwthnfumpniGGtn

.
R 4 >0

y(v) =

Puguuwul dLuthnfunipjmGGtp
~
—d(v
J—dv) >0
]—(1 +s¥+ g‘é—z)
—d(v'
J-dv) -0

V, V/2
\/‘(“ 6 o)

(V) =

y(v') =
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Canqomd 1-14 - ©@ymd | pt pujulpud F (1.7 - 23)-p dho plipmiGly d(v) = £1 (Guuf np Gnyyl F plnniGly
d\v') = £1) L dblp htipmmpyundp Jupng blp npnply (V) qupowlgh wpdbpp (qud y(V') gnpowlgh wpdlpp): Puyg
dplsl Yhpe UlGhkno hGkim hwdwp whmp Fwely np dV) = 1 plgmGempinip udujulw6 L sph pfund (1 - 2)-ny
wpywo <wyhwlwl hupwpbpulwlnppul hunnny mbumpywl hhdGwnpnyplbphg: <Gulwpwnp y(V) qopowlgh
wndbpn quillym hwdwn dblp whnp [ npnlhlp UG wyy cwlwwunh, npp Gpfup d6p hwpwpbpulpuGnippaul
hpadGunpnyplbphg:

Oquytiny (1.6- 7)-ny, (1.6—-9)-ny, (1.6— 11)-ny, (1.6— 13)-ny, (1.6—15)-ny L (1.6— 17)-nJ mpjwd
hwjwuwpnuiGiph hwdwlyupgtiph mwpwontpyub dbuwthnfunipjul hwjwuwpnuiGtphg b tpypnpny hwjwuwpnodGhpp
pwdwlbing wnweohl hwjwuwpniGph Yypw, hGywtu Gul oqunmugnpotinyg (1.7-8)-ny L (1.7 - 9)-ny mpjuo
pwlwdlbpp, dklp JumwGwlp (V, u, W) L (V’ ,ul,w ) hwpwptpwiwl wpwgnipyniGGiph dhol qnynipyniG nilitignn pninp
wnlynmpyniGGbpn:

¢ (1.6-9)-ny L (1.6— 11)-ny inpyfuo nwpuompyul dLhunhnfunipyuld hwjuuwpmdGbphg, dbip

Guunwlwlp
W ninhn wpwgnipjuwl hwdiwp W hwliwnupd wpwgnipjuwl hwdwp
u+v+s UV sV 1.7-24
o b T
g2 1-9°%

¢ (1.6-7)-ny L (1.6- 15)-ny wipyjio mnwpmuompyul dLunpnfunipjul hwjuuwpndGhphg, SGip

Juumwbwlp
U ninhn wpwgnipjul hwdwp U hwljunupd wpugnipjul hwdwp
W+v’+s‘/TW , W/+V+SVWT, 1.7-25
U v b Ve
-0 -9

¢ (1.6-13)-ny L (1.6- 17)-ny npywo mwpuwompyul dhunhnfumpjul huwjuuwpnidGbphg, Gip

Guunwlwlp
V ninhn wpwagnipjul hwdwn V' hwjwnupé wpugmpjul hwiwp
w+ U+ sUW S Wrursi 1.7-26
V= W L VvV = —U\N/
1o S

Oquiytiny (1.7- 10)-ny npJwd hwjununpd wpwqnipymGatph Jud (1.7- 11)-ny nipdwd minhn wpwgnipjniGGhph
pwlwdlbiphg, vtbp (1.7-25)-ny L (1.7- 26)-ny npJwd wpwgnipjul dlwhnfumpjwl pwlwdaltpp, (1.7- 24)-ha
hwdwGdw(, Jupnn Glp GniyGybu wpnwhwjnb] jud dhwj6 ninhn wpugnipyniGGtpny L juwd £ dhwyG hwuwnupd
wnpwaqnipjniGbtpny, hGswtiu gniyg £ nipqwd unnpli:

¢  (1.7-25)-p wpunwhwymywo dhuyl mghy wd Syl hwlonunpd wpaognipniGGepny, §ihGh

U ninhn wpwagnipjul hwdwn U hwjwnupé wpugmpjul hwiwp
_ %—v - L u = w -V 1.7-27
! Iyay
l+sg+gly 1+s% +gVC‘Q’

¢ (1.7-26)-p wpumwhwpmywo dhuyl mohy Jwd dhagld hwlunupd wpuqnipim GGhpny, [hGh

Vv ninhn wpwgnipjuwl hwdwp V' hwljunupd wpugnipjul hwdwp
_ vl\J/—u L v = w —u 1.7-28
! It
1+sd+ g—uc“z“ 1+s¥ +g “C‘Q’
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(1.7-24)-h dwfu Ynnih hwjwuwpnudp dkGp Jupnn GGp hwiwpb nputiu Gpynt ninhn wpwgnipyniGGtph
gniiwpdwl pwlwdl, npp Jupnn tGp gpt] hbnbgwy Yhpy.

VU
u+v+syd
urvesc 1.7-29

W=Uu@®V=
1—9%

buly (1.7-27)-h dwhu Ynnih hwjwuwpnudp dkGp Yupnn Glp hwiwpb) nputiu tpynt ninhn wpuwgnipyniGGtph
hwldwl pwGwdl, npp Yunpnn blp qpbp hnbgwy Yhpy.
Uu=wovs=

W=V 1.7-30
1+sg+ gc—V"2V

Canqomd 1-15 - (1.7-29)-ny L (1.7 - 30)-ny uypjid wpwqnipimGGlph gnidwpdwl L hwGdwl pubwdlbpp
UbkGp fwpng Fhlp vunwbuy Guwl (1.5-7)-p L (1.5- 6)-h wrwehl hwjwmupmdGbphg, wylnby mbnunpbinyg (V)
qnpowlgh wmunmwhwjnmpnlp (1.7- 8)-hg:

(1.6-7)ny, (1.6-9)-ny, (1.6-11)-ny, (1.6 13)-ny, (1.6-15)-ny L (1.6—- 17)-ny mpjwd mwpwonipjul
dLwthnfunpjwl wnwohl hwjwuwpnuiGtpp hwlnhuwlmd 66 Yy qnpowlhgltiph pninp hGwpwynp dlwthnfumpyniGGtpp,
npnlp shwuhl qpyuo YhGua.

D 7w = 7W)yw)(1-gi¥) 4) 7(v) = yyw)(1-g %)
2) () =y )yw)(1- gL ) u 5) (W) = y)yw)(1- gL ) 1.7-31

o 6) y(w) = y(vyr)(1-g )

c2

~—

3) yw) = yr(1-g

Canqomd 1-16 - vy gmpowlhgliph b wpwenipymGGEph hunfwp dbGp jupng blp unwlwy puqnid wyy
wnlsmpmiGGLp, npnlp oquuwlwp phGEG Jhq «Jwjwlwli <wpuwpbpulwbmppuli Ubpwlhluwgh Skunipjuly
Qupmgdwl hwdwnp L gmulg bl plpbpgnnp uwpng b owlnpwGwy (hwybpjwo 1)-nud:

Gt ytpowyty, (1.7-8)-ny L (1.7-9)-nd mpjwd B qnpowlhg-pniliyghwjh wpmwhwymnipynGGtpp mtnunpbnyg
(1.3- 38)-ny inJwo hwpwpbpwyuwb wpddwl ninhn b hwjunupd dlwthnfunipjul hwjwuwpnuiGhph gk, Wklp
npulp yupumwhwjnmtlp dhwjG y qnpowlgny hGswhtu gniyg L mpdwd unnple.

Minhn dLwthnfunipyniGGtip Juwuwnunpd dlwhnfumpnGGtp
t = y(v)[(1+s%)t+gc—v2x] . t= y(vd[(h—s%)t%g%x/] 1.7-32
X' = y(V)(X - vt) X = y(vV)(X = V')

CGnqond 1-17 - (1.7- 32)-ny wipjwo hwpwpbpulwl pwpddwl dlwginfumpul hugwuwpndGipp 6Gp
QwlywGblp - hwpwpbpulwGmppul hwuoml mbumpjwl <wjwlwl dhuginfumpyul hujuwowpmdGep jud pdunn '
Swylwlwl dlwihnfunipjuwl hwjwuwpmdGhn, nnbn Jblp nhe whnp F npnpblp v qopowqhg-pniGhghuip
wpunwhwpnmpyniGp: Uy wlhwjm qupowhgn npnpbym hwdwp $Glp whnp F oquuugnpoblp hwpupbmuluGmpul
hpdGunpnyph U6l wyy ' wybh pghwlnp hwun, hwadwdw)lG nph dwdwluiumwpuonpud vk bplhn judwjwlwli
wunmuhwplbph dhol bpwo hbnwynpmpniGp miGh GnyG hwGnuohwydwlpul mbupp popnp hGbpghwy hwdwlupgbpnid: b
thoh wyng (1.3) pwdbnid jhpungwo hwpwpbpulpuGnippwd bhdGunpniph snpu hwamlnipini GGkpp hwlnphuwGnd GG
Yhpnlyjwy wdkGwplnhulng hwpupbpulubnippul hdGunpngph mwppbn dwoelGuninp plupbpn dhapG:
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1.8 - Cwpdiwl UGhwiwswhmpjul {wjmGupbpnuip hGipghw; <udwljupgbpnid
L <wlunhp hGipghw) Lwdwuwpgtiph UwhdwGnuip

bhqghynultipp htmwgnunnmd GG phghyugh mwpptip pwquyunlbpnd dwpdhGGbph hwytpwghG winpunupduo
wnpddwl hwdwswithnipjuwl yuwhwywGdwb hwpgbipp, npytugh (nokl puqiwphy mbuwlw fuGnhpGbp, hGyybu Gub
wybith juy hwuyuwlwb dhq gppwuyyunnng Upfuwphp: “Hpw hwdwp mbubhGp pb hGywbiu £ nioymd wyn fulnhpp
Jwjjuiwl hwpwpbpuyuinipjul hwnntly nbunpjub dhe:

(1.7)-nn pudimd wpowoywd tpynt hGhpghw) hwiwyuwpgbph hpwp Gundwdp niGhgwd ninhn L hwjwnwpd
hwpwptpuywl wpwgnpyniGiph pugupéwy dtonipjniGatph wihwjwuwpnipjuG hwpgp wihpwdtyu k
hwlqudwlnptl pGGwpyt; htmwqu wihwulwgnnnipynilGGtphg funtuwthtint hwdwnp: Utp weopjw thnpéhg L dhGslk
wjdu pnniijwo wpfuwphh bhghuljwl pdpnlmihg htimlmd £, np hpwp Gundwdp hwipGpug hwpwpbpulwG
2wipdiw k9 quGynn tpynt hGhpghw) hwiwwpqbtph ninpn b hwjwnupdé® (V LV ) hwpwptpwlwb
wpwqnpjniGGph puguwpdwly dhompyniGltpp whwp t 1hGkG hpwp hwjwuwn b ngpulp ninnyuo whimp t hGEG hpwp
hwliwnhp ninnipjwip: Uwpbdwwnhinptl nw wpnwhwjnynid £ wjuytu.

vV = -v 1.8-1
hGsytu tplmd t (1.7-10)-ny L (1.7 - 11)-ny mpqwo pwlwdlbtphg, Qujjuywl hwpupbpuwlnipjul hwunnly
wbtunipjul vk, wikGwplnhwlnin nhiypmd, hwjunwnpd wpugnipyniln sh pwduwpupnd hwgtijhwihl winpunupddwl
hwjwswihnipjuG (1.8- 1)-ny mpywo optilphG, wyuhGpG wjl pwumymd t: bhupyb wyn thwuwnp sh hwwunid dtp
wnopjw YtGuwihnpdhG, pwjg dwjnwhtn wywpwqubpnd (Gnpp Uptuwphmd), tpp S+ 0, wjl sh wwhwwGynud:

CGnqomd 1-18 - Swlhwnupd wpwgmpinGGbph wlhwdwswiinipywl hwwnp dfpn F o dhuyl hlEpghuy
hwdwlupgbph hpwp Ghunndwdp nbbguo niphn L hulwnupd hupupbpaulpu G wmuognipjwG hunfup, wyy hudwdwl
(nlingomyd 1-12)-p, wyl cpyw I Gl gublugwo hGbpghwy hwdwlpupgn udwpwlwl pupdyng thopd Guilul dwulGhih
wmugnipjul L wyn hnpd Gl dwuGhih hwybjughl wigmunupdywo pupddwl wpugnipjul hunfup.:

Ltnlwpup dhGp wyhwp b hwyumytlp wjl dwmph htw, np wikGuplnhwinip nhypmd (ophGuy wmwppuwywl
JwuGhyGlph poy) thnfuwgqntgnipyniGaph nhypnid b wy6), mwpuwompjul hwybihuwyhG winpunupdquwd pupdiwb
(1.8-1)-ny mpJwd wpwgnipjul hwiwswhnipjub optilipp L wyp Shqghywwl dtonipniGibph «wlyihwym»
hwiwswihnpniGGtpp Yud hwywywihnpniGGtpp GnyyGubtu jupnn G0 swywhwwGyt:

Nputugh JupnnubGwbp pwpniGuytp hwjtjwghG winpunupdquod pwpdiwG wihwiwswihnpjul thwunh
pwlwluwlwl htnwgnunnuip, dtlp ywhwnp £ vwhdiwlblp hwljwnhp hGipghw) hwiwlwpqbpp, hGswbu Gub ninhn L

hwlwnhn hGpghw; hwiwlwpgtipnid dhllnyG Phghuwl dhompniGGtpp hpwphg mwppbptint hwdwnp dklp wtwp
wuwjiwlwynpytip oqumugnpot] mwpptipn GQuwlwynidGhp:

UwhiwGmy 1-2 - &pt uwdwpulwi K' L K plepghuy hudwlpupgbpp (weihly wd dwfuphly) $EGp hudwpbGp
nighn plbpghwy hwdwlwnpgbp, www win AlGbpghuwy hwdwlwnpgbph Ghunndwdp
mwpwompjwl huybjughl whnpunupdywo (qpndwm* hwybpughG wingnunupdywo) hdepghwy hwdwlwnpgbpn UeGp
quwlywlhlp hwilpughn plGbpghwy hwdwlwnpgbp: Gr npubugh wyn nighny L hwlpughpn pGbpghwy hwdwlwpgbpn
qupnpuwlwlp hpwphg muppbply, wjunihbnl L dppm, pon wlhmudbymmppul, dGGp joquuugnpnoblp htunljwy
Dwlwlnmdlbbnn:

Minhn hGpghw hwiwwpgqbnh hwdiwp {wlwnhp hGipghw; hwiwlwpgbph hwdwp
R e 1.8-2
=
- —
K K

huly npybugh, mghny L hwlpughp hGbpghwy hwdwlpupgbpnd, dhlp JupnnubGulp hnpd Gulwl dwuGhin
plhmpwqnpnny poinp phghlpull dbonmpniGGbpn GnyGwbu fpuuphg unuppbply, www gl hwdwp Lo dGGp
Joquuugnnpoklp Ghwlunnhy Grwhwhnidbipnp, hiswbu gnyyg b upgwo wnnpl snpu phghljuwlul SbompniGGbph hwdwp.
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& [Ighn hGEpghuwy hwdwlwpgbpnd

!
K ninhn hGipghw hwiwjwnpgnid K ninhn hGipghw hwmiwjwnpgnid

- N _ B

Judwluy - t dwiwGuy - t

Swpwonipjnil - X Swpwonipyni - X

!

< UpwqnipjniG - U= ﬂ/ < g Upwgnipjn - W= ﬂ_,
dt dt
_ aw
Upwqugnid - b= ﬂ, Upwqugnud - EE ey
dt L dt

&  wlhuwnhp hGbpghuwy hwdwluwpgbpnd

!
R hwljuwnhp hGtpghw hwdwjwpgnid R hwlwnhp hGipghw hwiwjwpgnid
~
! e -
Juniw iy - t duiw by = t
SwipnwompjmG = <’ SwpwonipyniG = X
!
3 Upwqmipynib - 0= % < 3 Upwqmpjmb - W= %
dt
_ dw
Upwqugnud = b= ﬂ/ Upwqugnud = a=9
dt \ dt

!
Uylinthtnnl JbphfipGimy, np R fAbbpghuwy hwdwlupgh Ghuwmdwdp R hlbbpghwy hwdwlwnpgh pwupddwl v
!
hwpwpbpuwlul wpwgmpyniGp J6Gp whywlly LhlGp mghy hwpupbpulul wpuqmpniG: buly puilh np K Jbbpghuy
hwdwlwnpgh Ghunndwdp R hbEpghwy hwdwlwpgh V' hwlwnupd hwpwpbpulwl wpuqnipiniGp phghluwbu gu R
!
niphn plbpghuwy hwdwlwpgh Ghunamdunip K hwlwghp hGbpghwy huwdwlupgh wpugnipimiGa F, wuw pGuluupun
Uhlp wyl qwljwlhlp hwliwnhn hwpwpbpulpo wpwqmpym G: <nlwupwn mghy L hwlwngupd hwpaopbuau oG
wmugnipiniGGaph hunfwp GnyGubu dfipm 66 htanlywy G wGuwlnodGapn.

Swlwnupd hwmupbpulw G wpugnipini G -

{ [inhny hwpwpbpuwlwl wpuqmpint G -

Uyuwypuny, hwdwduyb (plngomy 1-12)-p, (1.7-10)-h L (1.8 5)-h, myhy L hwlwghp hwpupbnaulul
wpuqumipni GGhph hwdwn GnyGubu ohpm GG hinlywy wnlsnipintGGLEpp.

G-V __
1+s%
Ve__V
1+s%

Utilip whwp b GnyjlGwbu pnmGhGp, np bph popnp nighn hplhpghuwy hwdwlwpgbpp pugwmupmd &6 (1 - Q-)-ny
wpwo vhqplwlwl Jhowih qudwGhl, wyw pGulwGupaun poop hwlunhp hGepghwy hwdwlwpgbpp' wjuhlGpl
hwybpuhl wlngnunupdywo hlepghwy hwdwlwpgbpn Lu whnp F puduwmunbd Gnyl uqpluluwl Jhawih quydwbhi:

JEN N — ! )

Gpp tT=T =T =.=0 wyw T=%=%=.=0

61 htanlaupwp niphn L hwlunhp pGepghuy hwdwlpupgbph uhqpbulinbpn hwdpGylnd GG apwp hian
wmwpwonmpywli 0 [lnnid:

CGnqond 1-19 - (1.8-2)-ny, (1.8- 3)-ny/, (1.8— 4)-ny L (1.8~ 5)-ny inpyjuér ppghljulyl sEompnGatph Jpuw
ppwo Ghnp Grullbpn (Bhwswh phqhlpulul mmupuwompyul dk) b6 Grubwymd ninmpynil gnyyg unfng Jblunp, wjy
wwpquiybu Glupuepnid &G wyl hunnnp, np pupdmdGhphg dbip dblp wuydwGwipulnnbl plpniGly GGp np wmbnh E
mGhGmd mphn hGhpghuy hwdwlupgmd, pul dinup' hwlughp (mwpudnipyulG hwybpoghl wigmununpdyud) pGepghuy
hwdwlwpgmy: buly bnwswh mwpuonpyul Uy Jhlpnnph wlGhpn huluybu Gplnipugpbl Jhlpnnpulpu G
Dhghlpwlpul dbonipimGGEphp nignmpniGp muwmudonipjul dke:
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Qwiwdwyl (pnqomd 1-12)-h L (1.8-5)-h, K' L K mnhn L hwjunhp hGipghw hwdwupgbpnd judwjuui

thnpdGuywl dwuGhyh ninhn L hwwnhp wpugnipyniGaeph dhol GnyyGutiv mtinh mGt6 (1. 8- 6)-hG hwiwGiwG
htimlyw) wnGynmpmGGtpp.

Go__4a VR
1+s% W 1+s% 188
W W '
1+s% 1+s%

(1.8- 8)-hg httmlimid £, np Yudwjwwl W wpwgnipjul hwiwn dklp Junwlwbp (1.7- 14)-n mpjuo
wnlympjnilp yuyunpuwlwl Gpwgpnipjwdp.
(1+sﬂ>(1+sﬁ) -1 1.8-9
C C

Ujdd oquytiiny (1.8- 3)-ny L (1.8- 4)-nd mpwd GpuwlwyniGtphg, hGywbu Gul (1.8- 8)-ny wupqwo thnpdGuljwb
dwuGhyh ninhn W hwwnhp wpwgnipyniGGtph Shol tywd wnlsnipyniGGtphg, quiklp K' L K ninhn L hwwunhp
hGtpghw) hwiwyuwngtipnid, dhulniyG hnpdGuyul dwulhyh wiguwo dwiwlwyh b nmwpwonipjul thol inuod

!
wnlympyniGGbpp: pw hwdwp GGpwunptlp np Kuk hwlwnhp hGipghw; hwdwywnpgbtipnid pwpdynn thnpdGulwub

!
dwulhyh wligwo dwiwlwyp b mwpwonipjnilp, wikGwplnhwinip nhwypnd, juudwo GG R L R ninhn hGipghwy
hwdwuwnpgbipnid GnyG hnpdGuwywl dwulhyh wliguwo dwiwlwyhg L mwpwonipjnilhg htnlywy Yepy.

K 1 R habpghwy hudwywnpgtph dhel K u K hitpghwy hwswywpgtiph shel
ot = il(c't") +&X ct = &i(ct) + &) 1.8-10
! / And —
< = m(c? ) +12%X X = 771(0'[> + 12X

(1.8-10)-h dti9 oquugnpdJwd (£1,€2) L (1,n2) wlhwjm gnpowyhgGpp yuuqwo sk6 ninpn juwd hwywnhp
hGtpghwy hwiwwngtinh pGupnipjniGhg, hGywtu Gub ngpulp yuugwo sk6 hGhpghw) hwiwlwpgtph hwpuwptpuyw i
wnpwqnipjnitGGtphg: Utp Gyuwunwy b npnpt) wyn wihwjn gnpowyhgltippn: 9pw hwdwnp oqguwgnpotinyg (1.8-3)-ny L
(1.8- 4)-ny mpywd GruwlwyniGtpp hwyyklp hwiplpwg wpdynn hnpdGwyuwl Jwulhyh wigwd Swliwwywphp K" L
K ninpn L hwjunhp hGipghw hwdwlwpgbph dhel htnlywy Yhpwy.

K 1 K hwywnhp pipghw) hwiwlwpgbpnis R’ 1 R nimpn pbpghw) hudwywpgtpnid
¢ -ot = (T X =1t = (et 1.8-11
2 (o) i (o)
% =Wt = W (cT) % =Wt = ¥ (c¥)

(1.8-11)-ny npnpywd mwpwonipjul wnwlgpwpytph wpdtpltpp mtinunptnyg (1. 8- 10)-h dhg, dklp
JuunwGwip.

!

hGitipghw hwdwywngtph shel K U K htpghwy hwswywpgtph shol
CT/ _ (§1+§2%>(C_'[),) ct = (514—52%)(0_'[’) 1.8-12

B(et) = (men)(e?) B (D) = (men@) (D)

P

K u

=~

!
(1.8-12)-h by, tipypnpn hwjwuwpnuiGhpp pudwting wewehG hwjwuwpniGhph Yypw, dtlp JunmwGwip K
R hwlwnhp hGipghw) hwiwywnpgtipnid thnpdGuwywl dwulhyh wupdiwG wpuwgnipniGGpp wpnwhwjjnywd R L

ninhn hGipghw) hwdwyuwnpgbtipnud GnijG hnpdGuyul Ywulhyh Jwpdiwl wpuwgqnipyniGGtpny.

!

L
>
K

a i
T _ minee W W _ mtnee 1.8-13

§1+§2% ‘ §1+§2%
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{witidwmntiny (1. 8- 13)-ny unwgwo wprynilpn (1. 8- 8)-ny wpjwd hwjunhp wpugqmpjul pwlwdlbinh htin,
ublp dhwpdbpnptG Yunpnn GGp npnptyp (61,82) L (71,712) wlhwjm gnpowyhgltipp, npnlp YniGEGw b hbunlgug

wndtipGtpp.
&1=1 W n1=0
S2=s n2=-1

(1.8—14)-nd npnpywd & L gqnpdwlyhglbph wpdbpGbpp mbnunptinyg (1.8— 10)-h kg, tklp YuunwGwbp tpynt
! !
‘}Z L R hwlwnhp hGipghw hwiwwpgbpnid thnpdGuwlwl JwuGhyh wligwo dwiwlGuwyh b mwupwontpjul Juwn R L
K ninhn hGipghwy hwdwyuwnpgbipnud GniyG6 thnpdGuwuwl dwuGhyh wigwo dwdiwlwyh L mwpwonipjub htwn.

1.8-14

! !
K U K hibtpghw hwswywngtph shel

K U K htpghwy hwswywpgtph shel

¢t =ct +s¥ - ¢t = ct +sx¥ 1.8-15
< =% X=X
(1.8-15)-hg dtlp junwGwlp K' L K ninhn L hwunhp hGipghw hwdwwpgtpmy jwpdynn thnpéGuywui
Jwulhyh dwdwlwlh L mwpwonipjwl nhpptiptilighwbGtiph htimbyw Juuwnp.
! !
K Ut K hibpghw hwdwywngtph shol K u K hitpghwy hwswywpgtiph shel
1.8-16

edt = cd? +sdx’
dx' = —d®’

cdT = cdt + sdX
dX = —dX

!
Oquuytiny (1.8- 15)-hg vtlp Ywpnn Llp npnpty Gul K uK ninhn hGpghw hwdwywpgbpnd pwpdyny
!
thnpéGuwlul dwulhyh wlgwo dwdwlwyh b mwpwontpyub juwp K uk hwwunhp hGpghw hwiwwpgtpmy GnyG

thnpdGuwlul dwulhyh wlgwo dwdwlwyh b mwpwontpjub htin.

! !
K u K hebtpghw hwswywngtph hel

K u K htpghwy hwswywpgtph shel

¢t =t +s¥ - ct = ct+sX 1.8-17
X =% X=-X
(1.8-16)-hG hwiw G, (1.8— 17)-hg dhlp Junwlwlp K' L K mnhn L hwunhp hGipghw; hwiwupgbpnud
wndynn thnpdGuwywl JwuGhyh dudwGwlh b mwpuwdonpjul nhddtintlGghwGtph htnbyw uwnp.
K t K hebpghw hwswywngtiph shel K u K hitpghwy hwswywpgtiph shel
cdt = cdf + s’ - cdt = cdt + sdx 1.8-18
&% - —dx’ d% = —d%

Oquytyny K' L K mnpn L hwywnhp hGipghw hwdwywpgtipnid (1.8 - 3)-ny L (1.8- 4)-nJ wpywd thnpd Guljwl
dwulhyh wpwgnipyniGatph vwhdwlnudhg, dtGp (1.8—- 16)-hg L (1.8- 18)-hg Jwnnn tGp npnpty ninhn L hwwnhp
dwiwlwlyGtph nhpdtintlGghwiltinh vhol tnwo htmlyw) uup.

K Ut K hibpghw hwdwywngtph shel K u K hitpghwy hwswywpgtiph shel
dt - (1+s%)d_t’, dt = (1+s%)d_t’ 1.8-19

0

d_’, = (1 + s%)d‘t_,

dt = (1 + s%)d‘t_
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CGnqomd 1-20 - (1.8-15)-ny & (1.8~ 17)-ny mnwgywo wpnmbpGepp Gnp pnyju 66 wpnnid phqhlwnd
hwynbGupbpgwo hwdwswihmpywd fpwfunmdwl (P hwdwswihmpiuld fuwfumdwl) hwomp Jpw: <wdwduwy G <wjlpwlul
hwpwpbpwlwlmpul hunonty mbunipywd, ns Jeumwpwlwl phghliulwl dbompimbGGapp (Gudwbwlp, quiqyuon,
Lwqnubdhwlp L wyd...) mwpwompjud hwybjughl whpnunupdywo hGbpghwy hwdwiwpgbpmd, i vuuppbpnipntG
wpnh phghluh wunnlbmugdw b, thmpnfunid B6: GdwGuwwybe hwybjpughl wigmunupddw G phuypnid Jelpmnpulju G
Dhqhlwlul dEompmGGEpn (wpwqnipinilp, wpwqugndp, pwgip L wyd...), pugh nipgnip/nidn ppobing, npuwlg
pugwpdwly dkompniGGEpp GnyyGwbu hnhnfuynid BG: buly npny phqhljwlwl dbompimbGhp ' qnponnmpjul
hbmbgmuuyp, FGEpgwd L wyyl, hugbpughl wignunupd dwl phypnd G 56 wiimginfu (hafbpjuwo 2):

“Lotlp np (1. 7)-pn pwdind unwgwo pninp pwlwdbbpn dtlp Yupnn GGp qpby GoyyGnipjwdp, dhwjG w)l
wnuwppbipnipjudp, np ninhn wpuwqnipyniGGtph hwdwp foquugnnpotilp ninhn yaumnph Gpwln, huy hwjunwnpd
wnpwqnipyntGatph pwqub)wGh hnfuwpbl JogumuwgnpotiGp hwwnhp Yaunpp Gpuln: {witlw)l nhiyu dkip
wlhpwdtipu tlip hwdwpnd npn) pwlwalipn dhgptint] wjumbn Yhumnpuwb Gpuqpmpjudp, npnlp dtlp
oquugnndtint tlp wju L htimwqu pwdhGGtpnid:

Qntlp dLwthnfumpjwl npnphsGtph dhol (1.3 - 30)-ny mpywd wnlsnipjnilp.

d(V)d(¥) - 1

‘LnyyGwhu gptlp (1.7-19)-n npdwo hwjwuwnpnuiGtph hwiwlwpgbph tpypnpy hwjwuwpnudGpp.
2

d(?) = yz(v)(us% +g%> 0
2

d(v) = yz(V)(us% +g%> 0

UhwuhG gptlp Guwl (1.6-5)-ny L (1.7- 12)-ny mpJwo wnGnipjniGGtpp judwjwiul W wpwgnipjul hwdwp.

ORORFOICE)
G
r(W) = dg‘wg - Zgwg (2+5¥)

bGywtu Gl gptbp (1.7- 13)-nd mpywd wnlynipyniGitpp judwjwyuwli W ninhn L hwuwnhp wpwgnipjuG
hwdwnp.

(W = - s )

W = ——L y(W)Ww
r(W) d(t) r(W)
Qptlp Gubl yayunpuywb Gyugpnipjudp (1.7-17)-ny mpdwd htimlywy uplnp weGynipyniGp.
=
1+s% 1+sW
- _ - C _ 1
r(@)r (@) = AP - ——C - 5 s
1+sﬂ+g— 1+ST+9_VCV2 1-9°%

Ujdd oquytiiny (1.8- 3)-ny, (1.8—-4)-ny L (1.8-5)-ny mpjwo Grubwlyniblnhg, qptiGp (1.7 - 32)-ny mpywo
Jujjulywl hwpwpbpwluwinmpjuwl hwnmly wtunipjul ninhn L hwjwnupd dlwhnunipjuwl hwjwuwpniGhpp

!
Yhlunpulwé Gyugpnipjup, shwyG K L K ninhn hGtpghw) hwdwywngtph dhel:

!
1. {wyjwlwl dhunpnfumpyul hwjwuwpmdGbpn R L R vhwyl nighn hGbpghwy hwdwluwnpgbnh

ol
Minhn dLlwthnfumpyniGGtp Jwlyunupéd dbwthnfunipyniGGtp
=y @[(1+58)t 4057 ) Ty (1+sE)T +05¥ ]
X =y (?)(R-77) X =y (DX -97)
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CGnqomd 1-21 - Eph (1.8 25)-unpyjuwd mnhn dhunpnfunipyul hwjwuwpnidGhph hwidwlwpgp nioblp pun

(?,?) wnwlgpwpybph L wylnihlnl gmulg 0o [hpwnklp (1.8— 20)-ny, (1.8-21)-ny, (1.8—-22)-ny L (1.8- 23)-nif

wpywo pulwdLbpn pun wlhpudbymmpyud, wwyw JhGp JuumwbGulp (1.8 - 25)-mpywo hwlwnupd dhunanfunipul

hwyjwuwpmdGhpp: <Gnlwpwn (1.8- 25)-ny wmpywo mghy L hwlwnunpd dhunpnfumppulG hwjuuwpmdGhpn hpklg Ske

hwhwumpini G sb6 wuwpni Gulnod:

Ujdd dtilp guGulnd tip unwlwy Lwjjuuwl hwpwpbpuwinipjul hwnny ntumpjwb (1.7- 32)-nd npjwod

!
ninhn b hwwnupé dlwthnfumpjuwl hwjwuwpnuiGtpp yaunpuub Gpugpnipjudp, thw)l K uk hwlwnhp

hGtpghwy hwiwywpgbtph dhol: pw hwdwp wlhpwdtyn b (1.8- 25)-ny mpdwo mnhn b hwjwnupd dluwthnfunipjwuG

hwjwuwpnudGhpp WG9 Yhpwnt] dwdwGwyh b mwpwonipjul (1.8- 15)-ny L (1.8- 17)-ny nipdwd hwytjwjhG
winpunupdjwo dluwthnfunipjul hwjwuwpnuiGpp, hGywbu Gub pun wihpwdtymnpjub oquyty (1.8- 20)-ny,
(1.8-21)-ny, (1.8-22)-nJ L (1.8- 23)-ny mipywd pwlwdlbphg: Uyn pnnpp juunwnpbnig htinn dtp junwiwlp

htnlyw) dbwthnfunipjul hwjwuwpmaGhpp:

!
2. Swylwlul dhunhnfunipjul hujwuwpmdlGbpp ‘}Z L ‘}Z vhwyl hwlwnhn hGepghwy hwdwlwnpgbph dhol

Minhn dLwthnfumpyniGGtp
=@ (T-02¥)
- y(V)':(1+ s—>Y+Vt ]

Lwlyunupd dbwthnfunipyniGGtp
T = y(V)(t —g— )
- y(V)[(us—)Y +VT ]

UnwGdGulh htmwppppnipyniG £ Gepyuywuglnid gptp <wjjujub dlwhnunpjul hwjwuwpndGipp hwywnhp b
ninhn hGipghw) hwiwlwnpqbph dhol fwyd minhn L hwwnhp hGipghw) hwiwwpgbinh dhel: 9pw hwdwnp dklp, pun
wlhpuwdbynnpjud, GnylGybu ytup L oquytlp (1.8 15)-ny L (1.8- 17)-ny wipywd hwykjwihG winpunupdywod
dlwthnfunipjwG hwjwuwpnidGbphg, hGswbu Gub (1.8-25)-ny L (1.8- 26)-ny npJw o {wjjuyub dlwthnfunipjwub
hwjwuwpnuiGtphg: Ujuwhuny dblp Junwlwlp htinbywy dbwthnfunipjwl hwjwuwpnidGhpp.

!
3. {wyjwlhwl dLhunpnfunipyul hujwuwpnidGhpp K hwlunghp L K niphn plbpghuwy hwdwlwpgliph dhgl

T - y(V)[_t’+ (s+ g%)%?]
% =y (V)(X-VT)

T = y(V)[_t’, + (s+ g%)%?']
%= (DX -v7)

!
4. Swyqwlhwl dhunpnfumpyul huduuwpmdGepp R nupfng L ‘}Z hwlwnhn hGepghwy hwdwlwnpgbph dhol

T - y(V){(h— sl>‘t_+ [s+ (2 - g)%]%?}
- _y(V)[(1+s—)‘>?+Vt]

T = y(V){(h— s%)‘t_, + [s+ (s - g)%]%?’}

%= (D)[ (1+sE)x + 97 ]

CGnqonmd 1-22 - (1.8-25)-ny, (1.8- 26)-ny, (1.8— 27)-ny & (1.8~ 28)-ny npyjwd Swylpwilpul dhunpnfunipjul
hwijwuwpndGapn SGlp Jupng Glp gply Gule wmunwhwaywo uwd dhagG v i hwpwpbpulpu G wmugnipjudp ud

puyG N hwlpughp hupupbpuoloe wpognpyudp b ud B opld wyy umuppbpalng:
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Updt yayunpuub Gpugpnipjud gptp Gub wpugmpyniGGtph gnidwpdw6 b hwGdwl puGwalbpp: pw hwdwp
wnpwqnipyntGGtph (1.7- 24)-ny, (1.7-25)-ny L (1.7- 26)-ny mpywd pwGwdlbtph vk Yhpwntiny ninhn L hwlwnhp
Jtyunnpuwywl Gugqpnipjnilp, dklp Junmwlwlp.

& Upnwgmpmbabph qmibwpdwl pubudlbpn

W mnhn wpwgnipjuG hudwp W hwyunhp wpugnipjuG hudwp
@ ﬁ+V+s@ . B ‘U+V+s@ 1.8-29
S _g¥u S VU
1-0e 1o

& UpnwqmpmbGlbph hwGbwl puGudlbpp

T mnhn wpwgnipjuG hwdwp U hwjwnhp wpwgnipjwG hwdwp
W’+V+s@ ‘W+V+s@ 1.8-30
id=—F° L g=—_—"°C
1- gm 1- gm
c? c?

& Upnwgmpmbabph dluhnfudwd wyy jnuwgnighy pwGudlbpn

V mnhn wpugnipjuG hudwp ¥ hwlunhp wpugnipjuG hudwp
W+U+s@ W+ﬁ+s@ 1.8-31
e . VT
W
1o 1o

buy (1.7-31)-nd wpywd pnnp ¥ qnpowyhglGtph dlwthnfunipniGGtph dbe GnijGutiu Yhpwntiny ninhn L
hwlunhp yayunpuyub GQugpnipynilp, dtlp junwlwlp htnlyw wnGsnipymGGtpp.

D r(¥) = (@) (1-o ) 4 7(7) = r(@)r(@)(1-0L)
2) 7(@) - (V@) (-2 u 5) 7() - y()r(@W)(1- T ) 1.8-32
3 7@ =y (D10 ) 6 7(W) = /(Vr(®)(1-0'F)
Oquytiny (1.8~ 30)-hg L (1.8- 32)-hg tkiip U mnhn L hwljunhp wpwgnipniGGtph hwdwp GunwGwGp.
r(@) = 7Dy (@) (1- V) ) r(8) = 7(D)y(W)(1- Y2 ) e
y (T = (V) (@) (W+ v+ s ) 70T = 7 () (W) (t7+ 7+ 5L ) |
Viwlwwybu oquftiny (1.8- 29)-hg L (1.8- 32)-hg tkilip W mnhn L hwljwnhp wpwqnipyniGGtph hwdwp
JunwGubp.
r(@) = r(@r(@)(1-o ) ) r(W) = 7(W)r(0)(1-o ) e
y (@ = 7 (D) (@)(T+ 7+ 572 ) y (@) = (V) (0)(T+ 7+ s ) |

Gqpuywgnipymb 1.8 - (1.8- 15)-ny L (1.8- 17)-ny mnpyud dhunpnfunipjwul hujuwuwpnidGhpp huwGnguowGond
bl plkpghwy hwdwlwpgbph (wlywpd jwd pupdyng) L guulg hwybpugpld wigmungupdyuw o hGepghuy hwdwlupgbph
Juwdwlwlumwmuowhl wnwlgpwpybph dhol bnwo <wyhuwlwl dhunpnfunipyud hwjuuwpmdGhpp: buly
(1.8-25)-ny, (1.8—-26)-ny/, (1.8-27)-ny & (1.8—- 28)-ny uipjuio dlaunpnfumpul hujuunwpnifGbpp hwlnpuwlnnf GG
bnplm puwpding hlGbpghuwy hwdwlwpgbph dwdwGuwluumupuwowhG wnwlgpwpybph dhol: bnwo <wjhwluwl
hwpuwpbpuwlwlnippul hunnnly mbunipywl nighn L hwlunupd dlunhnfunipyul hujuwanwpmdGhph snpu
mwppbpwlGhpn:
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- Qwpwpbpwyuwlnipjub <piGunpniyph Oqumugnponuip

dwudwlwluunwpuonipjul Uhowlwph <wpydwl {wdiwp

Upntl dtklp wuby EhGp U hGywbu nu htnlnd £ Gub (1.8 - 25)-n npdwo {wjjuyul hwpwpbpwwlnipjuG
hwwnni mbunipjul dLwhnfunipjuG hwjwuwnpniudlbphg, dkq WGnud L npnpty dhwjyl y(V) L y(V) qnpowlhgGtpn:
Qnw hwdwp vk wiquy bu dklp whwp L oquytilp (1 - £)-nd mpdwd hhulGwnpnyypGtinhg, hptGg wikGww)l
nlngpynuiny:

‘Lwfu oquuytilp (1 - £)-ny mpywd tpypnpny hhiGunpnyphg, hwiwdw)l nph dwdwGuyp pninp hGpghwy

hwdwuwngbtipnid «hnunwi» £ dhllnyG mhhqhpuul hwunmwwnnitG € wpwgnipjudp L Ghipgpuyblp dwdwlGuyh
Ytpwguwwb vh wnwlgp, npp niGh tpupnipjul swihnqujwbnipiniG, mynyuo k ghiyh wyuqub L npp mwpwonipjub
X wnwlgph htnn Juquinid L judwjwywl wiyjnil, juugwo t S b g hwumwwnn b dtompjniGGtphg: {twmlwpwp wyn
(inp dwiwlwywitwi wnwlgph wnwlgpwpytpp L npuig nhpptiptighuybtipp K' L K mnhn b hwwnhp hGipghwy
hwdwuwngbipnid dklp Junpnn Gap wpmwhwjnt) dwdwlwyh dhongny htimlgyuwy Yhpy.

! !
R) L R) ninhn hGipghw) hwiwlwnpgqbpnud (}Z L R hwlwnhnp hGpghw; hwiwwpgbipnid
Xp = et W dxy = cdt - Ko = ¢t W dxy = edt 1.9-1
?o = CT) d?o = Cd? Yo = CT d?o = CdT
Oquuqnpotyny (1.9- 1)-ny mpywo GulGwyniGhpp (1.8-25)-ny L (1.8- 26)-ny mpywo {wjjuljwl ninhn b
hwjuwnunpd dbwhnfunipjuG hwjwuwpnidGhph dte, dklp npulp Jupnn tGp qpbp htnlywy Yhpy.

!
1. Qwyjwlwl dhunpnfumpyul hwyjwuwpmdGbpn R) L R) nighn hGbpghwy hwdwlwpgbph dhol

Mnhn dLwthnfumpyniGGtn Lwlyunupd dbwthnfunipyniGGtp
?8:7<V)[<1+31>?0+gv?] ?ozy(V)[(1+si>?o+gv?] 192
L
% =y (7)(3- L) %=1 (@) (X - E%)
2. Swylwlwl dhunpnfumpjul hwduwowpnidGepn R, 1/ R hwlpunhp plbpghwy hwdwlupgbiph dhgl
Minhn dLwthnfunipyniGGtip Jwlwnupé dlwthnfunipyniGGtp
%o =7(¥) (Yo ~g¥ Y) ) %o =7(V) (75 - 9%7’) 1.9-3
- y(V)[(1+s—)Y+ v?g] Y:y(V)[(us%)Y#%%]

Liwlwybu (1.9- 1)-n mpJwo GQulwynmiGtpp oquwgnpotiny (1.8- 27)-ny L (1. 8- 28)-ny mipJud {wjjulw
dLwthnfumpjul hwjwuwpnuiGlph vk, dklp npulp Yunpnn tlp qpt) hmlyuwy Yhpy.

!
3. {wyjwlhwl dLhunpnfunipyul hujwuwpnidGhpp K hwlunghp L K niphn plbpghuwy hwdwlwpgliph dhgl

o = y(v)[yo ; <s+ g%)?] ) Ko = y(V)[?g + (s+ g%)?’] .
8 = (@)(%-T) - (DX - )
4. Suylpwlpuat dtapnpunipy huwowpnadtpp K- npy b R hunpp pltpghey hadwlupgtph dho
%o =y (D{(1+s¥ )0+ [s+ -0 L |5} ) %o =y (D{(1+sE )0+ [s+ @ -0 ¥ |7} s

= —y(V)[<1+s—>Y+ v?g] = —y(V)[(1+S—>7 + VYo]
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Ujdd K' L K ninhn L hwwnhp hGipghw hwiwlupgtph wbuwGlyjniGhg nghnwpytlp b Gupugpklp Gpynt
quiwyjwiwl 727 L 7 wwuwhwplbp, npnip nGh6 htnlyw dwiwlwunwpwow hl wnwlgpwpybtpn:

!
&  Nuwumwhwplbph wnwlgpuwpybpn R b R nuyfig plbpghuwy hwdwlupgbpnid

7, wwwwhwph wnwigpwpytpp 7, wwwnwhwph wnwigpwpytpp
! !
K hGbpghwy hwiwlupgnd = (?Qo,?;) K hGbpghwy hwiwlupgnd = (?;o,?;) 1.9-6
K hGtipghw) hwdwjupgmd = (?10,?1> K hGipghw) hwdwyjupgmd = (?20,?2>

!
&  Nuwumwhwplbph wnwlgpuwpybpn R b R hwlunhn hlbpghwy hwdwlwnpgbpnd

7, wwwwhwph wnwigpwpytpp 7, wuwwnwhwph wnwigpwpytpp
! !
K hGbpghwy hwiwlupgnd = (Y/lo,?/l) K hGhpghwy hwiwlupgnd = (YQO,Y;) 1.9-7
K hGtipghw) hwdwjupgnd = (Ylo,Y1> K hGipghw) hwdwjupgmd = (Yzo,Y2>

Gpynt 71 L N wwwwhwnplbph (1.9- 7)-ng mpywo hwwnhp wewlgpwpytipp wpnwhwjnyjwd (1.9- 6)-ny
unpywo mnhn wnwlgpwpybpny, hwiwdw)G (1.8— 15)-h, YniGtGw htinlyw) wnlsnipymGGtpnp:

! !
& K 4R plbpghuy hudwlupgbph dhel

7, wuwwmwhwph hwdiwp 7, wwwmwhwph hwdwn
Y;.O = ?;.0 + S?;I_ L Y’zg = ?’20 + S?/z 1.9-8
& - %, & = %,

& K o R phtpghuy huswlwpglph upol

7, wuwwmwhwph hwdiwp 7, wuwwnwhwph hwdwn
Ylg = ?10 + S?l L Yzo = ?20 + 5?2 1.9-9
X1 =-%X1 X2 = X

hGyytiu Gwl wyny Gy Gpynt 77 L 7 wuwwwhwplbph dwdwlwyh L mwpwonipjul wnwlgpwpytph
wwppbpnipyniGlpp K' L K niphn W hwwnhp hGipghw) hwiwwpqpnd GpuGuytlp htnbgw) Yhpw:

!
e K 1 K nighn hlbpghwy hwdwlwpgbpnf

7, L 1, wuwnwhwnpltph wnwigpwpytinh mwppbpnipjniGGtpp

K hGtpghw hwiwlwupgnid = R0 — R0 = Ro = t L Xo-Rp =% 1.9-10
K hGtpghw) hwiwwnpgnid = Rop—X1g = Xo = ct L RX—R1 =X

!
& K 1 K hwlwnpp hlbpgphuwy huswlupgbpnus

7, L 1, wuwnwhwpltph wnwigpwpytinh mwppbipnipjniGGtpp

I3 hGtpghw; hwiwlupgnid = Koo — K10 = Ko = ct L Ko-Kp =K 1.9-11
K hGtpghw hwdwupgnid = K20 - K10 = Ko = €t L X2-%1=¥X
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(1.9-10)-ny L (1.9- 11)-ny mpywo tpyme 74 L 7> wwwmwhwplhph ninhn b hwwnhp wnwigpwpytiph
wnwppipnipjul Yuyp, hwdwdw)G (1.9- 8)-h L (1.9- 9)-h mipjwo tG unnple.

&K u K habpghwy hwswywpgtph dhol K u K hibtpghw hwdwywngtph thel
Ko = Xo+ X' - Ko = Ro+S% 1.9-12
% =X % =-X

UwhdwGnmd 1-3 - &pim K' L K nmgpn L hwlwnpp pGbpghwy budwwpgbpnif (1.9- 6)-ny L (1.9- 7)-ny
wpywo bplm wuwuwhwplbph dhol bywo dwdwlwljuwuupuowhl «hbpunnpmpiniGpy, npp Jwfugwo b dpuwgl
Juwdwlwh L vupwompul wnwlgpwpybphg, dhlp QuljuGhbGp dhowlwp L jiwlulblp wil <wjjulwld «b»
unwnny, npp hwdwdwyG (1.9—- 10)-ny L (1.9- 11)-ny ipywo GrwluwlmdGhph, wdbGuplnphwling puwnwyniow il
wpumwhwpnmpudp jnGabw hinnljwy mbupp.

L 2 R, v K nighny hlbpghuwy hwdwlwpgbpnf
R hwiwyupgns = 2 = F(R- -x;o)z + AR~ R30) (R2 - %1) + B(R2 - y;)z = FRZ+ AR +BR? >0
K hwdwtupgnt = & = F(Rz-R10) "+ ARz~ R10) (Ro = R1) + B(R2 ~ R1)* = FR§ + ARGR + BR” > 0

1.9-13

* ‘}Z, b R hwlwnhn hGepghwy hwdwilwnpgbpnd
K hutwupgns = &% = F(o— %10) "+ A(%k0— K1) (K2 K1) + B(X5~ K1) = FXG + AR +BK” > 0
K hwtwlupgns = & = F(Ra0~K10)” + A(Xz0— %10) (X2~ %1) + B(K2 - X1)” = X + AXoX + BX” > 0

1.9-14

Npuntn A, B L F gnpowyhgGtpp dudwluwuwunwpuwonipjub dhowjwjpp pnipugpnn hwumwwnntG
dtonipymGGtp GG L pGuluGwpup yuugwo shl hwpuptpuwl wpuwgmpyniGltphg: Uju Gnp gnpowlhgGtipp dklp
(inijGutiu whwp L npnptilp, wpnwhwjymbtinyg npulp dwiwlwlumnmupuonpjul tppuyuthwlul junniguopn
plnpwgpnn L dkq wpntil juy hwynmGh S L g hwuwmwwnniG dhonipyniGhGbpny:

CGnqomd 1-23 - Ubp wunnhbpugdwdp, bplnn wunnwhwpGbph digl bpuwo L (1.9— 13)-ny L (1.9- 14)-ny
wnywo pununivughG wpumuwhw mnpniGp dfpm wlnp b jhlGh gnulpul dGompyni G, npnhlnl wyl hulghuwlnid F
bplsunh dwdwlwunmupuonipyul ke bplnt flinbph dhol bnuwo hbnun/npnipjul punwlniuhl: buly wibih Upp
hbumwgmnnnGhpn pnn pwpniGuifbld L muglbl dbp pug pnquothpn plnpniGhing np Jbpnhfipjuy punwlniuughl
wpunwhuwyunipynilp uwpng (haly Guwl puguwuwlwl dbompimil:

K’ L K mnhn L hwunhp hGipghw hwdwlupgbph whuwyjniGhg, tpynt umwhwplbph dhol tnud,
(1.9-13)-ny L (1.9- 14)-ny mpwd showlwptph pwnwyniupl, hwdwdwyl (1 - £)-n mpgud wnwohG hhdGwnpnyph'
hwpwptpwywinipjwl uygpniGph (ntu Gub 1.3 pwdhGp), GniyGubiu yhwp b (hGbp Gny6 $PmGyghwb, yuiugwo dhuyl
hGtpghw hwdwywpgtiph hpwp Gundwdp niGbguwo hwiwwywunwufuwl hwpwpbpuywl wpwenpniGltphg: Pwyg,
pw(h np dhowlwyph ywpwqujynid, pun vwhdwldwd, wjl juugwo st hwpwpbpuywl wpwgnipyniGGtphg, wyp wyn
PhqhyuyuG dtonpyniGp’ showlw)pp, Juiugwd £ dhw)l wwumwhwplbph dwdwlwjuunwpuwowjhl wnwigpwpytphg,
httmlwpwp showlwjph pninp snpu E/ , El s T U & utkionipynilGtpp whwp k (hGEG hpwp hwdwuwp: WyuhGpl tpynt
Juiwjwiwl yuwunwhwpltph dhol inuwo dwdwlwjuwmwpwowjhl htinwynpnipjniGp pninp hGipghw; hwdwluwpgqbpnid
(ninhn pt hwwnhp) hwunmwmmG SEonpyniG t, npp dGGp YGrwhwyblp shwjl «bn-ny L w)yl SwpbiwwmhynptG
Jupuwhwjnyh wjuybu.

L =L =k =L =& 1.9-15

Ujuyhuny tipynt wwwmwhwpGtph dhol tinud dhowlwjph punwyniuhl, hwiwdw)l (1.9- 13)-ny L (1.9- 14)-ny
upjwd pwlwdlbph, pninp ninhn L hwwnhp hGipghw) hwiwwpgbpnd yniGhGuw htnbjw) pwnwyniuwjhG ntupp.

#2 = FRZ + AR + BR? = FX3 + AXoX + BX? = FX¢ + AX,X + BX? = FX5 + AXoX + BX> > 0 1.9-16
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(1.9-16)-ny nnJwo vhowwjph pwnwyniunt wpmwhwjmnipjnihg wnwldGugGtGp htwmlyw) wnGsnipyniGp.
2 = FX5+ AXoX + BX® = FX5 + AXoX + BX® > 0 1.9-17

(1.9-17)-h dtp mbinunptiny (YO,Y) hwlywnhp wnwlgpwpytiph wpmwhwjmmpyniGatpp (1.9-12)-hg L
Juwnuwntiiny gnponnnipjniGGtn, hGyuybu Gwl hpwp hwjwuwptglGhny (?S)-p, (70Y) -hl (Y2>-11 qnpowlyhgltipnp, vklp
Juunwlwlp A wGhwjn qnpowlgh wpdbtpp.
A=Fs 1.9-18

UjGmhbtwnl (1.9-2)-ny L (1.9- 3)-nd mpjuo {wjjuwlul ninhn duuhnfunipjul hwjwuwpnuiGhph vk Yhpunting
(1.9-6)-ny L (1.9- 7)-nd mpuo tipynt ywwwhwpltiph wowlgpwpytipp, hGywbu Gul Yhpwnting (1.9- 10)-ny L
(1.9-11)-ny nipJwo vhlbnyyG Gpynt wyuwwnwhwplbph wewlgpwpytph wwppbpnipyniGGtipp, dtap Junwlwlp unyjwy
wwwwhwplbph wnwgpwpytiph mwppbpnipjul ninhn dbwthnfunipyniGGtpp, mnhn L hwlwunhp hGipghuyg
hwiwluwnpgbpnid.

& Uhuwyl myfn pilpghwy hwdwupgbp dfiol
Ro = Rao= X0 = r (D[ (1+5% ) (Reo=Fa0) + 9L (Re=%0) | = v (D[ (1+5% ) R0+ 0¥ 2 |

% == = (D] (Re= %) - F (o= %0) | = v (W) (- T0)

1.9-19

& Uhuwyl hwlwghp flpghwy hwdwlwpgbph dfipl
Ko = K20~ K10 = 1 (V)| (Ra0=K0) - 0L (T2~ %) | = 7(¥) (R0 -0 LX)
< = Y/z —7,1 = y(V)l:(l-ﬁ- S%)(Yz —Yl) + %(Yzo —710> ] = y(V)l:(l-ﬁ- S%>Y + %YO]

1.9-20

Liwlwytu (1.9-4)-nJ L (1.9-5)-nd mpjwo {uyuyul duwhnfumpjwl hwjwuwpnuiGtph g9 Yhpwnting
(1.9-6)-ny L (1.9- 7)-nd mpuo tipynt ywwwhwpltiph wowlgpwpytipp, hGywbu Gul Yhpwnting (1.9- 10)-ny L
(1.9-11)-ny nipJwo vhllnyyG Gpynt wyuwwnwhwplbph wewlgpwpytph wiwppbpnipyniGGtipp, dtap Junwlwlp unyjwy
wwwwhwplbph wnwlgpwpytiph mwppbpnipjul htnmbyw) dlwthnfumpjul hwjwuwpnuiGhpp.

& Swlhwnhp L myhng hGhpghwy hwdwlwpgbph dhol
Ko = r(¥) [?o + <s+ g%)?]
& = ()(%- T

1.9-21

& [ighn L hwlwghp hGEpghwy hwdwlwpgbph dhol
R = y(V){(h— SE>Y0 + [s+ (s?- 9)% ]Y}
= _y<V)[<1+ s—)? + v?g]

1.9-22

buy wydd (1.9- 16)-ny mpJwo showlwyph wpmwhwjmnipjnilGhg wnwGdGuglitlp htnlyw) wnlsnipymbp.

12 = FXE + AXpX +BX? = FX5+ AXoX +BX? > 0 1.9-23
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(1.9-19)-ny mpjwo (7,0,?0 wnwgpwpytiph dlwhnfunipjwl wpmwhwjnnipjmGatpp mbtnunpting (1.9- 23)-h
b9 L unwgywo hwjuwuwnpdwb dt9 hpwp hwjwuwptglbny (?S)-p, (70Y) -hl (Y2>-11 qnpowlyhgltipp, hGywtu Gul
wyjn qnpowyhgGtpp qptiny pun v ninhn hwpwpbpwywl wpwgnipjuwl wumhdwlwgniygh wadw@, dhlp funwGwlp
htimlyw] hwyjwuwpndGtph hwdwlwpgp.

1) 2D Frers-AL s Fe-ns+B) L | F
) y2(V)| F+(2Fs—A)& + (Fs* - As+ )= |
v v’
2) y2(V)| A+ (2Fg+As—2B) + (2Fs—A)g-Y- | = A 1.9-24
C
2
3) y2(V) (B +AgY + ng%> -B
(1.9-24)-ny Gt mbtnunptiny (1.9- 18)-ny mpywo A gqnpowlgh wpdbpp, vhlp Yumwlulp.
2
1) y2(V) (F +FsY 4 B%) -F

2) yz(V)[Fs+ (2Fg+Fs? - 2B) L + Fsgv—z} =Fs 1.9-25
C c2 '

3) r2(V) (B+ Fg Y + ngz—zz) -B

UjGnithtinl hpwp ypw pwdwlbny (1.9 - 25)-ny mpjwo hwjwuwpnuiGtph hwiwuwpgh judwjwyuwb tpynt
hwjwuwpnuiGlipp L pbiptiing w6 pghwlnip hwymwpwph, hGyytu Gub hpwp hwjwuwnpbgGbiing v hwpwpbpuywb
wnuwqnipjuwl dhulnyyl wunhGwlwgniygh qnpowlhgltipp, dklp Junwlwlp B wlhwjn gnpowygh wpdtpp.

1926
(1.9- 26)-ny npnpywo B qnpowlgh wpdbpp mbinunptinyg (1. 9- 25)-4 wpgwo hwjwuwnpnuiGtiph hwdwlwpgh
npult hwjwuwpdwG vk, dtlip Junwlwlp y2<7) qnpowlygh wpnwhwjnnipyniGn.

y2<V) - 1 >0 1.9-27
1+sv v’

CARr

(1.9- 27)-ny npnpwid y2<7)-11 wpumwhwjmnipyniGp mbnunptny (1.8- 21)-ny npJwd d(V) npnphgh
wpunwhwjmnipjuw ke, hGywbtu Gul yaphhptny (1.8- 20)-p, vtlp Yuwmwlwip.

d(9) = d(¥) = 1] 1.9-28

CGnqomd 1-24 - (1.9- 28)-h wpnyniliphg hinnlnnd F np, hunfwdwyl (1. 1- 20)-h, wwququidtn weihly pllipghusy

hwdwluwpgbph hwpwpbpuwlw( pwpddwl <uylwlwl dhunhnfumpywl hujuwuwpnmdGhpn hwlnghuwlmd 56 gl
dlunpnfumpniGGhEp.

(1.9-28)-p Yhpwntiny (1.8- 21)-h tpypnpy hwjwuwpdwb dte dhlp Junwlwlp y2<V) -h wpmwhwjnnmpnibp.

y2<V> = ﬁ >0 1.9-29
l+s¢ +g?

buy, hwiwadwyG (1.3- 11)-h, pwGh np ¥y gqnpowlhhgllipp whwp k hGGGE npujwl deonipynil, htmlaupwp
(1.9-27)-hg L (1.9- 29)-hg uklp YtpgGuwlwbwybtu {wjjuul ¥y qnpowlhgltnh hwdiwp junwGwlp htinlywg
pwlwdlbipp, npnlp Loptlgh quidw gnpowlghg mwppbpwytint hwiwp wjunthtimb dklp w6 thpn Joquuugnpotlp
«» unnphl gnighyny.

7(¥) = ———L—— >0
1+s¥+g%
1.9-30
?’<<v> = ﬁ >0
l+ST+g?
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UjGmhbtwnl (1.9- 28)-ny mpywo npnphyGtph wpdtpGtpp mtnunptyny (1. 8- 22)-h kg, dkilip Yumwiwlp
wnlynpyniGGtp, npnGp dhpw GG hGyybtu fudwyjwlub VuV ninhn L hwjunhp hwpwpbpwlwl wpugnipjuG hwdwn,
(injGutiu L dhpw b6 pwpdynn thnpdGulwb dwulGhyh juiwjulwi W ninhn L hwunhp wpugnipyul hwdwp.

y (W) = B(W) = yi(v"v)(lﬂus%) >0
v (@) = B(W) = h(‘w)(us%) >0

1.9-31

‘Liwlwybu (1.9- 28)-ny wpjwd npn2hsGhiph wpdtplGtpp mbtnunptinyg (1. 8- 23)-h dtg, dtlp Junwlwlp htwmljuy
wnlsmpjniGp, npp hwdwdw)G (pGnqond 1-12)-h, Ghyw t hGsytu judwjuul V hwpwptpuwl wpugnipjwl hwdwn,
GnijGutiu L Qwpdynn thnpdGulwb dwubGhyh uiwjulwli W wpugnipjul hwdwn.

| y. (W)W = —y<(V"V)V"V| 1.9-32

Luwbh np (1.9-27)-ny L (1.9- 29)-ny mpjuo yi(V)-h N yi(V)-h wnpuwhwjnnipyniGGtpp nppujwa

UkonpyniGGtp GG, htnbwpwnp hwiwdw)G (1.8- 24)-h, juiwjuwld W ninhn L hwwnhp wpugnipywl hwdwp wmtinh
nilbl htwnlyw) wnGsnipyniGGhpn.

1+s%>0 1+s%>0
N L 1.9-33

2 2
1+s"é’+g%>0 1+s%+g%>0

(1.9- 33)-ny npJwo wihwjwuwnpnipyniGGtph hwiwupgbph wewehG wihwywuwpnipjuwl gnynipjnilhg plund
(Gwl htimbyw) wGhwjwuwnpnipjniGp, nph wihpudb)mnipymbp dklp Yqqulp htmwqujnid.

ﬁ>%>o Cd_t’+%§j?>0 19-34
= 9-
>0 cd‘t_+%de>O

N

o
\Y

NI

Chnqonud 1-25 - &pt (1.9- 19)-nyf wpyjud (?g,?’) ughy wpwlgpupybph dlauhnfunipyul hunjwuwpnsGhph
hnfuwnpbl oquuugnpoblp (1.9- 20)-ny fwd (1.9- 21)-ny L [wd by (1.9- 22)-ny mpjud wmnwlgpwpybph
dlunhnfumpyul hwjuuwpnidGepn L gpuulp mbnunpblp (1.9- 16)-ny mpywd dhowlwph hudwwwuwafuw G
wnlsmpul vko, wuyw yklp GnyyGybu uumuGulp (1.9- 30)-ny wmpjwo pubudlbpn:

(1.9-18)-ny L (1.9- 26)-ny mpJwd A L B gnpowlyhgGtph wpdtplGtpp mtnunptinyg (1. 9- 16)-ny wpjwo
wnpnwhwjnnipjub vk, vkbp thowlwjph pwnwlniunt hwiwn funwlwlp htnbjw) pulGuwdlp.

B = F(?g +sXoX + g?'2> = F(?S +sXoX + g?z) = F(YBZ + XK + ng2) = F(YS +sXoX + gY2> >0 1.9-35

(1.9- 35)-ny npJwo vhowlwjph pwnwyniunt puwGwdltipp gpyud nhdptiptiGghwiGiph mtupny, YhGka.

de? = F((dRs +sd¥odX +gdX*) = F(d¥g + sdXodX + gdx”) > 0

a2 = F(0%E + siXo0% + g ?) = F(dKh + sdXodX + gox”) > 0 1.9-36

Ujdd tpunpblp, np P thnpdGuwlywl swuGhyp K' ninhn L hwwnhp hGpghw hwiwwpgbph Gumdudp
wnpdynud £ hwiwwywwnwufuwlGwpwp duu wnpwqnmpniGGtpny, hul Gniy6 thnpdGuyul dwubhyp K nminhn L
hwluwnhp hGapghw hwiwlwpgbinh Guundwdp pwpdynd L hwiwyuwnwufuwGupun wWLWw wnpwqmpjniGGtpny:
UjGmhbtwnml ytphhptiny (1.8- 3)-ny L (1.8- 4)-n uwhiwlywo ninhn L hwlwnhp wpwgnipniGGtph pwlwadlbipp,
hGswtiu Gul (1.9- 1)-ny npdwd GQulwyndGhpp L Yhpwntnyg ngpubp (1.9- 35)-h L (1.9- 36)-h dbte, thnpdGuwlwh
dwulhyh hwipGpug jud judwjulwl wpugnipjniGitipny Jupddw niypnid dklp dhowlwph punwlniunt L npu
nhpdtiptiighwih hwiwn funwlwlp htimbjw] wpmwhwjmnmpniGGtpp.
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&  Onpdlwlhwl dwulhlih huwdplpug pwupddwl nhuypnid

b2=F(l+s%+gtc!—22>(c_t’,)2:F(1+s—+ )(ct) >0
L = F(1+s%+gE—22>(c‘t_,>2 F<1+s— )(CT> >0
& GupdGwlpwi vwulhlh Judwpwlwl pwpdiwl phypnad

dr? = F(l+s%+gtc!—22>(cd_t’,)2 = F<1+s—+ )(cd?) >0
du? = F(1+s%+gE—22>(cd‘t_,> F<1+s— )(cdt) >0

1.9-37

1.9-38

Luwih np, hwdwdw)b (pngonmd 1-12)-h, (1.9-27)-ny L (1.9- 29)-nd mpJwd pwGwdlbipp §hpwn L6 Gubl
Juiwjwywl wpuqmpjwl (mnhn ud hwiwnhp) hwdwn, hbmbwpwn (1.9- 37)-nd mpdwd pulGudlh dbe
hwywuwpiwl wikwéwhu ynndip® (&2), npuiwl skompyniG k, hul we Yynnih pninp wpwmwnphsGpp, pugwenipjudp F
gqnpowyghg, GnyylGuytiu ngpuul dtonipyniGatp GG L hbnbwpwnp ngpuyul dkonipyniG wtwp t 1hGh Gwlk F gqnpowlhgp:
Pwgh npwlhg, pwlh np F gnpowyhgn ng h nbp sh juumwpnd showluwjph pwnwyniunt pwlwdlbtph dte, dhlp wnwig
pGnhwlpnipynilp YnpgGhynt, Jupnn blp wquuyty npuGhg plnmGtny.

F=+1 1.9-39

F-h wpdtipp (1.9- 39)-hg mtinunptiny (1.9- 35)-ny mpdwo vhowlwjph pwnwlniunt pwlGwakh vk, hGywhu Gul
oquiytiny (1.9- 1)-h GpwGwynuiGtphg, dtGp YtipgGuwjwliwuwtu Juunwlwbp.

K = (c_t’,> ’ + s(c_t’,>?/ +gR”% = (c?) g s(c?)? +gX% = (c‘t_,> ’ + s(c‘t_,>Y/ +gx7 = (cT) " s(cT)‘Y +g%>>0| 1.9-40

buy (1.9-40)-ny npJwo vhowlwjph punwyniunt nhpdtptlghwGtinh hwdwp dtlp Yumwbwp.
di? = (cd_t’/)2 + s(cd_t’/)(d?') + g(d?')z = (cd_t’)2 + s(cd?) (d%) +g(dR)* > 0
di? = (cd‘t_/)2 + s(cd‘t_/)(di') + g(dY’)z = (ch)z + s(ch) (d%) +g(d%)* > 0

1.9-41

‘unyylGytu F-h wpdtipp (1.9- 39)-hg mtinunptiny (1.9- 37)-ny L (1.9- 38)-ny wpywd wpmwhwjnnipyntGitph
uti9, hGsytiu Gwl ytphhptny (1.9- 27)-p L (1.9- 29)-p, dtiGp dhowlwjph L hp nhdptiptiGghwih hwiwn Junwlwlp
(Gwl htimlbyw) pwGwdlbpn.

€ Onpdlwlwl dwulhyh hwdplpwg pwpddwl nbupnid

1+s%+gE—22 (c_t’,> = 1+s%+g€"—22 (C?) = /1+s%+gE—; (c‘t_,) = /1+s%+g("2’—22 (cT) >0 1.9-42

&  Onpdlwlhwl dwulbhih qudwpulpd pupddwl phuypnnd

di = /1+s%+g_g—22 (cd_t’,)= /1+s%+gzv—22 (cd_t’)= /1+s%+g1g—22 (cd‘t_/)= 1+s@+g“§’—22 (ch>>O 1.9-43
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1.10 - Pugwpdwl duiwliwyh L Pugupdwl Upugnpjul Uwhdwlnip

L Pugwpdwly Upwugnipjul Quuthnfunipjul {wjwuwpniiGtpp

dJwiwlwyp th funphpnpuynp $hghjuwljwb tplnyp £, nph wnwpluwjuywl pdpninuip pwwn juplnp E §62qphn
$bhahjuul ntunipyniG yuenmgtint hwiwnp: bpwwbu, dwdwlwlh hwujwgnnnipjwl twuhl pdwunwuhpwywi L
YtGuwpwlwywl snintgmdGtpp htiGg 20-pn nuph uyqphl hinfuwphGytghG wytih puwn dwiwGwyh pGniyph Phghyuywb
L pwlwywlwl htnmwgnuniwdp, nph ninnuyh wpnyniGpp hwinhuwgwl dwiwlwyjwunwpwonipjul hwwnniy
hwpwptpuyuwlnpjul L pphwlnip hwpwpbpwlwinipjwl mbunipniGGiph untinonuin:

Uyu pwd@nud dkbp Yuwhdwbblp L YpGGunytlp dhqhywih hwdwp pwwm Yuplnp' paugupdwl dudwbuih
hwulwgnnmpjnilp: Ujlnthtiml oquugnpotiing pwgwpdwly dwiwlwlyh qunuthwpp, yn bhghuwlwl dtonpyniGGtph
hwdwp Lu dtGp JuwhiwGhlp hpklGg hwiwpdtp puwgupdwly dtonipjniGGtpp:

Uwhdwlmd 1-4 - Lwdbh np, hwdwdwyG (1.9— 40)-h, bphm wunnwhwpGbph dhol, bwo dhowlwph
puwnwlniuhl, ponp hGbpghwy hudwlwpgbpmd (mghn pk hwlwghp) hwomunn 6 SEompym G |, hlwmlaupwp wjn
yhwwmnp dhq hnypnof | np dGlp uwpng GGp vwhibw Gl pugupdwl dwdwGulh huulugngnipiniGp, npp GniG6Gw Gny G
dkompyniin pmnp hGkpghuy huwdwlupgbpnud (mghy pb hwlpughp), Lowyl d6lp jowbulblp t-ny: Ujuwghuny
pugupdwly dwdwlwyn UL ip ghppbpblighuyp dblp juwhdwbblp hnlyuy §hpy.

—
T= b

1.10-1
dr = Lda

Oquuytiny (1.9-40)-ny L (1.9- 41)-ny mpywo pwlGwadalbinhg L (1.10- 1)-ny mpgwo vwhdwlnuihg, pugupdwly
dwiwlwyh pwnwlniunt L hp nphdtptighwh hwdwn dklp Junwlwlp htnlyw] wpmwhwjjnnipjnGatpp.

!
* R [/ R nighn hGbpghuwy hwdwlupgbpny

12 = 12b27 t° +sl_t’,?/+gi?/2:_t’2+sl_t’?+gi?2>0
¢ 1.10-2
dr? = c—lzdbz - dt” +sldtdy X r Lax? =dt +sldtdY+g—d?2

!
& K 1 K hwlwnpp hlbpgphuwy huswlupgbpnus

T2=c_12b2=T/2+ % +g 2Y2 ‘_+s%‘t_Y+gc—12Y2>0 103
12 2 2 2 i
dr? = c—lzdlz2 - dt” +s%dt dx’ +gc—12dY - dt +s%de‘>?+gc—12dY

bul thnpdGwluwl dwulhyh hwipGpug Jud juiwjulwl wpugnipyudp pwpddwl nhwptph hwdwp oqunytyny
hwiwywwnwuppwlwpwnp (1.9-42)-ny L (1.9- 43)-ny mpywd pwGwdlbphg, dhlp pwgupdwly dwiwlwyh L hp
nhddtptiighwh hwdwp yunwGwlp Gl htnlyw] wpmwhwjmnipmniGatpp.

&  Onpdlwlhwl dwulhlih hwdplpug pwupddwl nhuypnid

' 2 ' 2 2 2
r:%b=‘t_‘/l+s%+g% :_"/1+s%+g% - ‘/1+s—+gw— ‘/1+s +g— >0 1.10-4

& Onpdlwlwl dwulhyh Judwjulul pupddwd nhuypmd

dr:%db: /1+s%+gE—; (d‘t_,): /1+s%+gg—22 (d_t’,): /1+s%+g("z’—22 (dT)z /1+s%+g€"—22 (d?) 1.10-5
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Chnqond 1-26 - Lwih np vblp uwhiwbbghlp pugupdwl dwidwlwl huwulpugnnnipiiln, npp nGh Gyl
wpdbpp ponp plGbpghuwy hwdwwpgbpmd (mghy pk hwlwghp), wyw wihpudiym Fop dhlslh wydd dbp oquuuqnpdwo
t' Lt dwdwlwlp muppbpblp Gnp Ghpdnioywo pugupdwl dwdwbulpg b guw hwdwp, wunhtnl, 66p w)l
qulywlblp mbnuwlwl dwdwlwl: G hlswhu wpnbl Jblp ghnblp, mbnuwiwl dwdwlwlpn mmuppbn b oy dhwgl hppwnp
Ghunndwdp hwpwpbpulpul pwupddwl Uy quilyng hlbpghuwy hwdwlupgbpnid, wyy wyl mwppbp F Gul mwpuompul
hwybjughl wingnunupdguwo hGEpghwy hwdwlwpgbpmd, hlsp dbGp dwlpwdwul pwpunply Bp (1.8) pudGnud:

UjGnthtnl oquugnpdtny (1. 9- 30)-ny npnpqud <uyuwluwl y gqnpdwlyhglhph pwGwdltpp U L W (ninhn L
hwlwnhp) wpwgnipymGGtph hwdwnp b mbnunptnyg gpuuGp (1. 10- 5)-h dbe, dhlp Junwlwlp pugupdwy L mbinulwb
dwiwlwyh nhddtiptilghwGtiph dhol inwd htimbywy wnbynpmiGatpp.

dr

—

-1 4 -1 g¢ -1 4f-_1 gt 1.10-6
7. (W) 7. (@) 7. (W) 7. (W)

(1.10- 6)-ny mpywo hwjwuwpniihg dklp Jupny tlp vnwlwy Gl himlyw] wnlsnipymGGtpp.

P

G =7 & =r(®
d

=7 (ﬁ) dr T« <W>

o

1.10-7

o
Q
S |"*l;

‘Liwlwwbu (1.10- 6)-hg Yud (1.10- 7)-hg dtlip Jupnn tlp vnww Gul htnljw wnGympjnGGLpp.
_ r: (W) dt _ 7. (W)
e CV_V> . dt’ 7. <ﬁ>

_ 7. (W) dt _ 7. (W)
V<<W> d?, '}Q(ﬁ)

1.10-8

2 o

Gpynt mbuwyh dwdwluybbph qnynipjwl thwuwnmhg htimbmd £ np whwp L gnympyniG mGEGwb Gub Gpint mbuwyh
wnpwqmpnilibp, wpuqugnuiGhp b pnhwipuybu yhwp £ gnynipynil niGhGub tpynt mbuwyh dwdwlGwyhg juujuwoe
Phaqhulub dhompiniGGtp’ mbnuyub L pugupdwl: <tnlwpwp Lwjjuiuwl hwpwpbpuwlnipjul hwunmy
nbtunipjul k9 Jwwn Juplnp £ nwppbipultp L hunwly vwhiwlb ntnujub b pugupdwly bhghulwl dhonipyniGGtpn:
Uyn Gyuunuyny guGjuguo pugupduly bhghjuljub dhonipjul hwiwnp dklp foqumuagnnpotilp «p» unnphG gnighy,
npytiugh mwppbipuytlp pugupdwly phghuljwb dhonipniGatipp hwiwwywmwufuwl nmtnuyuG phghjulub
dtonpjmGGtphg:

Uwhdwimy 1-5 - @npdGulwl dwulhlih wigud dwlwupupbp sunpp punm dhudnp mbnulpul dwdwlulh bGp
GquwluwGEGp mbnuwlwl wmwqgnipyniG, huly thnpd Gwilwl dwuGhih wlguwo dwlwupuphh swihp pom dhadnp pugupdwl
Jwdwbwlh J6lp JulGjulhlp pugupdwl wmuqmpyml: Ldwlwwbu d6lp uwpng Glp vwhidw Gl Gul mbqulpod L
puwgupdwl wmuqugmdlhpp: <Gmlwpwn, hnpd Gulpul dwelGhih npuluwbu hpaphg uwppbp wju Bpln

wpwgmipniGGhpp b wpwqugnidbipp K L K mghn L hwlwnghp pGapghuwy hwdwlwpgbpnid dbGp Guwpng GGp
vwhdwllby L Gpwlwhby hbnlbjuwy japny.

!
* R) L R) nighn hGbpghuwy hwdwlupgbpmy
~
Stnwlwl uwd Gynunnlpul wpuqnipini G = '

Il
¢\|%\
o
=
Il

ol
I
=
=l
o

Stnwlwl wd Uynunnlpul wmuquignid =

AL
~
g 28 2

1.10-9

R
L

LPuwgupdwl] wmugnipinil = ﬁp = =

as
2%
=

LPuwgupdwl] wmuqugntd =

_mCT.l.
Il

4
Q
B
o
N
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!
& K 1 K hwlwnpp hlbpgiuy huswupgbpnus
p

Stnwlwl wd Uynunnlpuwl wmugnipini i

Il
TR
=
=
Il

Sty jwd Uynunnlyul wpuqugnild

U
ot o
I
=k
o
of
I

T

& g 2

Puwgupdwly wpmuqmpini i

U
=)
=

™
|
SRS
=

™
|
=
)
™
I

&8
=

Puwgupdwly wpuwquignid = E
\

g, =

Q.
5

UjGnthtnb pwgupdwy dwiwlGuyh dr nhpdpbptlGghwih wpmwhwjmnipynilp (1. 10— 6)-hg mbtnunptny

(1.10-9)-h L (1.10- 10)-h dt9, hGswtiu Gl oquytiny mtnwlwl wpwqnipyniGltph (1.8- 3)-ny L (1.8- 4)-ny mpJuo

uwhiwnuiGliphg, dlp Junwlwlp pugwpdwl wpwgnipjwl b nnuiuwl wpwgnipjul thol tnuo juuyp K' L K
ninhn L hwlwnhp hGipghw) hwiwwpqtpnid.

K 1 R pibpghw) hwiwyupgbpms = T, =7, (0)T L T, =y, (W)W

R L R hGtpghw hwdwywpgbtipnid = Wp =7 (W)W L W’p =7 (W)W
Uwhiw6ng 1-6 - (1.10- 9)-ny/, (1.10- 10)-ny/ vwhiwbijwd L (1.10— 11)-ny npjind pugupduly

wpnwgnipjniGGbpp ppuwlwlmd hwlphuwlmd GG pugupdwly wpuqmpul mwmuowlul puqugpisGep bplisuwh
JuwdwGwlunwpuompjul dby.: <Gwmlwpwnp, (1.10- 11)-p6 hwdwbdwd, d6lp Jupng Lip vwhdwlly Gul inpd Gulw G

dwulhlih pugupdwl wpwqnippwl pyuhl puqunppsGepn K L K mghg L hwlpanhp pGapghuy hudwwpgbpnnd
hbwnlguy Jhpy.

] !

K L K hGtpghw) hwdwluwpgbpnid - Ug

o y@e v W
— - 0 0 B .
K L K hGtpghw hwiwlwpgbpnid - W, &~k (W)C

O = y<<ﬁ)c

Wy dYO =7 (W)C

Udwl dLyf dhlp Qwpng Elp vwhdwGl Gwl K' L K nghn pGbpghwy hwdwlwpgbph dhol pugupdwl
hwpuwpbpulpu( wpugmpni GGGph pywihl L mwpwowlul punugphsGhpp hbnlyuy §hpy.

=
=
I

Mnhn puguwpdwl hwpwpbpuuwl wpugnipniG

V=7 (Ve . 7y = 7.(V)c
Vo =7 (V)V Vo =7 (V)V

{Jwliwnhp puguwpdwl hwpwpbpuuwl wpugnipyntG

Oquiytiny (1.9- 31)-ny L (1.9- 32)-ny wmpywd Juiwjwwb ninpn L hwiwnhp mbtnuywl wpugnpyniGGiph dthol
qnynipjnil nlGbgnn wnGynipyniGGtphg, hGyybtu Gl oquytiiny Jwpdynn thnpdGulwb dwubhyh Juwd hwpwpbpulub
wpdiwi (1.10-11)-ny, (1.10- 12)-ny L (1.10- 13)-ny mpywd pwgupdwl wpugnipjniGGtph pwjhl L mwpuwowlwb
pwnunnpsGtph vwhdwlniihg, dklp funmwlwlp hwjwnhp pugwpdwl wpuwgqnipniGltph pywjhl L mwpwowlywb

pwnunnpsGtph juwp hwiwywnwufuwb ninhn pugupdwly wpugnipyniGGtph pyujhl b mwupwowwl pwununphsGhph
htin:

¢ Pwgupdwl hupwpbpulwl wpuqmpyul (amgfn L hwlwnhp) pagungphsGiph dhol

T =V + sV,

Ju VY = ¥, + 87,
T, = -V,

!
& Vwulhih pugupdwl wmugnipjwl puqupnfisGeph juup u K flbpghwy hwdwlwpgbph dhgl

K
60 = 10+ st - { U+sU

G, = -1,

ﬂ:
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& Unubhlp pugupdul wpwempyuw pununphyGeph juyp K & K pltpghwy hudwlupgbph dpsl

0 0 50 0
W, = W, + s®, i W, = W, + W,

- -
W, = W, Wy = -,

CGnqomd 1-27 - SwiwduyG (1.2— 1)-p, (1.3— 11)-4, (1.8-8)-h, (1.9- 33)4 L (plngonif 1-12)-h, plswbu Gul
hwidwduwyl (1.10- 9)-pg dplsl (1. 10— 16)-p vwhdwGyjwo L vunugyuwo ponp puludbbph, d6ip wnwlg pnhwlpmppul
nbd dhnulskim lupng Gap panpniGly, np uwdwjwlwl mbnulwl wpuqmipyul L jwdwjwlwl pugupdwl wpugnipju(
pYwhl b mumuowlpul puqugpfisGaph hwdwp nbnh mG66 hbnlywy wwydwlGepn.

= w

W=w>0 W=- <0
1+s%W

0 b 0

W, =wl>0 Wy =wl+sw, >0

Wp =W, >0 W, =-w, <0

Ujdd pugupdul wpugnipjul pyuwjhl L mwpwowuwl pununphsGtph hwiwp wpmwotklp npny httmmwppphnp
pwlwdlbp: Fpw hwdwp oquytiny (1.8- 24)-ny mipdwd pwlwdlhg L (1.10- 11)-nd mpywd pugupdwl wpwgnipjub
nwpwdwuwl pununphsh vwhdiwlnidhg, juiwjwujuwli W wnbtnuijul wpugnipjul hwdiwp dklp fumwlulp htimbyw
pwlwadlp.

2
Wy (W) =—2L _ —1-¢g% -0
7<< >7<< ) 1- b gcz

c2

buly (1.10- 18)-hg htimlnid k£, np pugupdwl wpwgnipjul mwpwowyul pununphsGtpp whwmp b pujupuptl
htimlyw; WwjdwGha.

2
W,
—Ek <1
CZ

UjGnihtnl oquuugnpotiny (1.9-27)-ny L (1.9- 29)-ny mpgwo {wyjulul ¥y qnpowlgh pwnwlniunt
pwlwdlbtpp juiwjuyuli W nbtnuiul wpugnipjul hwdwp, (1.10- 11)-ny L (1.10- 12)-ny mpwd pugupdul
wpwgnipjul nwpwowlwl L pyuwyhl pununphsGiph vwhdwGmdGbpp, hGsybu Gub (1. 10— 19)-ny mpJuo
wlihwjwuwpnipymbp, dtlp <wjjuiul y gqnpowlhglnh hwiwp junwGwlp htinlyw) pwGuwalbpp.

—

W,
1 ) L 1 P
_EST — /\(Wp —-2ts—2L >0

0
V< W>:%WL‘: 1-9- 39— 25T

—

= A(Wy) + Ls%E > 0

0 w2
y (W) = @, = 1—(9—%52)0—‘“ +is—2

(1.10- 20)-h vt dhlp pwnwlniuh wpdwwup GQuluwytghGp A (udipnu) wweny U npp, hwiwdw;)a (1.10- 19)-h,
pwywpuwpnd £ htnlyw) wihwjwuwpmpjwubp.

w2 W,
AW,) = /1—(9—%32)0—;“ > 1|s2 |

Oquiytiny (1.10- 20)-hg vtlip Yupnn tlp npnpt) pugwpdwy wpwgnipjwl ninhn b hwwnhp pyuyhG
pwnunnpsGpp wpnwhwjnywod pugupdwl wpugnipjul mwpwowlwl pwnunppsltpny hbnbgwy Yhpy.

0 W
W, = [A(wp) -1 }c >0

N
‘Wg = |:A(Wp) + %s% i|c >0
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‘L Gytu oquytny (1.10- 11)-hg L (1.10- 20)-hg, dtlp Juiwjwywl mtinuywl wpugnipjul hwdwp L
puguwpdwly wpugmpjuli mwpwowul pununphsh hwdwp unwGwlp htnlywp hnfuwnupéd wnGympniGGtpp.
-

w -
Wp:7<<w>wz _’W — W= W, _ w,
[1+sW 4 gW_ W W
+S¢ +gcz '}’4( ) A(Wp)—%STp
< L <
N
W, = v, (W)t - L w=—tbo W
1+s%+g% L 7:(W) AW,) + 35—¢-

Chnqomd 1-28 - (1.10-21)-ny inpyfwo A gnpowlgh vbe vblp sblp oquuuqnpoly Jhlpnnpuwlpul Grwqpnipimd,
npmifhlnl wyl pun pugupdwly wmugmipjuwl( unumuowlwl pununpfish qnyyq pniGhghw L hbinlaupuwp, hwdwdwyi
(1.10- 16)-p, ulimdf k Gneylip:

Gt ytpouwytin, yudwjywwl v, U b W mtnuiwul wpwgnipjniGGtph hwdwp oquytinyg (1.9-27)-ny L
(1.9-29)-ny mpJwo wjuywl y qnpowlgh pwnwlniunt pwlGwdlbnhg, hGsutu Gul oquuytny (1.10- 11)-ny,
(1.10- 12)-ny L (1.10- 13)-ny mpjwd pugwpdwl wpwgnipniGatph pyuwyhl b nwpuwowul pununphsGiph
uwhdwnwihg, dklp juiwjwlul pugupdwl wpugnipjul punwunphsGtiph hwdwp junwbwlp htnlbywy qlintighly
pwlwadlp.

(@) + s, + g(@,)° = (W) + 0w, + g(W,) = o2

buly (1.8- 33)-h dt9 Yhpwntiny (1.10- 11)-ny, (1.10- 12)-ny L (1.10- 13)-ny uwhiwlywd pugupdwly
wnpwaqnipjniGGtiph pyuwyhl L mwpwowywl pununnphyGtph wpnmwhwymmpnGGatpp, hGywybu Gl Yhpuntnyg
(1.10- 14)-ny L (1.10- 16)-ny mnywo wnbynipymGGtpp, dEGp JunmwGulp pugupdwly wpwqmpymGGtph
wnwppbipnipjul pyuwjhl L mwpwowlwl pwnunppyGtph dbwthnfunipjul hwjwuwpmdGhpn.

0, = (VW + gV, o - (Vo + gv,,)
0, = (VoW - W9, ) @, - 4 (0%, - 609,

‘Liwlwwbu (1.8- 34)-h dto Yhpwntinyg (1.10- 11)-ny, (1.10- 12)-ny L (1.10- 13)-ny vwhiwlywd pugupdwly
wnpwqmpniGGph pyuwjhl b mwpwowlwb pununphyGaph wpmwhwjnmpyniGlbpp, hGywtu Gub Yhpunting
(1.10- 14)-ny L (1.10- 15)-ny mpjwd wnbynipyniGGtpp, dklp YunwGwlp pugupdwly wpuwgnipyniGatph gnidwph
pYwjhl L mwpwowlwl pununphyGtph dluthnfunipjwl hwjwuwpniGhpp.

—o

- (W) -ov, ) w, = (V0 - 9v,0,)
- (MU, +1Y,) W, = 1 (0, + 0,v,)

s =
I

L)
|

UjGnithtnl (1.10- 25)-ny L (1.10- 26)-ny mpdwo ninhn L hwwnhp pwgwpdwy wpwgqnipjnitGGph nwwpptipnipjwG
L gniiwph mwpwdwwl pununphsGaph wpmwhwjmnipniGatph Wk mtnunpbny (1.10- 22)-ng mpJuo pugupdwl
wnpwagnipjw@ ninhn L hwwnhp pywjhG pununppyGtph wpmwhwjmnipniGitpp hwiwywunwuppwlwpwnp V, U L W
wpuwqgnipjntGGiph hwdwn, dkGp mnhn L hwunhp pwgupdwly wpwgnipniGGiph mwpuwdwwl pununphsGaph
wnwpptipnipjwl L gnidwph hwdwnp funwGulp Guwl htnbyw) pwGudélbpp.

{

Uy = AW, — AW,V
Wy = AU, + AUV,

{

Ty = AW, — AW,V
Wy = AU, + AUV,
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Liwlwytu (1.10- 25)-ny L (1.10- 26)-ny mpdwd ninhn b hwwnhp pwgupdwl wpwgnipjniGGtph

wnwppbipnipjul L gnidwph pywjhG pwnunppsGiph wpnwhwymmpyniGGph dte mtnunptny (1. 10— 22)-ny mpjwo
puwguwpdwl wpwgmpjwb ninhn L hwiwnhp pyujhG pununphsGiph wpnwhwjmnipynGGatpp hwiwywnmwufuwGwpunp
V, U L W wpwqgnpjnGGtph hwiwp, hGywtu Gub Yhpwnting (1.10- 27)-nd mpjuwd hwiwwyuwunwufuwl pugupduy

wnpuwqnipjniGGtph mwpwowywl pununphsGbpp, dklp Yunwiwip A gnpowlhglGtph htinlyw) duwhnfunipjwl

pwlwdlbpp.

AUp) = AV)AW,) + (g - +57) v(p:‘évp
AWp) = A(Vp)A(Up) — (99— %SZ) Vz?p

Ujdd npwbugh {wjuwlywl hwpwptpuulnipjul hwnnty mtunpjub (1.8—- 25)-ny L (1.8- 26)-ny wmpywo mnhn L
hwljwnupé dlwthnfunipjul hwjwuwpnuiGtipp wpnwhwjntlp vV, pugwpdwl hwpwpbpuwlwl wpwgnipjudp, wujw
npw hwdwnp wihpwdtyw b np dklp vV hwpwpbpuwl wpwgnipjuw hwdwnp oqugtGp (1.9- 31)-ny, (1.10-17)-ny L

(1.10- 20)-ny wpywd pwlwdlbphg, hGswbu Gul oquytlp (1.10- 13)-ny mpjwd pugupdwl hwpwptpuywh

wpwqnipjwl pununphsGph vwhdwGnuwhg: Uyuwhuny dblp Junwwlp {wjjuwlywl hwpwpbpuwinipjuwl hwnny

wnbunipjul dhwhnfunipjul hwjwuwpniGbpp wpmwhwjnywo pugupdwl hwpwpbpulwl wpugnipjudp:

!
¢  wyhwlwl dlhunpnfumpjul hwjuuwpmdGhpp R L R nipfn plbpghwy hwdwlwnpgliph dhgl

Minhn dLwthnfunipyniGGtip Jwlwnupé dlwthnfunipyniGGtp
T - [A(vp) + %s% }_t’+ g% = [A(vp) - %s% }_t’/ - g%
?/ —| A 1 Vp - _ 1 Vp / -/

= | Avp) - 35 [X-V,t X =| AVp)+ 352 [X +V,t

Y,

!
&  wyhwlwl dlhunpnfumpjul hwjuuwpmdGhpp R L R hwlunghp hlGbpghwy hwdwlwnpgbph diol

inpn dLwthnpunipjmGGtnp {wljwnupd dLwthnfumpyniGlbp
! v — v <« v <! v
t =[A(vp —%ST‘“}—QC—;“Y t=|:A(Vp)+%sTpi|t +o
Y/Z[A(v)+isﬁ}z+v‘t‘ yz[A(v)_isﬁ}yLv‘t"
B 22 C P P 2> C P

Y,

‘Luwb duny dklp Jupnn Glp <ujjuliul hwpwptpuuwlinpjuwl hwnny wtunipjub (1.8- 27)-ny L (1.8- 28)-ny

npjwo dlwthnfunpjwl hwjwuwpnuiGtpp wpnmwhwynty Ve pugwpdwl] hwpwptpwiwl wpugnipjudp:
!
&  wyhwlwl dlhunpnfumpyul hwjuuwpnmdGhpp R L R hbbpghwy hwdwlwnpgbph dhgl
<! V. |- v
T - [A(vp) - %STP} T+ [sA(vp) +(g- %sz)%}%?

2

< - —|:A(Vp) T }y 9,7

*  wglulul dlanpnfunput huguuupnaiitpp K & R pitpghuy husulupgtph dhot
= [A(vp) + %s% }'t" + [sA(vp) —(g- %sz)% }%?’

% = —[A(vp) s 1 }Y’ A
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®  wglulul dlanpnfunipywt huguuupnaiGtpp R L R pltpghuy husulupgtph dhol
T - |:A(vp) + %s% i|T + |:sA(vp) -(g- %sz)% }%Y
1.10-32w
X = —[A(vp) + %s% }Y -Vt

!
&  wyhwlwl dhunpnfumpyul hwjuuwpndGhpp R) b (}Z hbbpghwy hwdwlwnpgbph dhgl

T- [A(vp) ~1s% }T' + [sA(vp) rg- 1) }%Y
1.10-32p
% - —|:A(vp) N }7’ 29,7

CGnqond 1-29 - (1.10-29)-ny & (1.10- 30)-ny wpywo <wyhwiwl hupwpbpuliwlnppul hunnnly mbunipjul
hwlwnunpd dhunpnfumpyul hujuuupmdGbpn J6Gp Jwpng 0p vunuluy nighn éLhunhnfumpjul hwjuwuwpnidGephg
thnfulyny Vp pwgunpdwly hwpwpbpulwl wpuwqmipjul Gwin: Gdwbwwbu (1.10- 31p)-ny L (1. 10— 32p)-ny upyuo
Swylwlpwl hwpupbpuljuGnipywl hunnntly mbumppul dLhunhnfumpyul hwoyuonupndGepp d6lp Quwpng Glp vuwluy
hwdwwyumnwufuwGupuwn (1.10- 31w)-ny L (1. 10— 32w) -ny ipywo dhuanpnfumpyud hwjwuwpmdGhphg GnygGubu
thnfubiiny Vp pwgupdwly hwmupbmulpou G wpwgmipjuwl Grwln: blswhu Gl sdnmwbGuyny poynp pbhuypbpnid fowquiinn
wnwlgpwpybpp nupd G wifuwg L hwluwnwhp' winug wnwlgpupybpn nupd (b fuwquidnp:

Uju pwdGh ytipgmu, npwtiu httmwppphnp ophGuy, pGGwplytlp R) ninhn hGipghw] hwiwlywnpgnid 3 hwunwwnml
wmtnuyuwl wpuwqugnd mGtgnn thnpdGuywl JwuGhyh Qwupddwl hGupwynpnipyniGp: Lwunwnni mbnuywl
wpwqugniiny pwpdiwl nhiypmd, hwiwdw)G (1.8- 3)-h, hnpdGuwywl Swulhyh ntnuywl wpwgnipyniGp YihGh.
w=3at 1.10-33

(1.10- 33)-hg htimlnud t, np thnpdGulwl dwuGhyh mbnuywl wpugqnipyniGp wiytpg dtowlnid £, htnbwpwnp,
hwiwdw)i hwonpy pwdGh (1.11- 81)-h, hwuwmwwn i mnujuwl wpwqugnuing pwupdnd hGuwpwynp t tph
dwiwlwyuwmwpwonpjul S b g hwunmwwnnil gnpowlhgltipp thwdwdwlwl pwjwpwnti htnbyw)] wwjdwGha.

s>0 L g>0 1.10-34

buy tipti dwdwlwyunwpwonpjul Junnigguopp pnipugpnn S b g hwunmwwmnt G gnpowlhgltinhg npuk dtynp
1hGh pwguwuwywb dtonipniG, wyw hwunmwunnit@ mbtnuijul wpwqugnidng wpdnid hGupwynp st:

Ujdu oquuytyny (1.10-11)-ng L (1.10- 12)-ny uwhdwljwo pwlwdlbphg b wjGnbn mbnunpbiny mtnuywl
wpwagnipjul (1.10- 33)-ny mpjwo wpmwhwjnnipjnilp, vhp hwumwumn G mnuijul wpugqugnuiny Jwpdynn
thnpdGwlwl JwuGhyh pwgupdwl wpugnipjub pyuwjhl b mwpwowlwl pwnunnpstph hwdwp unwGuwlp htnbyug
pwlwdlbpp.
~

0
v_)VP = }/<<V_)V>c - 3_)1 32_)2 ¢
t t
‘/l+ST+gT
< 1.10-35

Chnqomd 1-30 - Uklp wylu stlp gubluinmd funpuuy wpwqugnidmy pupdifng hopd Gulwl dwuGhlh punn
wy qupiwlwhmuy hwnmympGGeph vy, npmihbnl gpnuwlp dGlp pwmunnblp dbp hwenpn qpuplphg dbinid, npp pnpy
Gypanywo phGh wqumn wd mdwihl nupmmd qulyng dwuGhih jwd dwuGhilGbph hwdwfudph pwpddwl
hEmwgmndwln (Suylwlwl hupupbpuluGmppaul dpwGhiuw): Uju tinpp ophlGwing dblp wupquybu gullugulp
dhwyl by pl hlspwl pGuluwl cwlwwwphng vunugulp (1. 10— 35)-ny o puGudlp, npp wpnh
hwpuwpbpulwGmpyu i mbumpul puuwgppbpmd «uipu b pbpgnidy woyupupmpudp (wlipuppuwhl hwbquup
QGbEpghuy hwdwlpung b wypl), npmjhbnl s66 QupnpubGnd mwppbpully mbnuilpul L pugupdwl wpuqmpini GG6Epp.:
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1.11 - Qwyyuywl <upwptpuiulinpju Lwwnntly Stunipjwd
Unw(dGwhwwmniy dbypbpn

Jujjuwlywl hwpwptpwuwlimpjuwl hwnmly mtunipjul hhGq wpwldGwhwumnl nhyptpp wpdt hwiquiwinptl
pGGwpyt: Uhw wyn wpwldbGwhwnny nhwyptpp jwuqwo S b g qnpowlhgltph htimbywy wpdtiplnhg.

1) s=0 L g=0

2) s=0 L g=0

3) s+0 L g=0

4) s+ 0 L g=(%s)2

5) s+0 L g=+0, gqt(%s)2

Lwlh np mbnuwiwi L pugupdwl wpwgnipjniGltph vwhdwlGwjhG wpdbpGbpp yuujwo GG
dwiwlwywwmwpwompjnilp pnipwgpnn S L g gnpowyhgltnh wpdtiplGtphg, wyw pGwlywd E np dkp Ytpnljuyg
pnnnp hhGq wnwGdGwhwwnniy nhwptinh hwdwp S L g gnpowlhgGph npnpdwG whpnypltphG hwiwywmwufuwb

gululwlp quit] mbtnuiuwl L pmgupédwy wpwgnipniGGtnh qnynipjul wmhpniypGhpp:

1. Unwohl wnuldGwhunnml nbupn

s=0
g=0
¢ Uyu plyphl hwmml wnlsmpniGGEpnp
Uju wnwldGwhwwmnty nhyph hwdwp, (1.9-30)-h L (1.10- 17)-h k9 mtnunptnyg (1.11- 2)-nd mpywd Sh L
0-h wpdtipGtipp, dklp juiwyjuijuwli W wntnuiul wpugnpjul hwiwp junwlwlp hbnbyw) quwydwGGhpp.

W=w>0

W=-W=-w<0

y<<v_)v> = y<<(v_\l> =y,w)=1>0

&  wybjuyhl whnnunupdywo dhunpnfumppul hwjuuwpnidGbpn
(1.8-15)-ny ywd (1.8- 17)-ny mpywd mwpwowul hwjbkjwjhl winpunupdyuwd {ujjuliub dbwhnunipjul
hwywuwpnudGtph dG9 Yhpwntinyg (1.11- 2)-p L soquugnpotinyg yaiumnpuywa Gpuqpnipynilp, dkGp JunwGuip.

! !

T=7=t T=T=t

. . , =

O =% =x

¢  wpwpbpuwlwl pupddwl dlunhnfumpyul hujuwowpnidGepp
{uiwdwjl wyu wnwGdGwhwnmly ntwph, (1.11-3)-ny L (1.11- 4)-nd mpguo yuwjdwlitpp Yhpunting
(1.8-25)-ny, (1.8-26)-ny, (1.8—27)-ny Juu (1.8- 28)-ny mipJwo {wjjuwlwl hwpwpbpuwywlnipyjul hwwnny
wntuntpjul dlwthnfunipjuwl hwjwuwpnuiGtiph gk, hGswtiu Gub Gnyluybu joqgunugnpotiny Yaiumnpulwb
Gpwqpnipynilp, vklp YunwGwlp Fwihibjh dbwhnfunipjul hwjwuwpnidGhpn.

Minhn dLlwthnfunipyniGGlp Jwlyunupéd dbwthnfunipyniGGtp

t =t W t=t'
X =x-wt X=X +w
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€ UpnwgmpmGabph hwldwl L qnudwpdwd pubudlbpn

buly (1.8-29)-ny L (1.8- 30)-ny mpywo wpwgnipyntGatph gnidwpdwl b hwGdwl puGwdbbpp YhwdpGyata
Qwihibyh wpwgnipynGGtph gnuiwpiwG L hwGiwl pwGwélbph htn hGswbu gniyg L mpjwo unnpla.

W=u+V
1.11-6

u=w-v

& Shywhwl wmuqmpimGGhph qnimipywl wmppnyplGhpn
1117

2. Gplypnpn wnwldGwhunnny nbupn

{ s=0 1.11-8
g+0
& Uyu plyphl hwmntly wnGsmpiGGEpp

Uju wnwGdGwhwwnniy nhwyph hwiwp, pwlhnp S= 0, wwuw (1.8) pwdinid pYuwpyud pnnp
wlhwiwswhnpyniGatpp yepwlnd GG: {bmbwpwp pnjinp hghuyuwl dtonipynilGGtpp dblp Jupnn tlp qptp wnwlg
Jayumnpuwwl GQugpnipjub: Ujuwhuny (1.10- 17)-h dt9 Yhpwoebkiny (1.11- 8)-p, dhlp judwjwlwl wntnuywd
wpwqnipjniGGtpp, hGyuybu Gwl pugupdwl wpuwqnipniGGtph pywjhl L mwpwowub pununphsGhpp Yunpnn GGp
oqunugnndt] wnwlg Yyaiumnpulwl Gugpnipjudp htnbgwy Yhpy.

W=w>0 W=-w<0
Wy =w >0 b W, =w) >0 1.11-9
Wp =W, >0 W, =-w, <0

Uju tpypnpy wowGdGwhwnny nhyph hwdwp, hwdwdaw)a (1.9- 30)-h, (1.9- 33)-h, (1.10- 19)-h, (1.10-20)-h L
(1.11- 9)-h, vtlp <wjyuywl y gqnpowlgh hwiwp Yunwlwlp htmlyw] wpnwhwjnnipnGGtpn.

2
7 (W) = 7 (W) = y(w) = —L— - /1—9% - A(W,) > 0 1.11-10

(1.11- 10)-hg htimlnid k np mbinuyuwl L pugupdwly wpuwgqmpyniGGiph gnynipjul mhpnypltpp dkGp upny tip
npnpti] htimbyw) wihwjwuwnpnipyniGGtphg.

1+gW—22>O W—22>—1
< - < 1.11-11
W, W,

1—gc—§>0 C_§<1

&  uyljuyhl whngmunupdguwo dhunhnfumpyul hwjwuawpnidGbpn
(1.8-15)-ny ywd (1.8- 17)-nd wmpywo mwpwowwl hwytjwyhl winpunupdywd dlwhnfunpjul {wjjulub
hwywuwpnidGhph W9 Yhpwntinyg (1.11- 8)-ny wmpjwd wyujdwbp b soqumugnpotiny Yyunpulwb Gpugpnipjnilp, dtlp
Yuunwlwlp.

= 1.11-12
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&  Jwpnuwpbpulwd pupdiwl Swjhwlwl dlwhnfunipyul hujuwuwpmdGhpn

‘Liwlwytu (1.8- 25)-ny, (1.8-26)-ny, (1.8-27)-ny L (1.8- 28)-ny nipJwd {wjjuywl hwpwpbpwwlnipjub
hwuwunty mbunipjul dlwthnfunipjuG pninp ynpw hwjwuwnpnudGhph dte Yhpwntny (1.11- 8)-ny wmpywd wuwjdwlp L

(injGytiu soqumugnpobny yayunpulwb GpuqpnipjniGp, dhlp Junwlwlp dhllniyG ninhn L hwjunupé
dLwthnfunipjuwl hwywuwpnuiGhpp.

Minhn dLwthnfunipyniGGtip

t = yz(v)(t+gc—v2x)
X' =y, (V)(X—vt)

Juwuwnund dlwthnfumpynGGtp

. t= yi(v)(t’ —gc—"zx/>
X=7y, WX +wt')

1.11-13

bhuy (1.9- 40)-ny wpJwo showlwjph pwnwlniunt hwiwn dtlp Junwlwlp htnbyw] wpnwhwjnnipyniGn.
£ =ct?+gx? =c?+gx> >0 1.11-14
& Shywlhwl wmuqmpimGGEph dhol. nwo wnlGsnipm GGhpp

{Jwiwdwyl (1.8-29)-h, (1.8-30)-h, (1.11-8)-h L (1.11- 9)-h, mtinuiwl wpwgnipniGGtph gniiwpiwd L
hwdwl hwdwp dklp Yunwlulp htinbjw) pwGuwdlbpn.

UpwqnipjniGGbph qnidwpiwl puGualp UpwqnipjniGlGbph hwGdwl pwlGuwdlp
_ _u+v _ _W-V
W = -9 VT L

u= W 1.11-15
o oz

bul] hwiwéwjG (1.8-32)-h, (1.11-9)-h L (1.11- 10)-h, Qwjyjuywl ¥ qnpowyhgllph dLuwhnfunipniGGtph
hwdwp dtlp Junwlwlp htnljw] pwGwdlbpp.

7@ = 7wy w1+ 6% )

1.11-16
rew) = 7w (1-g%)

€ Pwgupdwly wpwqmpniGGaph dhol, bnuwod wnlsmpimGGEpn

Jwdwdwjb (1.10-27)-h L (1.11- 9)-h, pwgwpdwl wpwgnipjniGGiph mwpuwowwl pununphsGiph hwGiwG L
gqnuiwpdwl hwdwp dbbp Junwlwlp htnbyw) pwGwdlbpp.

Up = A(Vp)Wp — AW, )V 1.11-17
Wy = A(Vp)Up + A(Up)Vp

buy hwiwdwjG (1.10—28)-h, (1.11-8)-h L (1.11-9)-h, A gnpowlgh dLwihnfunipjuwl hwiwp vhGp Jumwlwip
htnlyw) pwGwdlbtipp.

VpW,

Al = AVp)AW,) +g=5"
) vl 1.11-18

AWy) = AVp)AU) - 09— 5

Liwlwybu, hwdwdw)G (1.10- 25)-h, (1.10- 26)-h, (1.11- 8)-h L (1.11- 9)-h, juiwjulwl pugupdwly

wnpwqnpjul pununppyGph ninhn L hwuwnupé dbwhnfumpyniGGiph hwdwp dblp Junwlwlp hbnbyug
hwjwuwpnuiGhpp.

Minhn dLbwthnfunipyniGGlp

{wjununpd dbwthnfunipymGGtp

ud = %(vgwg+gvap) . wl = %(vgug—gvpup) 1.11-19
Up = %(vgw12 - wiv,) W, = %(vgup +udvy)

Qwiwduwyl (1.10- 24)-h, (1.11-8)-h L (1.11- 9)-h, pwgwpdwly wpwgnipjniGGtph pywjhl L mwpuwowywb
puwnunnhsGtipp pwjwpwpnid G0 htnbyw dGwynil wnbGynipjwln.

U)? +g(up)? = WQ)? + 9wy )? = ¢2 1.11-20
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bhuy, hwdwdw)G (1.10- 23)-h L (1.11- 10)-h, mbnuiwl L pugupdwly wpuwgqnpniGitph (Wuwpuowywl
pwnuwnnpsGtipnh) thol mtinh niGG htnlyw) wnbsnipmGGtpp.
w = W
Wo
C

N[=TR

1-9

w
W2
e

& Shywlhwd L pugupdwl wmuqmpmGGhph gnimipjwd wmhpnyplbpn
Stnulwi L pugupdwl wpwgnpjniGatph qnynipjul mhpnyplbpp qunGhine hwdwp dkGp Yunpnn Glap oquaytip
(1.11-9)-hg L (1.11- 11)-hg: Uyuwhuny dtlp whwp t nuotilp htnlyw) wihwywuwpnipjniGGph hwiwywnpgn.

1.11-21
W, =

w>0 w, >0
L 2 1.11-22
w2 w
g?>—1 gc—§<1

Luwlh np (1.11- 22)-ny mpywd wlhwywuwpnipyniGatnh hwiwuwpgp ywhudwo t dshwyG g gqnpowlgh npnpdwl
whpnyyphg' Gpwlhg: {Ewmlwpwnp mbnuiwl b pugupdwl wpugnipymGGbph gnynipjuwG whpmypGhpp YihGLG.

w) bph g<o0 wwyw O<W<C[—% L O<w, <o

1.11-23
p) tph g>0 wyw O<w< L O<Wp<c%
3. Gppopnp wnwldGuwhwmnl nhupp
s+0
1.11-24
g=0
& Uyu plyphl hwmntly wnGsmpiGGEpn
(1.8) pwdGnd pyunpywo pnnp wihwdwswihmpymGGtpp L hbnbwpwp Gub pnnp puGudlbpp wywhywynid GG:
Utilip wjuntin YGtpluywugGhbp thwyl wyl puGwalbipp b hwjwuwpmdGhpp, npnlp nilGbl wlyGhwjnm nwpptipnipjniGGtin:
(1.9-30)-ny mpwd quidw gnpowyhglbpp, hwdwdw)a (1.3-11)-h, (1.8-9)-h, (1.9-33)-h L (1.11- 24)-h, wju
wnw(dGwhwwnniy nhyph L juiwjuljuwl mtnuyui W wpugnipjul hwdwp, YihGaa.
- = 1
Ve (W) = > 0
1+s%
< 1.11-25
1 -
(@)= —L = [1:s% 50
1/ 1+ s%
\
(1.11- 25)-ny mpywo quidw gnpowyhgltpp pwuwpwpnid b6 htnbyw) welynipjulp.
re(W)yr.(W)=1>0 1.11-26
Jwdwdwjb (1.2—-1)-h, (1.8-8)-h L (1.9- 33)-h, mtnulywl wpwgnipniGGph hwdiwnp dhlp Junwlwlp htimljug
wihwjwuwnnipynGGhpp.
W=w>0
1+s%W >0
o 1.11-27
W= wW__ W <0
W
1+ s% l1+s¢
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tunlwpwn (1.11- 25)-nd mpud quidw gnpowyhglGtpp wpmwhwjmyjwo ninhn wpwgnipjudp b wnwg
Juyumnpuwwl GQugpnipjudp, hwdwdw)G (1.11- 27)-h, YhGhG.

7<<W> -—=1_

1) - [I5¥

Liwlwwbu (1.10- 21)-ny mpjwo juninu gnpowlgh wpnmwhwjmnipynilp, hwiwdw)G (1.11- 24)-h, Y1hGh.

2
W, W,
N

&  wpwpbpuwlwl pwupddwd <wjhwlwl dhunhnfunipyuld hwjuuwpnidGhpn
(1.8-15)-ny L (1.8-17)-ny mpywo hwjtipuyhl winpunpupdquo dlwthnfunipjul <wjjuwl hwjuwuwpniGipp
UGnud GG GnuyGp, huy (1.8- 25)-ny mpjwd {wjjuywl hwpwpbpwwlnipjuG hwunny wmbunipjwl ninhn L hwwnund
dLwthnfunipjuwl hwjwuwpnuiGhpp, hwdwdw)G (1.9- 31)-h, YplnniGhl htnlyw mtupp.

Minhn dLwthnfunipyniGGtip Juwuwnund dlwhnfumpnGGtp
T =y (9T . =7, (DT
X =y (M(R-7T) X =y (DX -97)

Liwlwytu (1.8- 26)-ny mpjwd {wyuywl hwpwpbpwwlnipjuwG hwunnty] mbunipjuwl ninhn L hwjwnund
dluwthnfunipjuG hwjwuwpnidGhpp, hwdwdw)G (1.9- 31)-h L (1.9- 32)-h, YplnniGtG htnlyw) wmbtupn.

Minhn dLwthnfunipyniGGtip Juwjuwnund dlwthnfumpniGGtp
T =y (T . T= 7. (DT
% =7 (9)(%-¥%) %= 7. (D(X -V7)

buy (1.8- 27)-ny mipqwo {wjjulwl hwpwptpuyuinpyuwl hwnny ntumpjul duwhnunipjwb
hwjwuwpnuiGpp YpGnmGhla hinlyw nbupp.

T =y (V) (T+sdR) ) Ty (D (T +58%)
Y/ =y, (V) (? — v?) Y S <v> (?r B V?/)
Liwlwytu (1.8- 28)-ny wmpjwd {wjjuywl hwpwpbpwwlnipjul hwnnmly mtunpjul dluwhnfumpjwb
hwywuwpnidGhpp, hwiwdw)G (1.9- 31)-h L (1.9- 32)-h, YplnniGuG htnlyw) wmbtupn.

T =y (9)(T+5E%) ) T=r (N(T +s%)
X' = = (V)(K-¥Y) R =1 (MK -77)

<tpw L mbulb) np, (1.11-30)-ny, (1.11- 31)-ny, (1.11-32)-ny L (1.11- 33)-ny mpywd pnnp Lwjjulwlb
dLwthnfunipjwG hwjwuwpnudGtpp, hwdwdw)G (1. 9- 40)-h, pwjwpwpnid GG Showuwyph htimbywy wnlsmpjwbp.

2 / 2 2 / 2
B2=cT +cT X =c2T +0tR =27 + T X =27 +sCTX >0
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& Shywlwl wpmwqnipym GGhph dhol bnwo wnlsmpniGGapp
Stnuywl wpwqmpyniGGph (1.8-29)-ny L (1.8- 30)-ny npJwo gniiwpiwl L hwldwl pwGwaltpp YhGaa.

Minhn wpwgnipjniGGtph hwdwnp Lwlwnhp wpwgnipyniGGiph hwdiwn
W=U+V+S@=Lg W=ﬁ+V+s@=Lg
lse . l+st 1.11-35
T-W+v+s W WV T-wsV+sI0 - WV
1+ s% 1+ s%

(1.11- 35)-ny wmpywd mbnuywl wpwgmpyniGGtph gniiwupdw L hwGdw( puwGwdlbpp shwyl ninhn
wnpwqnipyntGatph hwdwp wowlg yehumnpuul GQugpnipjul, hwiwdwyG (1.11- 27)-h, YhGhG.

w=u+v+s
Uo WV = 1+s%W = 1+sg)a+sd) 1.11-36
1+s¢

bul hwiwdw)G (1.8—32)-h U (1.11- 24)-h, wyuywl y gnpdwyhgGbph dlwhnfunpniGGbph hwdwp dkGp
JuunuwGuwlp htnlyw) pwlwalbtpp yaunpulwb GQugqpnipjudp.

7’<<U> = '}’<<V>'}’<<V_)V> L y<<ﬁ> = 7<<v>7<<w>
7.(W) = y.(Mr. (D) 7:(W) = 7. (V)r. (W)

1.11-37

€  LPuwgwnpdwl wpuwgmpniGGEph dhol bnwo wnlsmpiniGGhpn
(1.10- 27)-ny mpywd pwgupdwl wpwgnipniGaiph mwpwowyuwl pununphsGph hwGiw6 L gnidwpdw i
pwGwdlbpp WGnd GG GnyyGp, puyg (1.10- 28)-ny ipjwo b wju wnwGdGwhwunmy nhiyph hwdwp (1.11- 29)-ny
npnpqwd A gnpdwlhgGbph dlwhnfumipjul puGwdlbpp, hwiwdw)a (1.11- 24)-h, Y1hGhG.
-
A = AAW) - 35200
1.11-38

AWy) = A(Vp)A(Uy) + L2 Vgp

buly (1.10- 25)-ny mpywd puguwpdwl wpwgnipyniGaph mwppbpnipjul pyuyhl b nmwpwowlwl pwnunphyGtph
dLwthnfunipjwl hwyuwuwpnudGhpp YihGaa.

0 0,0 0 00
ﬁp = %prp ﬁp = %vp(v_vp

o o L o o 1.11-39
1, - (0w, -wv,) 6, - 1(vw, - wy,)

Liwlwytu (1.10- 26)-ny mpywd pugupdwl wpugnipyniGitiph gnudwph pyughl b mwpwowlwl pununphyGbph
dLwthnfunipjul hwjuwuwpnudGhpp Y1hGaa.

0 050 0 00
Wp = %vpﬁp Wp = %Vpﬁp

o . L Lo . 1.11-40
W, = (9,0, + TY,) W, = +(V)0, + 0,9,

Pwgwnpdwl wpwgnipjniGGtph pywjhG L mwpwowul pununphsGbpp, hwdwdwjG (1.10- 24)-h, pujwpwpnid GG
htnmlyw) WGwniG wnGynipjwln.

(Wg)z + S, = (Wg)z + S, = (ﬁfj)z +sUT, = (ﬁg)z + 0.0, = c? 1.11-41
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hGswtiu Gul, hwiwdw)G (1.10- 23)-h L (1.11- 28)-h, mbinuiwb L pugupdwl wpwgnpniGibph (uwpuowywl
pwnunnpsGtipnh) thol mtinh niGG htnlyw) wnbsnipmGGtpp.

W= —W 50
1+ s—%“
W 1.11-42
- P
we w0
AWp) — 5S¢
& Shywlhwd L pugupdwl wmuqmpmGGhph qnimipjwd wmhpnyplbpn
Stnuiwi L pugupdwl wpwgnipyniGitph qnynipjuwl whpnyplbpp npn2tnt hwdwp dhlp wtwp £ oqunytlp
(1.11-27)-hg L (1.11- 42)-nd mpjwo pugupdwl wpwgnipjul pwGwdlhg: Uyuyhuny dklp wtwp b niotlp htunlguy
wlhwjwuwpmpjniGGtph hwdwlupgp.
w>0
1+s%¥ >0
1.11-43
W 1 S
wy=—W__ — 1+sW___1 __ 15590
’l + ST ¢ 1+ ST ¢
Yuuqwo S gnpowlgh npnpiwl whpniyphg' Gpwlhg, minuijwi L pugupdwly wpuqmpjniGatpp (wpuowlwl
pwnuwnnpsGtipp) mGhG gnynipjwG htunbywy wmhpnypGhpp.
tipt s<0 O<w<-1c L 0<w, <
w) tp e s P 1.11-44
p) bphk s>0 wuww O<w< o N O<w, <w
4. DOnppnpn wnwldGwhwmml nhupp
s+ 0
1.2 1.11-45
g=(39)
& Uyu plyphl hwmntly wnGsmpiGGEpn
(1.8) pwdGnd pyunpywo pnnp wihwdwswihnipymGatpp L hbnbwpwn Gub pnnp puGudlbpp wju
wnwldGwhwwnmniy nhiyyph hwdwp GnyyGybo ywhyubynd G6G: Awgh wyn, wju wpwldGwhwnny nhwypnd, npnp
pwlwdlbp g = (%S)2 wndtiph nhiypnid wjjwutinynid GG L htnbwpwn dklp wjuntn YakpjuwjwugGhlp dhw)l wyl
pwlwdltipp L hwjwuwpnuiGlpp, npnlp niGh6 wlGhwym mwppbpnipyniGGbp:
Uju wnw(dGwhwwnniy nhiwyph hwdwp, hwiwéw)G (1.10- 21)-h, A qnpowyhgp YniGhGu htinlyw) wpdtpp.
Aw,) =1 htnlwpwp %|S%| <1 1.11-46
buy (1.9- 30)-ny wpquo {wjuwlywl ¥y gqnpowyhgGtipp, hwiwdw)G (1.9- 34)-h, (1.10-20)-h L (1.11- 46)-h,
Jquiwjwlul minuiwli W wpuwgnipjul hwdiwnp YniGlGuG htnbjw) mbupp.
=
7<<W> = % = 1—%5% >0
1+1sW
N 1.11-47
_ 1 _ 1 W
'}/<<W> = 1+isﬂ =1+ ?STP >0
2vC
(1.11- 47)-ny mpywo {wjjuywl ¥y qnpowlhglGtph wpmwhwjmnipniGGtpp, hwiwdw)6 (1.10- 18)-h L
(1.11- 45)-h pwqwpwpnid GG Gwl htwmlyw] wnGynipjuGp.
2 W2
ye(W)y (W) = 1 - 1 =1-(19°7L 1.11-48

2 G by =
1- (39 C—W‘Q’ (1+ %s%)(l + %s%)
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(1.11- 48)-hg utlp YumwlGwlp htnlywy GniyGnipyniGp.

(1+ sﬂ)(1+—s—>fl ( s) 2 7ﬁ>0 1.11-49

&  wpwpbpuwlwl pupddwl <wjhwlwl dhunhnfunipyuld hujuwuwpnidGhpn
(1.8-15)-ny L (1.8-17)-ny mpywo hwjtipuyhl winpunupdquo dlwthnfunipjul <wjjuwl hwjuwuwpniGhpp
UGnud GG GnuyGp, huy (1.8- 25)-ny wmpdwd {wjjuywl hwpwpbpwwlnipjuwG hwunny wmbunipjuwl ninhn L hwwnund
dLuthnfunipjuG hwjwuwpnudGtipp, hwdwdw)G (1.11-45)-h L (1.11- 47)-h, YplngniGEG htnlyw) mbupp.

Minhn dLwhnfumpniGGhp Juwuwnunpd dlwhnfumpnGGtp
T 1 3 [(1+s%>_t’+(%s)212?] ?:ﬁ[(h-sE)t + (19 L c
[«
1+1s¥ 1+ 3s¢ 1.11-50
L
¥ = —L o (x-VY) X —A(¥-vt)
1+ s— 1+ %s%
‘LuwG dLuny YgpytG Gul (1.8-26)-ny, (1.8-27)-ny L (1.8- 28)-ny npJwd {wjjuywl hwpwpbpwwlnipjub
hwwnml mtunipjul djnwu tpkip dlwhnfunipjwl hwjwuwpnuiGepp: UjGnthtnl, hwiwdw)l (1.9-34)-h L (1.11- 45)-h,
utiGp (1.9-40)-ny L (1.9-41)-nd mpjwd dhowlwjph L hp nhdptiptGghwih hwiwn, wyu wnwldGwhwnmny nhypniy,
JuunwGwlp htnlyw) pwlwalbpp.
b= c_t’,+%s?' =cl+1isX = c‘t_,+%sY' =ct+1isx>0
1.11-51
dii = cdt + i’ = cdT + 1R = cdt + Lso% = cdf + Lsd > 0
buy (1.9-42)-ny L (1.9- 43)-ny wmpywd Showlwyph L hp nhpptiptighwih hwdwn, GnyyGuytiu hwiwdw)i
(1.9-34)-h L (1.11- 45)-h, dtlp Yunwlwlp htnlyw) pwGwalbtpp.
—/ w — ! —
= (1+ %s%)(ct ) = (1+ %s%)(ct) = (1+ %s%)(ct ) = ( +1 %)(ct) >0
1.11-52
! - !
d& = (1+ %s%)(cd_t’ ) = (1+ %s%)(cdt) (1+ s—)(ch ) = (1+ %s%)(cd‘f) >0
Oquytiny (1.11-52)-hg, vtbp (1.10- 1)-ny vwhiwljwod pugupdwl dudwlwyh b hp nhdpdtintiGghwh hwdwp
JuunwGwlp htnljw] pwlwalbpp.
r=ds= (1+ %s%)?/ - (1+ %s@) (1+ s—) ( %s%)‘t_ >0
1.11-53
N
dr = %db: (1+% %)d (1+ %s%)d_t’: (1 1 %) dt = (1+ %s%)d‘t_>0
& Shpwlhwl wmuqmpimGGhEph dhole tnwo wnlGsnipm GGhpp
Oquiytny (41 = 21p> -ny L (41 = 21q> -ny Jud <<l - 23p> -nJ L <<l - 23q> -ny mpjwo wnlympyniGGtnhg, hGyutiu
Gwl (1.9- 34)-hg, wju wnwGdGwhwwnnty nhuyph hwdwnp delp unwlwlp htnbyw wnlympmGatpp.
- v o
1+isL (14 LsW
T 2°7TC 2°7C .
1+ EST = > >
1- LSZE
4> "2
< 1.11-54
N (1+ %S%)(l‘l’ %s%)
1. W 1
1+ EST = > >
1- iszﬂ
4> "2
\
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€  LPwguwpdwl wpwgmpin GGEph L mbnuwlwl wmugnipiniGGaph dhol bnuwo welsmpiniGGhEpn

(1.10-11)-ny L (1.10- 12)-ny uwhiwljwo pwgwpdwly wpwqmpjniGitnh pywjhl L mwpuowyub
pwnunphsGtpp, hwiwdw)G (1.11- 47)-h, Y1hGLG.

W=y (We= —C &y (W)e— ¢
= 7e(®) 1+%s@ = 7(W) 1+%s%
N 1.11-55
W, :yi(W)wz% Wy = 7. (W)W = ‘Vl'v =
1+ 35s¢ 1+ 35s¢

Oquiytiny (1.11- 46)-hg, dtlp (1.10- 22)-ny wmpjwd puwguwpdwl wpwgnipjuwl pyuwyhl pununphsGph hwdwp

JuunwGwip.
N
Wy = (1— %s%)c >0
1.11-56
N
Wy = (1+ %s%)c >0
bhuy oquuytiny (1.10- 23)-hg L (1.11- 46)-hg, dtlp Jupnn Llp Juiwjwywl ninhn L hwyunhp mtnuywi

wnpwqnpjniln wpnwhwjnb pugupdwly wpugnipjul nmwpwowwl pununphyny htimlbguwy Yhpy.
-

We—
1 W
< 1.11-57
7= —— "
1+isﬂ
L 25T

(1.10- 27)-ny wmpywd puwguwpdwl wpwgnipyniGGiph mwpwowywl pununphsGiph hwGiw6 L gnuiwupdwG
pwlwdlbpp, hwiwdw)G (1.11- 46)-h, YhGLG.

=W, -V T, = W, - ¥
_’p Wp — Vp L ‘_p P~ Vp 1.11-58
Wy =Ty + Vo W, =0, +V,
bulj oqunytiiny (1.10- 24)-hg Yuu (1.11- 56)-hg, vtlp Juiwjulwl pugupdwly wpwgnipjul pununphyGtph

hwiwp Junwbwlp htnlyw) dGwyntG wnlynipjniln.

W0, lgw &0, 4 _
W, + 10, =W, + 1sW, = ¢

1.11-59
UjGmhbtnml oquytiny (1.11- 51)-ny mpywo showlwjph pwlwdlhg, (1.11- 53)-nY mpjwo pwgupdwl dudwlulyh
pwGwdlhg b (1.11- 55)-hg, dtlp wju wnwldGwhwwumniy ntiyph hwdwp, (1.11- 50)-ng npdwo {wjjuyub
hwpwptpuyuwlmpjwl hwnnty mbunipjub ninhn L hwjuwnwpd dluhnfunipjwl hwjwuwpnuiGtipp Yupnn tlp qpty Gub
htinlyw Yupy.
Minhn dLwthnfumpyniGGtn Jwlyunupéd dbwthnfunipyniGGbp
1V 1V
[ PR cvrzm%s%r i ch;'_%SVCp,
1+%ST . 1+%ST 1.11-60
v A
S SR S S/ S O O S S/
1+1s¥ 1+1sY

Canqomd 1-31 - U wnwldGwhunnly pbyph hwdwp mbpulul L pugupdwl wpwenpniGGEph qninpjuwl

whpnyplhpp (ppy hwdplhGnd BG widkGuplnhwinip nbuyph (hhlqbpnpng wrwldGwhunmly nbuyph) wpwqmpniGGEph
qnmipjwl wmppnyplbph htn L hbnbwpwn dGlp wjl wjunbn sG0p pGGunplh:
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5. <Splqbpnpn wnwldGwhunnntly jwd wdbGwplnhwlnn pbupn

s+0 1.11-61
g=0

Udpnn9 dtip qhppp Gyhpdwo E htlg wju wikGuwplnhwlnp nhiyph hbnmwgnuniwGn: UjGwytu np wyuntn dtlp
hhiGuwlwlnid YpGahGupytbp dhw)l mbnuiwub L pugupdwl wpugnipyniGltph qnynipjwl mhpnyypltph hwpgp:

& Shywhwl wmuqmpimGGhph qnimpywl wmppnyplGhpn
Uhwswith mwpwonipjul db9 mtnuijuwl wpwgnipyniGGtnh qnjnipjwl wmhpnyplbnp npnptint hwdwp, wpwgnipjwl
ninhn Juwd hwlwnhp thGEp fuplnp gk L htnbwpwp wju wdtGuplnhwngp nhwyph hwdwn dtlp Yupnn Glp npnpbg
ntnuiwl wpwgnipyniGGtph gnynipjwl wmhpnyplbpp, juujwo duwiwliwjuunwpwonipjul Junnigywopp plinipugpnn
S L g qnpdwlyhgltnh npnpdwl whpnypGtphg: Wyuwhuny dtlp wtwup b nuotp (1.9- 33)-ny mpywo
wlhwjwuwnpnipyniGGtph hwiwuwpgp judwyuyuwl gpuuG W nmbnuiuwi wpugnipjul hwdwp, hGswbu gnyyg L
nnpywo unnpl.
w>0
w
l+sg >0 1.11-62

2
1+s%+g% >0

(1.11- 62)-ny wpywd wlhwjuwuwpmpiniGGiph hwdwlwpgp dtlp Jupnn Gap qptip Gul hnbywy wntupny.
w>0

W S _
ST> 1

2 12
W, S g_(js)
g(c+zg> +—g >0

1.11-63

(1.11- 63)-h dhwyl wnwehl L tpypnpn wihwjwuwpnipyniGGtphg plunid GG ntnuwiwl wpugnipyniGGtph hnbgwy
qnjnipjwl mhpmypGhpp, juujwo dwdwfujunwpudompjnlp pnipugpnn S gnpowygh npnpdwl whpnyphg®
Gpwlhg.

1) tpt s<0 wuyw 0<W<—%C

1.11-64
2) tph s>0 wwyw O<w< o

Ujdu htmmwgnuitiGp (1.11- 63)-ny wpywd tppnpn wihwyjwuwpnipyniGp, npp g qnpowygh npnpdwl whpnyphg
Juugwo, dtlp Jupnn tlp mpnht) w6 tptp GGpwntwptinh hbnlywy Yhpw.
2
w)  g>(19)
2
p) 0<g<(ds) 1.11-65
Q) g<o0

dhpmotlp (1.11- 65)-nd wmpdwo tlpwntwptphg jnipuwpwbsnipp (1. 11— 64)-h htinn hwiwwntn:

w) Gpp g 2(%8)2 wwuw (1.11- 63)-h tippnpn wihwjwuwpnipjul dwhu Ynnip hujuwbu dhowm YihGh
nprwliui dhonpynilG L hbmbwpup W mbnuwiwl wpugnipyniGp Jupnn b niGblGuw guGiuguo gpuljub
wndtp: UjGnthtnb hwiwwnbntiny wjn gnynipjwl wmhpnyypp (1. 11- 64)-ny mpjwo qnynipjul whpnyph
htin, dtlp wju Gipwntyph hwiwp Junwlwlp ntnuiwi wpugnipjwl htnbyw) qnynipjwl
whpnyplpp:

1) tph g> (%S)2 L s<0 wuyw 0O<w< —%C

1.11-66

2) tpi g=2(39)® L s>0  wgu O0<w<owo
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p) Gpp O<g <(%S)2 www g gnpowyhgn ngpuyjul dkonipyniG t L himbwpwp (1.11- 63)-h tppnpy
wlhwjwuwnpnmpyniGp dklp Jupnn blp qptp hmlgwy Yhpy.

2 (39°-9
W, s %> =9
(C+29> > 7 >0

(1.11- 67)-ny mpywd wihwjwuwpmpjul wpiwwmbGhpp YhGsa.
wi = —%(%s+ /(%s)2 -9 )c
wy = —%(%s— [(%s)2 -g )C

Lwlh np wju kGpwntiyph hwdwp g > 0, htwmlwpwp Wi L Wo wpdwwmbtiph dhol thpwm wntnh niGh himlguyg
wnGympnilp.

Wi < Wo

Ltwmbwpuwp, hwiwdw)G (1.11- 69)-h, wju tGpwntiwyph hwiwp (1.11- 67)-n npdwd wlihwjwuwnpnipjub by W
ntnuiwl wpwgnipjwb Gpynt gnynipjul mhpnyypltpp YihGaa.

W < Wi L W>W2|

(1.11- 70)-ny wpywd wlhwjuwuwpnmpiniGGtpp hwiwwntin muotng (1. 11— 64)-ny mpJuo
wlhwjwuwnpnipyniGGtph htinm, dkGp YtpeGujwlwybu, wju bipunbtuyph hwdwp, junwGwlp ntnujui wpugnipjul
htnlyw) qnynipjul mhpnypGhpp.

1) tph 0<g< (%S)2 L s<0 wuyw 0< —%C <Wi < W, htnluwpwp 0<w< —%C
2) tph 0<g< (%S)2 L s>0 wyw Wi < Wa < —%C <0 htnlwpwn O<w< o

q) Gpp g < 0 wyuw (1.11- 63)-h tppnpn, wlhwjwuwpnpyniGp dkGp Jupnn Gp qpby htinlgwy Yhpy.

2 162_
O<(%+2—Sg> <—(2Sg)]2 9

<tyw t hwinqyby, np wyu Gpwnbyph hwiwp, wiywhe S gnpowygh GpwGhg, (1.11- 68)-nY mpjwo Wi wpiwwup

dhpw npujwi £ hul W2 wpdwwnp dhyn puguuwlu.
wy = _—19(%S+ /(%s)z—g>c >0
Wo = _—19(%5— /(%s)2 —g)c <0

UjuhlpG, hwiwdw)l (1.11-73)-h, w1 L w2 wpiwwmbbph dhol dhpw wbnh niGh htnbjw wnGympiniGp.

W <0< wg

Ltnlwpwp, hwiwdw)l (1.11- 62)-h L (1. 11— 74)-h, wyu tGpuntiwyph hwiwp (1. 11- 72)-ny wpuo
wihwjwuwpnipjuwl hwiwp W (qpujul) mbinuijuwl wpugqmpjul qnympjwl whpniypp YihGh.

W2 < 0<w<w

(1.11- 75)-ny wmpywd wlhwjuwuwpnipjniGp hwiwwntn motiny (1. 11- 64)-nd wmpywd wlhwjwuwpmpnGGtph
htin, dtlp YpeGuwlwlwwtu, wju kGpuntiyph hwdwn, Junwlwlp minuwiwl wpugnipjub htnlywy gnjnipjub
whpnyplpp.

1) tphk g<0 L s<0O wyw W2<0<W1<_LSC htubwpwp 0 < w < wg

2) tph g<0 L s>0 wuw Wz < 0 < wy htnbwpwp 0 < w < wy
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€  LPwgupdwly wpwqmipniGGaph qnymipjul mppngplbpn

Oquytiny (1.10- 19)-ny wmpjwd wnlsmpjniGhg, hGswtu Gub (pGngomy 1-27)-hg, dkGp JunwGuwlp htwmljuy

wlhwywuwpnipjnGGiph hwdwlwpgp, npp b whwp t nioklp.

w, >0
W2

P

—+ <1
gcz

Qwiwdwyl (1.11-77)-h, Qwjjuyuwl hwpwpbpuywlnipjul hwnniy mtumpjwl vt pugupdwly wpuwgqnipjwl
qnynipjwl wmhpniypp Juwugwo L dhwjl dwiwliwyjuunwpuwonipjul junmgywopn pinmpwqpnn g gnpowlgh Gpwlhg.

1) tph g<o0 wwyw O<w, <o
2) tph g>0 wwyw O<Wp<C%

Uju pwdlnud pGGunpydwo hhlq wnwGdGwhwwnniy nhwyptiph hwdwp mnuliwl wpugnipyniGGbph pninp hGuwpwynp

gnynipjwl mhpnyypltipp mpywo GG unnpl.

g\s I s<0 | s=0 |
g<o0 | O<w<w | 0<W<C,—% [
g=0 | O<W<—%C | O<w< o |
O<g<(%s)2 | O<w<—%c | O<w<w |
92(%3)2 | 0<W<—%C | O<w<o |

O<w<w

O<w< o
O<w<

O<w< o

Nputn W1 L W2 wpuwgqnipymGatpp mpguo GG (1.11- 68)-ny.

buly GnyjGuytu wju pwdind pGaGwpyyuo hhGq wnwldGwhwwmniy nhyptph hwdwp pwgupdwl wpwgnipyniGGhph

pninp hGwpwynp qnynipjwl mhpnyyplGtinp upjwo GG unnple.

g\s | s<0 | s=0 |
g<o0 | O<w, <o | O<w, <o |
g=0 |  O<w,<ow | qnyupyl sniGh |
g>0 [ 0<Wp<c\/% | 0<Wp<c\/% [

O<Wp<c\/%

Canqomd 1-32 - Apwnpmppul b wpdwlh wiG gromnp np, hwdwdwG (1. 11— 79)-ny mpjwé nbnuiwi
wugmipiniGGaph quymppul mppnyplanh, wyl qupbih E podwGly Gpm hhdGulwl dwoh hmlguy Gapng.

1) tpp
2) tpp

s>0 'S g=0

Jud

wujuw

s<0 g<o0 wyw

1

O<w< o

O<w<w,

[unby W, vwhidwluypl wpwqnipinilp plnpmGmd E Wy, —%c Lc }—g wndtplbphg nplk SGip:

Updlh wnwld Guwhunnmly Grky Gwl, np wmuqmipyul SEompul dwuhl wpnh phqhluwimd mppng pwnup (Gwulhlp
[nyufig wmuq Juwpng pupdyly pb ng) wmwewgly b dpugl n dhugl wyl yundwnny, op s wupquoqulynd pbnp
wpuwqmpjwl dwupl F funupp' mbnulpul wpwqmpyul ph pugupdwly wpuqnipjul:
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1.12 - JutwlwjuunwpuwowihG uuithnfumpmGGtph Lhpjuwjwugniudp
UnyniuwujhG {wjwuwpniiGph Stupny

Utilip Jupnn GGp dhwywth Gnjtiph hwdwp wpnmwoquo Lwjjuluwl hwpwpbpuwinipjul hwnniy wmtunpjwl
dLwthnfumpjul hwjwuwpnuiGhpp Gepyujwuglb) Gulk wnynuwluwjhG hwjwuwpnuiGhph mbupny: Fpu hwdwn dkGp
whtinp t oquuytilp (1.8- 15)-ny L (1.8—- 17)-ny npdwd hwytipuyhG whnpunupddwo {wjjuyub duwthnfunipjub
hwjwuwnpnmibtinhg, hGywybtu Gl hpwp GQuuniwdp hwpwpbpuywl Jwupddwl W9 qubynn tpynt mwnpptip hGipghwy
hwiwlyuwnpqtph (1.8- 25)-ny, (1.8- 26)-ny, (1.8—27)-ny L (1.8- 28)-ny mpyud <wjjulul dlhwthnfunipjub
hwjwuwpnuiGliphg, npubg dke ywhywlbny swhnquiwulnpynilp L dudwGwl - mupwomp)nil hippuwlmpjniGp:
Un Gyuunwh hwiwp Guju gptGp K L K ninhn W hwwunhp tpynt hGepghw) hwdwwpgbph dhol <wjjulwb
dLwthnfumpjwl hwjwuwpnuiGlipp uwhwlogwd Jupgny:

!
¢ wjhwlwl dlwhnfumpjul hujuwuwpnidlGepp Kt K vhuy G nighn plbpghwy hwdwlpupgbph dhol

Mnhn dLwthnfumpyniGGtp {wjununpd dlwthnfunipymGGtp
et =y<(V)(1+s%>(c_t’)+gy<(V)%? . c_t’:yi(V)(h-s%)(c_t’,)+gy<(V)%?' 1.12-1
R = (D L) + 7. (W) X = 7 (DE(eT) +7. (DX

!
¢  wjhwlwl dlwhnfumpjul hujuwuwpnidlGepp KoKk vhuy G hwlpughn hGEpghuwy hudwliupgbnph

ol
Minhn dLwhnfumpniGGhp Jwlwnupé dLwthnfunipyniGGtp
¢t = 7. (M)(cT) ~gr (V) LK ) ¢t = 7.(V) (C‘t'/) ~gr () XK 1.12:2
% = y&V)%(c‘f) +7.(V) (1+ s%)? X = yi(V)%(c‘t_,) +7.(Y) (1 + s%)‘)?’

!
&  wyhwlwl dhunpnfumpjul hwjuuwpndGhpp R hwlhwnhn L R nipfig plbpghwy hwdwluwpgbph

dhols
¢t = 1. (D () + .M (s+ 0T )% u T =7.(V) (C?,)/ r(s+o¥ )8 1.12-3
%= (L) - ro(D)R = n(V)%(c_t’ ) RACHES
&  Swjlwlwl dhunpnfumpul hwduwuwpmdGhpnp _K), nughny L K hwlwnhn hGEpghwy hwdwlwpgbnh
dhols
6t = r (D (1+sL )T M[s(1+5% ) -oT |8 1.12-4w
AU O RZOICE L
=1 (W) (14T )eE 1 (D[ (1+5E) -0 | 1124

= (DE(eT) -r()(1+sE )%
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Utilip dwdwlwjuunwpwonipjul dwdwluyh b mupwompjul wnwlgpuwpytpn jupnn blp Ghplujuglty vkl
ujniGwulh wnynuowlGbph ntupny htnlyw GQugqpnipjudp.

!
e K 1 K nighn hlbpghuwy hwdwlwpgbpnf

, -/ -
7ol " 7| o 1.12-5
X X
!
e K 1 Kk hwlpunhp hlbpghwy hwdwlpupgbpnod
. ! «—
Tl " Fo| o 1.12-6
X X
Qwiwduwyl (1.12- 1)-ny L (1.12- 2)-ny mpJwo {wjjulwl ninhn L hwunupd dluthnfunipjuG
hwywuwpnuiGph, hGsytu Gul (1.9- 31)-ng L (1.9- 32)-ny wmpwo pwlwdlbtph, ninpn L hwunupd dlwhnfunipjul
pwnwlniuh wnnuwlyGtipp dklp Jupnn GGp qptip htmlbyw) Gugpnipjudp.
- — - — -
vV ¥ v
2 1+s+ g~ 1 g+
C C C
E=7. (V) v =7 (V) v v
-< 1 < 1+ ST
< - - - - 1.12-7
vV 4 v
< 1+s+ g~ 1 g+
C C C
E=7 (V) Vi =7 (V) v v
-< 1 < 1+ ST
L L _ L _
buly, hwiwdwjl (1.8—-15)-ny L (1.8- 17)-ny mpywd hwybjwihG winpunupdyuwo Lwjjuywl dhwhnfunipjwb
hwjwuwpnuiGlph, dbwhnfunipjul pwnwlniuh wnynuuyp dklp Junpnn blp qptp htimbyw) Gaugpnipjudp.
~ 1l s
h = 1.12-8
0 -1
Oquiytiny (1.8-9)-ny L (1.8- 24)-ny mpjwd pwGwdltinhg, hGswtiu Gul (1.9-27)-ny L (1.9- 29)-ny mpJuo
ninhn L hwjwnhp hwpwpbpuywl wpuwgnipyniGGiph hwdwp <wjjuuwl ¥ qnpowlhgltnh pwnwynium pwGwaélbtphg,
htpw t hwdnqyty np (1. 12— 7)-nd npdwo {wjjuyub ninhn b hwuwnund dlwthnfumpiniGGiph punwyniuh
wnnuwlltpp pwjwpwpnd GG hbnlgw) wnGsnp niGGtphG.
<= < 2
-2 L g -[¢| -1 1.12:9
‘Liwlwwbu htpw E hwingyt) Gub np (1.12- 8)-ny mipjwo hwybjuwyhl winpunupdiwb <wujjuyud
dLwthnfunipjul punwyniuh wnjniuwyp ntGh htnbywg hwnynipniGGtpn.
~N-1  ~ N 2 ~
(h) —h Ywd np Gyt (h) -2 u ‘h‘ -1 1.12-10
Oquiytiny (1.12- 7)-ny npdwd hwpwpbipuyul qupddw {wjjuluwl wnnuuwyltphg b (1. 12— 8)-ny mipjwo
hwjtjuwyhl dluwthnfunipjul <wjjuyul wnynuwyhg, dtlp Jupnn tlp Juqut] hbmlyw wnnuwlwjhl
wnpwnunpyuGtpp, npnp GnyyGutu hwinhuwlnd GG pwnwlniuh wnynuuwyGbp.
~ _ —
- 1 s+g% 1+s% s(1+s%>—g% -
hE =y.(V) 3 =7.(V) 3 . = &h
< B B - - 1.12-11
o 1 s+g% 1+s% s(1+s%>—g% -
hE =y.(v) . =7.(V) 3 3 = &h
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~ 2 9
(1.12-11)-nd mpywo h, & L & Jwyjwlywl wnniuwyltph fuwep wpnwnpywGph npnghsGhpp Y1hGhG.

~2 ~
‘h& :‘hﬁ -1 1.12-12

o —
bGyytu Gwl h, § L & Jwjjuwlywl wnniuwyltph dhol gqnynipynil niGhb htnlyw) welsnipyniGGbpn.

g 2~
& =h&h
o e 1.12-13
& =hé&h

Ujdu oquytiny (1.12-5)-n] L (1.12- 6)-nY mipfwd dwdwlwy-nwpwonipjnil wnwlgpwpytnh wnjniuwlyGtphg,
hGywtiu Gul (1.12- 8)-ny wmpywd hwjtijwihG winpunupddwl {wjjuyul wnjniuwlhg, dtlp Yupnn tap (1.8- 15)-ny
npjwo hwytjwyhl winpugupdgwo <wjjulul dlwhnunipjul hwjwuwpndlpp qpbp wnnuwywihG
hwjwuwnpmiGtph mbupny htimbywy Yupw.

!

K' hGtpghw) hwiwjupgnd = 7

~—/ - o~

hf K hGbpghw hwiwjupgmd = 7 =hf
¢t | | 1s ct . ¢t | | 1 s ct 1.12-14
< 0 -1 ' X 0 -1 X

Liwlwwbu (1.8- 17)-nd mpdwo hwytpuwghG winpunupdqud {wjjuwywl duwthnfunipjuwl hwjwuwnpndGhpp dkGp
Jupnn LGp qpb wnyniuwluwhG hwjwuwpnudGiph ntupny hmbgwy Yhpy.

sl o~ o o~

K' hGbpghw hwiwyupgmd = 7 =hf K hGtpghw hwdwuwpgnd = 7 = ht
C_t,/ B 1 s C‘t_, . C—t) - 1 s c‘t— 1.12-15
5 0 -1 < X 0 -1 X

bul wjdd GnyyGuytiu oquuytiny (1.12—-5)-ny L (1.12- 6)-n mpjwo dudwluly-nwpwonipynti wnwlgpwpytnh
wnyniuwlGtphg, hGsybtu Gub (1.12- 7)-ng mpjuo {wjjuul wnynuwyltphg, dtlp Jupnn Gap (1.12- 1)-ny mpquo
ninhn L hwunupé {wjjuul dhwthnfunipjul hwjwuwpnuiGhpp gpbp wnyniuwuwjhG hwjwuwpndGhph wkupny
htinlyw Yupy.

- 2 I
Minhn dbwhnumpyniGbp = 7 = EF Qwywnupé dlwhnfumpymbGitn = T = ET
ot —7.(V) 1+5% g% ct ct () l+s% g% ct 1.12-16
?/ < _1 1 e e < _% 1 ?l

Liwlwytu (1.12- 2)-nd mpdwo ninhn L hwunupd <wjjuiut duwhnfunipjuwl hwjwuwnpnudGhpp dGGp Jupnn
tlp qpby wnynuwluwihG hwjwuwnpnudGhph ntupny htnlywy Yhpy.

! e — 2!
Nuhn dbwthnfunipyniGp = 7 = &7 Jwlwnwnpd dbwhnfunipymbGitp = 7 = &7
C‘t_, -y <v> 1 _g% C‘t_ L C‘t_ —y <v> 1 _g% C‘t_, 1.12-17
' =7 BARS /
% Y 1.s? || % % ¥ o1 || w

(1.12-16)-nJ L (1.12- 17)-ny mpjwo ninhn b hwjuwnupd {wjjuyub duwhnfumpiniGitnh wnnuuwyuhl
hwywuwpnuiGhph Gpyne Ynnubpp puqiuyunyting dwhuhg ﬁ wnyniuwlny L hpptnyg Guwb (1.12- 14)-ny L
(1.12- 15)-ny mpywd hwjtijwjhl winpunupdgwd dluthnfunipjul wnynuwlwjhl hwywuwnpnudGtpp, deap Junwlwlp
(1.12- 3)-ny L (1.12- 4)-ny wmpywd dLwthnjunipymGGtph wnynuuwuwjhG hwjwuwpmdGhpp.

v -(ne)? - (Re)F
— N\ o/ L A !
P = (h&)f = (h&)f

—‘)l

1.12-18

—‘)l
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1.13 - dbpowpwl Jud Udthnthnid

Utilip wwywgnighghlp, np «dwjjuul {wpwptpufuinpjul {wwnnty Stumpjnii»-p hwpniuwn b Gongp L ndgunp
pupGhih, pwnm piwyptipnd wnopjw YhGuwthnpdhG fuhum hwliwunn wluwywutijh qunuithwpGtpny: Utp wju ghppp dhw)G
sh pnhwlpwglnud dhGsh wydd inuo mbuwlwb wpnyniGpGhpp, w)p wnwlg npbt vwhiw Gwthwliwl, dwpnip
dwpbiiwmhulwl dnntgdwl dheongny, thnpdnid k th Gnp ghnnwlwb htinuppenid wwywhnynn puwpinipniG dngltyg
hwpwptpuyuwlmpjul hwnnty mbunipjul qunuthwpbbph muuwpwGdwl b by GwpwliwG hwpgtpnd, hGyutu Gul
ninntlynud £ swlwwwnh thwgjw) nupwnh wbunipjul unngiwl hwdwp:

CGptpgnnp Jupnn £ Gyuwnby, np dbp gppntd, dhwswth Shghuyul mwpwonipyjub dte, dwdwGwlp L
wnwpwonpjmbnp, pugupdwy wpuwgmpjul pununphsGipp b pnhwlpwwbe ponp pugupdwly hahyuwlwl
dtonipymGGtph pyuyhG L mwpwowwl pununphsGtipp hwlnhuwlnud GG Gpyswih pytp, huy tpwswth $hghiuywb
nwpwonipjul vk YytpnGyjwy dtonipymGatph pyujhG L mwpwowfwub pununphsGtipp jhwlnhuwlwl punwsut pytp
(quaternions):

Juwjuiul dwpwptpwlwinipjul {wwnniy Stumpjniip Jwpbdwwhynpbl wyGpwl Ynin kL juwwpjuy, np wjl sh
Jupnn (hGh) ufuwy: {Gnbwpwnp dtp Ynndhg unwgguo {wjjuyuwl dlwthnfunipjul hwjwuwpnidGhpp ny hwyG whwup k
thnfuwphGtG LoptiGgh dLwthnfunipjuwl hwjwuwpnuiGhphG, wy wdpnne wpnh $hghywl yhwmp £ Gnphg qnyh:

Npnyhtinl LnptGgh dbwthnfunipjul hwjwuwpmiGhpp hwinhuwGnd G6 shwjl <wjuyul hwpwptpulwlnipjub
hwunty mbunipjul dLwthnfunipjuG hwjwuwpnidGhph dh pwn Jwulwynp giypp, tpp S=0 L g = -1:

Uju pwdind withnth Jwpwnptilp dtp unwgwo Juplnp wpnynilGpGhpp:

1. <wyhwlhwl hwpwpbpulwGnipyul hunnntl mbunipjwl dlhnfunipywl hujuwowpndGapn:

& wybjuyghl whnnunupdywo <uylwlwl dLhunhnfunipywl hwdwuawnpndGhpn

! !
K U K hibtpghw hwswywngtph shel K U K htpghwy hwswywpgtph shel
¢t =ct +sX - ct =ct+s% 1.13-1
< = % =-X

!
& wylwlwi dhwhinfunpywt hujwuwpnuiGepp K & R mugpy pGlpghuwy huswlwpglph sl

Minhn dLbwthnfunipyniGGlp {wjununpd dbwthnfunipymGGtp
T 77/<<V>|:(1+S )t+91?] *?’<<v>[(1+3 )t +gl?] 1.13-2
L
X =y (W(R-7T) X = (DX -97)

!
¢ wjhwilwl dlwhnfunpjul huguwawpnidlGepnp KKk hwlughp hGbpghwy hwdwlupgbph dhgl

Minhn dLwthnfumpyniGGtp Lwlyunupéd dbwthnfunipyniGGtp
T -7 (D (T-03%) Ty (M)(T-05x) 1133
L
8 = r.(D[ (1+sT)x+77] K= 7 (D (145 )% 497 ]
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& (gjig L hwluwnghp hwpwpbpulwG wpuqnipym GGaph Jugp L quidife gnpowhglbph

wmnwhw pmmpni GGapn
( v
V=——Vv 7<(V)=ﬁ=A(VP)—%STP>O
l+s¢& l+sg+ g?
L < 1.13-4
v
v=-— Vv y<<V)=+2=A(VP)+%STP>O
l+s¢& 1+ s% + gZ—z
\
Jwjjuiwl hwpwpbpuyuinpjul hwnnly nbumpjul dbwhnfunipjul hwjuwuwpnudGtpp, hwdwaw)G
(1.10-29)-h L (1.10- 30)-h, vtlp wpmwhwjnbtghlp Gwl V, pugwpdwl hwpwptpwiwl wpugnipjudp:
!
&  wyhwlwl dlhunpnfumpjul hwjuuwpnmdGhpp R L R nipfny plbpghwy hwdwlwnpgliph dhol
Ninhn dLwthnfunipyniGGhp Jwlwnupé dlwthnfunipyniGGtp
-2/ Vo | v - Vo | Vo o
t :[A(vp)Jr%sT‘“}tJrgc—g t =[A(vp)—%sTp}t +gc—§Y 1 13.5
3 - |:A(vp)— 1% }?_vp‘t’ % - |:A(Vp) + %s%}y/ + 9,7
!
&  wyhwlwl dlhunpnfumpyul hwjuuwpmdGhpp R L R hwlunghp hlGbpghwy hwdwlwnpqbph diol
Ninhn dLwthnfunipyniGGLp Jwlwnupé dlwthnfunipyniGGtp
<! Vo e v - Vo e Voo
t =[A(vp —%ST‘“}t—gc—gY t =[A(vp)+%sTp}t +gc—§Y 1 13.6
5 - |:A(vp)+ 1% }nvp‘t‘ % - |:A(Vp) - %s%}y/ 9T
& Lwdnuw gnpowfhgn, hwdwdwyl (1.10— 21)-h, nibh htnljwy wpdbpnp
V2 v
A(V,) = [1-(9- %sz)c—g > %‘sc—g 1.13-7
¢  wjhwhwl hwpwpbpulwinippul humml mbunippul dhunhnfunipjul huduonwpnidGeph
wnwligpwpybnn pujupupmd GG (1.9 — 40)-ny wmpywo dhowluph hlnlyjuy dGumn G
wmnwhw mnipjuin
2 2
W= (c_t’,) + s(c_t’,)?' +gR% = (c?) g s(c_t’)Y +gR° = (c‘t_,) + s(c‘t_,)Y' +g%7% = (cT) g S(CT)Y +g%° >0/ 1.13-8

2. JdJwdwlwp, Gphuwpmpjul L qulqyuoh ininfunpniGGhpn

LnptGgh hwpwpbpwwlnipjul mbtunipjnilhg plunid £ np Yupnn GG mbtnh niGGwy shwyl pwpdynn dnnh
Juptwgnd, pwpdynn dwdwgnyygh dwiwlwyh nuinunnd L Qwpdynn dwpdGh quiqiuoh dhowgnid: Rwjyg {wjjuywG
hwpwptpwlwlnpjwl hwnnty mbtunipynilhg htmbnd £, np juugwo dwtwiwuwnwpwonipjub Junnigywopn
plintpwgpnn S L g gnpowyhgGtph dkonipyniGhg, pwpdynn dnnp Yupnn b b jupdwlwy b bpyupt: bul gwpdynn
dwiwgniygh mnuwiwl dwdwGwlp GnijGybu upnn b b quinunt] b wpuqulw;: G ppwwybu, pupdynn dwupiGh
quigquop Jupnn £ L wdtp b GJugbp: puw hwdwn dblp tpupnmpjul «qupdwiupy, dudwlwlh «qubnuntpy jud
quigquoh «wdtp wpnwhwymmpniGGtph thnfuwpbb oquugnponid tilip «hnthnfunipjniG» wpumwhwjmnipjnilp:
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& W wpmugmpjudp pupding dwidwgnijgnp, npp hwGouup Jhdwlhnid gquubgmd F to wmbnulwld
Juwdwlwlh mbngnipyn G, nighy L hwlunhp fGbpghuy hwdwlwnpgbpmd, hwdwdwyl (1.3 15)-h

(1.3-19)-a, (1.9-31)-h & (1.10- 20)-A, fniGblGw dwdwlwyh mbngnipyud hnljuy z]z'm]m[ump}mﬁﬁlipp

r

T = B(W)to = 7. (Wto = —0— —

—)2

1+sﬂ+g—

T= B@)to = 7. (Wto = fo

2
/1+s—+g—
N

W
= |:A(Wp) - %STp}to

|:A(Wp) + Svgp

—

i|to

& (gjg L hwlwnhp hGhpghuwy hwdwlupgbph mbuwllmiGhg, dhllngl pwpdyng dwdwgnggh

Juwdwlwh mlngmippuld dhohl wyligmyh <wjlwlwl pubwdln

-3(7-7) - (3% e

& W wpwgmpjunlp pwpding L hwqunp Jhdwlinid o GphwpmpiniG niGhgny dngp, nigpn L hwlwnhp
Jbbpghwy hwdwlwpgbpnid, hwdwduwyl (1.3-4)-h, (1.3-8)-a, (1.9-30)-4 L (1.10- 20)-p, jmbhbw

bplupnipyul htnnlywy thnginfunipini GGhpp

p
2
T= IO_, =1lo 1+sﬂ+gl= lo —
() M) - 4%
<
2
7o o :Io/1+s%+gw—2 = lo
7<<W> ¢ AW,) + & Svgp
.

&  [highy L hwlwnhp hGEpghuy hwdwlupgbph mbuwblnGhg, dhllnygl o GphwpmpmiG niGhgnn

owndyng dngh bplwpmppud dhohl wybigmyh <wylwlhwl pubwdln

—

Wy
1
S_
-3(-T) - =00
WP

¢ W wpuqmipyudp pupdyng L Mo hwlqunh quiliqyuo nililignn thnpd Gulpul dwulhyp, nighn L
hwlunghp hGbpghwy hwdwlwpgbpnd, hunfwdw)G dhp hwonpn wyfuwmmpul, fniGalGw quliquudh

hbwnlyuy hninfunipymGGapp

r

Mo

m=mW) =y, (W)mo =

p
1+sﬂ+g—

=m(W) = y.(W)mo = Mo =

l+sﬂ+g—

o
1 W
= = mo[A(wp)—is s i|

= mo|:A(Wp)+ 1Svgp i|

& (gjg L hwlwnhp hGhpghuy hwdwlupgbph mbuwGlmGhg, dhllngl pwpdyng hnpd Guilwl dwuGhlih

quiliquiop dpohl wybigmih <wjhwlwl pulGudln

am— & (- ) - (% w, )mo
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3. Stpuwlhwl L pugupdwly wpwqmipimiGGhph qguidwpdwl L hwldwl pubwdlbpn

& Shywlwl wpmuwqnipym GGhph guidwpdwl L hwGdwl pubudlbpn

N U+V+s@

W =

a W-V
1+s%+gg

®  LPwguwnpdwl wpwgmpimGGEph mwpwowlwl punugpfisGeph quudwph L mwppbpmpul pubudlbpn

W, = A(V) T, + A(Up)V

Uy = AW, — AW,)Vy

®  LPwguwpdwl wpugmpniGGEph pyughl b nwpuow il pununphsGhph dhel qnynpimi G nilkgng
Uluwyni G wnlsmpniln

()" + sttty + 9(@,)° = (W) + s, + g(,)° = (7)° + s, + 9(T,)? = (U9) + sUpH, + (10, )7 = 2

&  Shpwlwl L pugupdwly wpwqnipm GGaph dhol bnwo wnlsnipnGGEpnp

.
Wy =y (W - —— @, =y () - ——
/l+s%+g% 1+s%+g%
L
G W W N T
W W, W W,
() AWp) - 552 () AWp) + 55=¢-

Asymmetric Theory of R

Robert Nazaryah

Robert Nataryan and Hayk Nazaran Robert Nataryan and Hayk Nazaran Robert Nazaryan and Wy e Noaryan

Foundation Armenian Theory Foundation Armenian Theory
of Special Relativity of General Relativity
In One Physical Dimension In One Physical Dimension
By Pictures By Pictures (Kinematics)

Foundations
Armenian Special Theory
of Time - Space
in One Physical Dimension
With Pictures (Kinematics)

% % %
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Juwybtpjwo 1 - Lpwgnghs Uwpbdwmhyuiwl AwlGuwdlbp

(1.6-11)-hg, (1.6—13)-hg L (1.6— 15)-hg, juiwywywb V, U L W ninhn L hwuwnhp hwpwpbpuywi
wpwqmpnilGGph hwdwp dblp Junwbwlp htnbywy weGynipyniGGtpp Yayunnpuywb GQugpnipjudp.

1) 7<(V)(l+s—) = 74(U)y4(w)[(1+s—>(1+s%) —g%]

2) y<<ﬁ)(1+s%) = y<<V)y<<v"v)[(1+s%>(l+s%) —gm]
3) 7<<W)(l+s—) = y4(V)y4(U)[(1+s—>(l+s%) —gﬂ]

‘Liwlwwtu (1.6- 7)-hg, (1.6—9)-hg L (1.6— 17)-hg, GniyGuytiv juiwjwywG vV, U L W ninpn L hwwnhp
hwpwptpuuwl wpwgmpyniGGph hwdwp dtlp yunwlwlp htnlyw wnGsnpyniGGtpp Yahumnpuyul Gugpnipjudp.

c2

4) }’<<V>(1+S%) = }/4(U)y4<‘\fv)[(1+s%>(1+s%) —g%]

5) 7.(W)(1+s

) = 1@ @[ (145

2)(1058) %]

&) 7:(@)(1+58) = 7 Dy (@[ (1L ) (1+5F) o7 ]

<<l - l) -hu (41 - 2) -h hwjwuwpmdGhpp pwdwlting (1. 8- 32)-ny wpJwd hwiwywwnwuuwl hwjwuwpmdGiph
Ynw, dtlp Junwlwlp htnlyw wnGsnipjntGGtpp.

r

Stinh niGkG Gul htnlyw) wnGympniGGtpp.
-

o} W _ g Iw

1) 1+s%= (l+sc)l(_1;sz\‘/’(;"> 9 C\év
C2

v W _ g Iw

< 2 1+s%= (l+sc)l(_1;5z\\ll‘;v> ¢ C\év
C2

v 0\ _ VU

3) 1+s%= (l+SC)l(_1;Sﬂ:> s
L c

5 1+sv - (l+s%)(1+s%

=
1+sW aw

b el L MFSETOE
¢ g, 0w
l+ST+g?

a l+s—+gz

< 2) l+ST:—
1+s¥+g%

_ 1+s%+gE

3) 14sW - = "¢

¢ v, VU
l+ST+g?
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Oquuytiny (1.8-29)-ny, (1.8-30)-ny L (1.8- 31)-n] mpywod wpwqnipjniGltph dhol tinuwo wnGynipjniGGtphg,

utilip yunwlwlp htnlyw] wnlympniGGupn.
-

2 — 52
RO Gl ) Gk )
tSet0 7 = 2
¢ (1+s%+g%)

2 2
(1+s%+g%)<l+s@+g%)

(1+s¥ +g%)2

A i i
@ W’2 <1+ST+QCZ><1+ST+QCZ>
3) 1+ST+9?=

\ (%)

‘Liwlwwbu dhbp Yunwlwlp Gul htnlyw) wnGsnipniGGtpn.

~
A i

l+s& +9-5

1+s%+gg - ¢ "¢

2
< 2) 1+s%+g% =

vu
-0z
9 2
1+ sl + gv—
W C 2
1+s% +gg = (1+S%)—Vﬁc
gra
N
bGywtu Gwl vtlp Yunwlwlp htnlbyw] hwiwGdiwl wnGynpmniGGtpp.
g
2
1+ s1 + a
1rsl gl 7¢I
€ T vu
1-0e
3 2
1+ s1 + gn—
w C 2
1o gl (1453 ) C e
1-975
L c

(R1-5)-ny, (21-6)-ny L (X1-7)-n wpwd hwjwuwpnudGtphg dhlp YunwGwip htunljwy wolsnpymGp.

2
(1+s¥+g%)(l+s%+g%) = 1+s%+g%

Liwwytu (21-5)-n], (21-6)-n] b (1-7)-n npwd hujwuwpnuiGphg® Yunwwlp htnljuwy

wnlympnilp.

2
(1+s¥+g%)(l+s@+g%) = (1+s¥>(1+s%+g%

GQuuwlwlp Gl htmlyw) wnGsynpnilp.

2
(1+s%+g%)(l+s%+gg> = (1+s%>(1+s%+g%

bGywtu Gwl unwlwlp htnlyw] wnGynipyniGp.

(1+s%+g%)(l+s%+g%) = (1+s¥>(1+s%)<1+s%+g

Puqiwyuwunltny hpwp htinn (41 - 5) -h pnnp Gptip hwjwuwnpnuiGhpn, delp Junmwbwlp htnlyw) wolynipyniGp.
v, ) T, an)’ v )2 _ Vg3 q 0
(1+Sf+g? l+ST+g? 1—9? = l+ST+g? l+ST+g?
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bpwp htim puqiuyuwnytiny (1. 8- 32)-ny wpquo pnnp Ytg wnlsnipniGGtpp L oquytyny Gul (1.8- 24)-ny

upjwd wnlynipyniGhg, judwjwiul V, U L W ninhn L hwjwnhp hwpwpbpwwl wpugnipyniGGiph hwdwp dkGp
Juunwlwlp htnnlyw] wnlynipjniln.

(-0 ) (o) o ) o) oo )0 ) - (0T o))

bGyytu Gul Junwlwlp httmbyw) ptip wnGsnipyntGGtpp.
-

(o-s2)(-ot) - L2 N o)

1—9%
_g W (1 oI
| r)om)- (RN
R

(1% )(1-¢%0) - (1-og)(-o)

c? W
1-oe

‘Llwlwybu junwlwlp htnlywy tpbp wnlynipniGGLpp.

(o) o5 F)- (0% )(o-03F) - 1-5F

c? c? c?
(o)) (e o) 1o
(o)) (o)) o v

(1.8-15)-ny nmpJwo hwytijuyhG winpunupddwl {wjjuuwl dluthnfunipjul hwjwuwpnidGbpp dkGp Yunpnn tGp
qpt Gwb juiwjuui ¥(e,A) mnhn L hwwunhp Shghiuwyuwb dtonpjul hwdwp htnmlywy Yopy.

! !
K U K hibtpghw hwswywngtph shel K U K htpghwy hwswywpgtph shol
!
5 =9 T=B+A 41-16
! -/ = — —
A - R A--R

(1.8-25)-ny npJwo {wjyuul dLwthnfunipjwl hwjwuwpnuiGhpp dklp Jupnn GGp gpby Gub judwjwlwl
¥(p,A) Shghjulyub dtonipjul hwdwp, wpnmwhwjnmywo nbnuiwul hwpwptpuwl wpuwgnipjudp.

Minhn dLbwthnfunipyniGGhp Jwlyunupéd dbwthnfunipyniGGtp

7 @[ (1rs# )i odA] rO[(sE ) ¥R ]
R =7 )R- 9) (A - 47

>
®=
>
A=

buly (1.10- 29)-ny wmpywd {wyjulub duwthnfunipjwl hwjwuwnpniiGtpp dklp Jupnn GGp GniyyGubu gpbp
Jquiwjwlui ¥(e,A) dhghyuyul dhompjul hwiwp, wpnwhwjnywd pugupdwl hwpwpbpuul wpwgnipjudp.

Minhn dLwthnfumpyniGGtn {wjununpd dbwthnfunipymGGtp
/ v V, = v, / Vv, >/
7 - [ A 3s |0 e R 7= [ A~ 4o 7 -0 2R -1
=
! !
R = [A(vp)—%S%}K—%E’ A= [A(vp)+ SVC }K +%a’
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«Qujuiul Lwpwpbpwuinpjul UtpwGhjw»y-nid Juplnp nipuyumwpnipynt niGG hbnbgwy Gpyne
wpunwhwjmnipyniGGtpp, npnGp judwjuywl vV, U L W wpwgnipjniGGiph hwdwp mpjwo GG unnpl
\ u w
1+ 1s¢ 1+ 21s¢ 1+isT
L u lg L w
g¢ + 38 9T + 3

g¥ +1s
<<1 19) -ny mpwo tptip qnijq wpmwhwjjnnipyniGltph hwdwp dblp Jupnn tGp qptp yuplnp wnGsnipyniGGtip,

npnlp dtlp YGipyuwywugltlp unnpl wnwlg wywgnigiwl L Ygptlp npulg vh dwup wowlg Yytywmnph Gpwbh

Guwiwjwwl mnphn L hwwnhp W mtnuwiwl wpuwgnipjwl hwiwp wtinh nGEG htnbywp wnlynipyniGGtpp
=
W

~
1
1+1sW _ 1+as¢
2°C W
1+ST
<
1w
LW _ 1t 3St
W

l+?ST
l+ST

Viwlwwtu, K L K' hiipghw hwdwupgipmy judwjwiu wpugnipjunip pupdynn thnpédGuul dwuGhyh

wlGpuppwyhl ninhn L hwwnhp wpwgnipyniGGtph hwdwp mbinh niGh6 htinlyw) weGympyniGGhpp
w
c2

<1-19

<1-20

-
U 2
1+3s¢ (1
1+%S%(+ S >(+ =S+~ ) (g S)
1—gE\£V
c
) {1-21w
L5 (1+%s%>(1+%s%) © Al‘sz)c_ﬁzw
1+ 38¢ =
’ l—gm
N CZ
( =
LT (1+%S%>(1+%s%)_(g_%sz)c_\év
l+?ST: =
10
) {1-21p
1V 1 WYy 1 VW
1+isﬁ=(1Jr SC>(1+2 C) Q- 2592
25T =
10
N
-
Lw (1+%s¥>(1+%s%)_(g isz)%
1+7ST: —
e
) {1-21q
1Y 1.0 1.0\ VT
1+isﬂ:(1+230>(1+25c) CEERoN:
25C —
1-g-5
~ c
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bGywtu Gl mbinh mGkG htnbywy tptip wnGsnipjniGGtpp.

{

Lnmyylwtiu, K L K' hGbpghw hwiwupgbpmy juiwjwul wpugnipjudp pwpdynn thnpdGuiul dwuGhyph

@1+ 358 ) = v (@@ (1+ 5% )(1+

Nl e
w

(7] (7]

Nl Nl
w

st qst

st qst

N— N— N—
|
—~

|
—~

|
—
«Q
|

|
—
«Q
|

«
|
FNEUEEFN N

R

«
|
FNEUEEFN N
X

R

R

2l

g =l

wlGpuppwyhl ninhn L hwwnhp wpugnipyniGGtph hwdwp mbinh nGk6 htnlyw weGsnipyntGGhpp.

{
{

r

N

w
o2

(g% +35) - (o€ +4s)(o¥ + 45)-0@- 4
2 T t3S)=

1—9%

1o(0¥ +4s) - (o +35)(o¥ - %;)W -g(g- 4s) 00
1—g7

%S(g% + %s) - (g% ’ %S) (9% * %;Z— 9(g %sz)@
1—gc_\éV

%S(g% + %s) - (g% ’ %S) (9% " %;)W— 9@ %sz)c_V‘g‘v
1—g7

%S(g% + %s) - (g% ’ %S) (9% " %_2— 9g- %sz)c_ng
1—g7

V.1 9 o

1s(0% + 1s) - (0% +4s)(oF +45)-ai0- 4K
%S(gc+28) 1—9%

<
9§ +33) = 7 (Dr @[ (o8 +

(

[(s8+25)(
08 +35) =1 (r @[ (s + 35)(0F ¢
08 +35) =1 (Mr@|[ (¥ + 35)(0¥ ¢
0 +35) =1 (Dr(@[ (¥ + 35)(0 ¢
§r38) = @r@[ (o + 25) (o +
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YQuidwjwlwl ninpn L hwunhp W mbnuiwuwl wpugmpjuwl hwdwp mbnh niGhG htnmbyw) yuplnp

wnlynmpyniGGupn.

V<(W)(1+ Sﬂ) = V<<W)(l+ s—) AW,) > 0
r.(W) (gf + %s) +y.(W) (g% + %s) = 1y, (W) +7,(W) ] = sA(w,)

‘LnyyGybu judwjuyuwl nminhn L hwunhp W wpwgnipjuG hwdwn ntnh niGbG hbnbyw) weGynpyniGGtpn.

Minhn 2wpddwl hwdwp

Jwuwnhp wpddwl hwdwp

w W,
w AW+ S5 AW, ) — Lsor
1+s%7(p)—2_,>0 1+s%:—(p 22 C >0
AWy) - 15— vgp A(W,) + %s%
-
Jropspo o el - A
W, W,
Awy) - 1s—& AW,) + 35—~
W, W,
W . 1. o +5SAW) W .1 Jo—- — 3SAW,)
1
L A(Wp —?STP L A(Wp)+?STp

<tulyw) pwGwdlbpp Yhpwnynd 66 «<wyqwiwl <wpwpbpulwbnippuli UbpwGhlw - Uhwswgh Cwpdn qppmd®

Latipghwjh L pwthh ywhwywliwb nt dlwhnfunipjwub optilipGtinh uk9.
(¥ + 39" -S(W + 291+ 15 + g+ 15)° = (9-

2
(105t 02

(91 + 451 - Sg(L + 1))@ + 49+ g0 + 397 - g 1) (1+ s + g )

1+ 4sd) L (g¥ +1s) wpnwhwjnmpymGtph dLwthnfunipywl pwlwdbbpp.
rW@+2sd) = [r.A+ 5O ][r.wy @+ 1) ]+ (9- %Sz)n(V)h(W)c—Wz"

S W@+ 49 = [r.@¥ + 19 ][7.m)©@¥ + £9]- @ + Wy (s + oY)

1+ —S—) L (g« Vé’ + = S) wpunwhwjmnpyniGatph dlwhnfumpjul pwlwdalbpn.
7+ 35E) = [+ 35O )[r.WA+ $5§)] - @~ 3.y

157, W@Y + 49 = [r.n@¥ + 19 ][7.WEE + 19]- 00 Fr Wy Y

1+ 3sd) L (g¥ +1s) wpnwhwynmpymGGtph dLwthnfunipyui bl w)) puwGwal.

reu@+ sy =y w{{r.wa+ ¥ ]+ L[r.w@¥ + 9]}
7 @Y +19) = 7. {@+sH[r.W@Y + 19] - g¥[r. W@+ Ls¥)]}

1+ —S—) L (g« Vé’ + = S) wpunwhwjmnipjniGGtph dlwthnfunipyw vty wy pwGwdl.

rew@+3s¥) =y W{A+sH)[r.w@+ s8] - L[r.w@¥ + 191}
1 W@Y + 1) =y W{[r. @Y + 19 ]+ g¥[r. @+ 1]}

Je qnpowlhgp niGh htnlyw) wpdtpp.
9o = 9- ¢
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Quybpwo 2 - Guldwuwnp Gunuithwpwuny bhghynuGliph {wdwp

Utip hwonnn «<Swyhwlwl <wpupbpulwlmpul Ulipwlhiw - Uhwswih Cupdnndy qppmud dkGp unwgh) tlp
pwqnud Gnp qupiwlwhpw) pwGwalbip, npnlp Ghipjujwuglnid Glp wju hwybpwontd wnwlg wpnwdoiwl: Uhw)G
hhptigGtlp vtp pGptipgnnGtphG, np Gipyujwgynn pwGwdbbtph LoptilGgjuwl hwpwpbpuwlwbnipjuwl mbumpjwb
hwiwnpdtpGtpp (bpt wyn hwdwpdbpGtpp hhwpyt gnynipyniG mGEG) nmp Jupnn bp vnwluy dbp pwlGwdlbinhg, nnuig
dt9 S L g gqnpowlyhgltph hwdwn plgniGhny htnlbyw) wpdtpGtpp.

{3—01 22-1

1. Stpwlwl wpnwqugnif

Yuwiwjwlwb pwupdynn thnpdGulwl dwulGhyh mtnuiui wpuqugnuiGipp K L K' pGipghw) hwiwywpgbpnd,
hwdwaduw;jG (1.8~ 3)-h L (1.8~ 4)-h, dklip uwhdiwbb thGp htunlyuy Yhpy.

K ninhn L hwwnhp hGipghw hwiwlwpgbpnud K’ nminhn L hwlwnhp hGipghw) hwiwluwpgbpnud
2 !
Ninhn wpwqugnid - dq= @_) = L_?z NMinhn wpwqugnid - b= % = d}z 9.0
2 !
{wlwnhp wpuwgqugnmy - a= ﬂ‘_ = dTYz Jwliwnhp wpwqugmd  — b= ﬂ, = LY,Z
dt  dt dt  df

Oquugnpotiny mtnuyui wpuwqugiwl Yipnhhjw) vwhdiwlnuip dklp Ghplujyuglind blp dtq npn) pwlGwdlbp:

&  UpllnyG hGkpghwy hwdwlwnpgbpnid hnpd Gulwl dwulGhlh mghn L hwlughp mbnulwlG
wpuquignidGbph dhol bnwo <wylwlpul wnlsmpimGGEpnp (wmughl pulwdl)

K nunhn b hwhwghp hGbpghw hwdwluwpgbph dhol K’ mnhn L hwywnhp hGipghw) hwiwlwpgliph dhol
-
a- —#a’ = —ﬁ b
(1+ST> (1+ST> $2-3
=
q-—— 1 g [

(1+s%>3 (1+s%)3

& Unlbnygl hGEpghuy hwdwlwpgbpnid thnpd Gulpul dwulhlih nighy L hwlughp mbnulod
wpwqugnidGhph dpol bnwo <wyjhwlwl wnlsnpimGGepn (Bphpopn pwGuwdl)

K ninhn L hwywnhp hGipghw) hwiwwpgbph dhol K" ninhn W hwwnhp hGipghw) hwiwuwpgtiph shol
L2-4
N
HOLERHOL = HOLERHOL!
¢ Ppwp Ghunndwdp hwmupbpulpud pupddwl 0y qubyng Gplym unuppln hGEpghwy hwdwlwpgbpnnf
hnpd Gl dwulhih mbpuwlpul wpwquigndGhph dhol bnwo <wylwlwl wnlsmpimGGhpn
UwuGhyh ninhn wpdiwb niwpnid UwuGhyh hwljunhp pupdiwl nhypnid
= L ) b 4= L 75 \°
(V) (1— 97) (™) (1_ g?) 25
=
v Ty b EBETAY
yf(V)(1+sT+gc—‘£"> yi(V)(l+sT+g?)
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€ hpwp Ghunndwdp hwpwpbpuwlwl pupddwl gk qunbyng bplim uvuuppbp hplhpghwy hwdwlwpgbpnid
hnpd Gwilw G dwuGhih mbnuwlwl wmuqugmdGbph dhel bnwo <w hwlwl SGuym G welsmpinGGhpn

(inhn hGtpghw) hwdwlwpgbph dhol {wywnhp hGbpghw) hwidwywpgbph dhol
HOLEHOL = HOEEHOL

Uwhdwlmd 1-7 - Cwpdyng ihnpd Gulwl Swubhlh hwdwp gnimpyniG niGa6 dh pupp japuhunmntly phghlpulwi

dbompiniGGEp " wpmwquigmd L md, npnlg pugwpdwl dkompymGGEpp dlnid BG hwomunnm popnp hlbpghuy
hwdwlwpgbpmd (mighny L hwlwghp): bdwlungbe guynipym G niGh dh jopuhunnmly quilqywd, npp GnyjlGubu dGnid F
hwumunnm G poynp hlGhpghuy hwdwlupgbpnid (mighn L hwlwnhp): Qo puplud phghlpulul dbonpimGGapn
jwyigniylu b6 plmpwopnid judwjwlul hnpd Gulwl dwulGhlh pwpdnidp mduwghl nupmmy: <bmbwpwnp poponp g
Quplnp phghlwlwl dGompniGGbpp dblp whjwlimd blp <wylwlhwl SGompmiGGap L vnuppbpulnid bGp gpuulp
wnnphl «<» gnighsny: Uhw wyn <wjlpwlul phghliulpul dbonpim GGEph wwhdwlnidp:

&  Jwjhwhwl wpuwqugdwl vwhdwindp K L K mghg L hwlpunghp pGepghwy hwdwlpupgbpnid

34 = yi(W)ﬁ = yi(ﬁ)g = Qwunwuntl (nfjuy Qupddwb hwdwp)

a. = —yﬁ(‘v‘v)‘ﬁ = —yf(ﬁ)g = QwumnwwnniG (ngjwy wpddw hwdwn)

¢ Swyhwhwl wpwqugnidp ponp hGhpghwy hwdwlwpgbpnd pujwpwpmd b hbmlywy wuydwGGephlG

5, - -1,
8] = [3] = a

&  Jwlqunh Jhawlmd qubyng <wyhwlwl qulbqyuoh vwhidwbnidp

[my = ~@- +)mo 5 0]

&  wyhwlwl mdh vwhdwlmdp mghy L hwlipunhn hfGepghwy hwdwlwpgbph hwdwp

N
f< mw:c{< = Qwunwunil (uyjwy pwpddwl hudwp)
-
f

e = mw"é_l< = QwunwuniG (nyjuwy pwpddwl hudwp)

2. Pwgupdwly wpwqugnilf

Yuiwjwlwi pwpdynn thnpdGuyul dwulhyh pugupdul wpuqugnuiGipp K W K mnhn U hwlwunghp hGepghwg
hwiwlyuwnpgbtpnd, hwiwdwyG (1.10- 9)-h L (1.10- 10)-h, dtlp vwhiwbh) thGp htwmlywy Yhpy.

K ninhn L hwwnhp hGipghw) hwiwlwpgbpnid K" nminhn L hwywnhp hGipghw) hwiwjuwpgtipnd
_aw, o @» 7o_dd, g%
Ninhn wpwgqugnd - ES & T &2 Ninhn wpwqugnid - b, = & @
=
dw, _ d2x di, _ g2’
— 9. = P — = |-
{wjunhp wpwgqugnid ap ar P Jwlunhp wpuwgqugnid Bp ar e

79 - 88

{2-6

L2-7

{2-8

{2-9

<{2-10

{2-11



© - Qwjjuwlwl dwpwpbpwlwinipjul Stunipjnil - ©

Oquugnpotiny pwgupdwl wpuqugiwb Yytpnhhp jup vwhdwlnuip dblp Gipyujwuglnud tlp dtiq npn) pwGwdalbn:

¢  LPwgwpdwl wpwqugdwl punqunpfsGepp nighn hGepghwy hwdwlwpgbpmyd (wnwehl puGudl)

K ninhn hGipghw; hwdwlwpgnid
3 - :—y<<w>(gw+ s)

dW s
a, = d—f"‘ = y‘j(w)(h— %s%)ﬁ

—

R, ninhn hGpghw; hwdwlwpgnid
-0

b, = -r3(M) (g ctI )
= y<<ﬁ)(l+ sﬁ)b

¢  LPwgwpdwl wpwqugdwl punqunpfsGepp nighn hGepghwy hwdwliwpgbpmd (Gphpnpyg pwlwdl)

K ninhn hGipghw hwmiwjwnpgnid

ES s
=¥@a=--7
y4(w)(gw+ s) ) )
=
S 3(W
——=7}(W)a=13a
y4(v"v)(l+%s%) 4( ) 2

!
K ninhn hGipghw hwiwjwnpgnid

—0

by 3 e
~ 3B --37
r@(ededs) 4
3 -
b, _ .3 B
=y (ﬁ)b -a
r@(1e3s) ‘

N

¢  LPwgwpdwl wpuwqugdwl pungunpfisGepp hwlpughp hGepghwy hwdwlwpgbpmy (wirnwehl puGuwdl,)

K hwlwnhp hGbpghwy hwdwywpgnud

a0 = dWO 7—y<(‘vT/)(gc +1 s)‘é

= yi(W) (1+ —sﬂ)é

<~

‘5p:

!
K hwlwnhp hpghwy hwiwywpgnid

B dﬁ *_Vzoj)(gc _)
4<U)(1+ SE)B

b, =

¢  LPwgwpdwl wpwqugdwl pungunpfsGepp hwlunhp hGepghwy hwdwlwpgbpmd (Epipnpn pubuwdl)

K hwlwnhp hGtpghwy hwswywpgntd

i
=riWa--
r@(o¥ds)
<~
a
- y3(W)a - 8§,
r@(isg)

!
K hwlwnhp hpghwy hwiwywpgnid

r

EO
; - ()b -
e @
<
b, )
7<<U>(1+ %S%) ?’<<U>B 5

N

& Swhwnhp L mpjhn pugupdwl wpwquighwl pyuhl b mmwpwowlwl puqunpfisGeph <wjluwlwli

wnlisnipniln

K hGtpghw) hwiwlwpgnid

{a§:a§+sap

G =-2

&  hunwppphp <wjhwliwl pubudl

K ninhn L hwlwnhp hGipghw) hwiwwpgbpnid

K’ hGtpghw) hwiwluwpgnud

0 0
b, = B, +sb,

—

b, = -b,

K' ninpn b hwywnhp hGipghwy hwdwlyuwpgbpntd

@, = Awy)a,
= AW,)a,

80 - 88

by = AU,
Bp = A(Up )54

{2-12

{2-13

{2-14

{2-15

{2-16

L2-17



© - Uhwyswth Gnjtiph {wpwptpuuwl Cwpdiwb Stunipjnii - ©

¢ LPwgupdwl wpwquigdwl pyuyhl pununphsGhph L vnupuowlwd punugpisGeph <wyhuwlwl jugp

K ninhn L hwliwnhp hGipghw) hwiwwpgbpnid K' ninpn b hwywnhp hGpghwy hwdwyupgbpntd

o (9-75)—¢ LY > SAW) 20 Q- %52)% + 5SAU)
ap = ap bp = bp
A(wp) Aup) 22-18
=
2 2y Up
w03 dsw 50 @-3)F - AWy
: AW,) P ’ Aup) b
¢  LPuwguwpdwl wpuwqugiwl pyuyhl L vwpuowlpul punungppsGhph nighny L hwlwnupd <wjlwlul
dlunpinfumpyul hwjuwuwpnidGipp K' L K mghn pGhpghuy hwdwlwpgbph dhol
Minhn dLwhnfumpniGGhp Juwjuwnunpd dlwhnfumpnGGtp
0
B [A(vp)+ sv—}a’ +gv - 32=[A(vp —;svc }b —ng Bp
{2-19
=
0
B, - [A(Vp) - %S% }‘a’p - %32 3, = [A(vp) +1 sv—}b + %B’p
¢ LPwgupdwl wpwquigdwl pyuyhl L mwmuowlwl pununnphsGeph nigin b hwlwnupd <wyhwlwl
dlunpnfunipjwl hwjuuwpnidGepp K L K hwlwghp fGepghwy hwdwlupgbph dhol
Mnhn dLwthnfumpyniGGtn Jwlyunupéd dbwthnfunipyniGGbp
0 v o v
B |:A(vp) +is & i|‘50 +9—29; ‘52 = |:A(vp) -is & i|Bp - gTPBp
<{2-20
=
A V \7 Vp 0
b, - [A(Vp - 35 }5 &% Q= [A(vp) + 35 }Bp + b,
®  LPwguwpdwl wpuwquglwl punugpfsGhpp puduwpupmd 66 hinlywy <wjhwlwd welsnipnGGEphla
2 —> 0 2
(@) + 203, +9(3)" - - 32 @° = (B;) +5B,8, +9(B,) - @- 18 (W)B - @- 3
, L2-21
2 o 2 2 2
(8)" +says, +9(8)° - @- 4r2(@)a’ - (B,) +5b,B, +9(B,) = (@~ 33 (W)B - - 4%
3. Uquun dwulhih <uyliulpul gnpongmp il hGmbopuyp L LuwqmuuGdhwl pniGhghwl
bGywtu ghntp <ujjulul Stunipjul dhe wpnwoywd pninp Juplnp dkompyniGGpp dtlp wljwlnd tip
«uwjuyu» b Gonud unnphG «&» gnighyny, npwbugh dtp mwpptpuyblp ngpulip wjwlnuwl hwdwywwwuuwb
dtonpjmGGtphg:
* R U _K’, mnhn hGkpghwy hwdwlwpgbpmd <wylwlwl gnpongmipjuwl hinbepuyn L Luwqmubdhwln
R ninhn hGipghw) hwiwlwnpgnid _K), nihn hGipghw) hwiwlwnpgnid
T2 T,
B = —moc? W, oW g7 2 e [ hasd +ql
G, = —-moC ;f 1+sC+gCz dt G; = —-moC I 1+ST+g—dt 2.2
ta = Tl

N — —2 / 2
;€<=—m002 1+s%+g% z<=_m002/l+sﬁ +gU_
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!
e Ku K hwlwghp hGEpghuy hwdwlwpgbpnid <wylwlwl gnponpmipjwl hlmbgnuyn L

Lwgnulidhuln

‘}Z hwlwnhp hGipghw hwiwjwpgnud

-

ts
2
B, = —moc? I 1+s%+g%d‘t_

T <~

(—2
:‘_64 = —moc? /1+sw +g—

!
‘}Z hwlwnhnp hGpghw; hwiwwpgnid

g, .0 ¢
oz dt 223

/ 2
:‘_64 = —MoC? /1+sE +g%

&  Jwylwlwl gnponpmipyul hmbemuyh dbompyniln poynp nighy L hwlpunhn hGepghuwy
hwdwlwpgbpnd wwhwpwGynid F L hinlaupwp dbGp wyl §0wGulblp wmulg Jalpinnph wlh «6»

mwnwlywling

- -/ — !
G, =G, =6,=b,=b,

{2-24

& UnldnyG hlGbpghwy hwdwlwpgbpnd mghny L hwlwnhp Lwgmuldhwl pnidyghwGbph <wjwlwl

yuyp
K nminhn L hwwnhp hGipghw) hwiwlwpgbpnud
L, (W
2,y - =0
1+ s—

L, <W> - m

.
W
1+sc

K" minhn L hwwnhp hGipghw hwiwwpgbpnud

_ i(tf)

£ - 1+S— $2-25
_ <<ﬁ>

<<ﬁ> 1+s—
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